3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

Standardised centrifugal electric pumps built in stainless steel AISI 304
(8 SERIES) and AISI 316 (3L SERIES).

APPLICATIONS

e Water supply to civil, agricultural and industrial plants
e Pressure boosting

e Fire-fighting, heating and air conditioning systems

e Pumping industrial liquids

® |rrigation

® Refrigeration towers

® Swimming pools

* Emptying

¢ Washing plants

TECHNICAL DETAILS
¢ Highly resistant structure
* Hydroforming process EBARA patent

PUMP TECHNICAL DATA

* Maximum working pressure: 10 bar

e Temperature of the liquid:

-10°C = +90°C

-10°C + +110°C (L-H-HS-HW-HSW versions)

-20°C + +120°C (E-ES versions)

MEI > 0.4

For further information please see our Data Book on the web site
www.ebaraeurope.com

MOTOR TECHNICAL DATA
e High efficiency motors
IE2 starting from 0.75kW up to 5.5kW
IE3 starting from 7.5kW for 3M(L)(4)
e Self-ventilated 2 and 4 poles asynchronous motor

Available in 4 versions with 2 and 4 pole motors * Class of insulation F (B for high temperatures)
e |P 55 protection degree
T _ e 230V £10% 50Hz single phase voltage,
-~ 3M , 230/400V +10% (up 4 KW included) three phase voltage, 50 Hz,
A 3LM Monobloc with extended motor shaft 400/690V +10% (from 5.5 kW and above) three phase voltage, 50 Hz
_ _ ® Protection is user’s responsibility
MATERIALS
Monobloc with standard motor ¢ Pump casing and casing cover in:
and rigid joint - AISI 304 for 3 SERIES  32-125/160/200
40-125/160/200
50-125/160/200
65-125/160/200
% 3P | on pase, with standard - AISI 316L for 3L SERIES 32-125/160/200
| — .1 3P { motor and flexible coupling 40-125/160/200
L 50-125/160/200

65-125/160/200

- AISI 316 microcasted for 3L SERIES 65-250
3PF | 80-160/200/250
Pump with bare shaft e Impeller in:
—3 3LPF - AISI 304 for 3SERIES  32-125/160/200
¢ 40-125/160/200

50-125/160/200
- AISI 316L for 3L SERIES 32-125/160/200
40-125/160/200

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.

SPECIAL VERSIONS 50-125/160/200
e 3Z SERIES: electropump inclusive of rotary bracket and body without - AISI 316 microcasted for 3 SERIES  65-125/160/200
supporting foot. 3L SERIES 65-125/160/200
65-250
ACCESSORIES (On request) 80-160/200/250
e Counter-flanges available in the following materials: * Mechanical seal standard in:
- galvanised - Carbon/Ceramic/NBR for 3 SERIES
- AISI 304 - Silicon Carbide/Silicon Carbide/FKM for 3L SERIES
- AISI 316 - special mechanical seals available on request, see p. 92 for

3-3L SERIES 2 poles, p.130 for 3-3L SERIES 4 poles

Japanese Technology since 1912 47 Commercial



‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

IDENTIFICATION CODE - 2 Poles

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

[3sERIES | [ L |[[M ][ Z [ F ][ H][e65]-[160]7/[22]]M]

SINGLE PHASE

Mortor power IN KW

125

160

IMPELLER DIAMETER
32
40
DISCHARGE SIZE 50
65
80

OPTIONAL VERSION

200

250

H

HS

HW

HSW

E

HYDRAULIC PART

CASING WITHOUT SUPPORTING FOOT (3LM anp 3LS 32, 40, 50, 65-125/160/200 onwy)

M
MobEL S
P

AlS| 316 VErsion

PuMP NAME

IDENTIFICATION CODE - 4 Poles

[8sERES | [ L |[ M [ F |[ 4 |[H |[e65]-[160]/[22][M][R]

REDUCED IMPELLER

ES

Q1AEGG

VAEGG

U3U3EGG

Q1U3EGG

U3CEGG

SINGLE PHASE

Mortor Power IN kKW

125
IMPELLER DIAMETER 160

200

250

32

40
DISCHARGE SIZE 50

65

80 H

HS
HW
OPTIONAL VERSION HOW
E
; ES
4-PoLe MoTor ARG
VAEGG

HYDRAULIC PART U3U3EGG

Vi QIU3EGG
MobEL S U3CEGG

P

AIS| 316 VERsion

PUMP NAME

Japanese Technology since 1912

Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE RANGE 3(L) SERIES at 2900 min"' (according to ISO 9906 Attachment A) 2 Poles

U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

I
Imp.g.p.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

M = Models also available in H-HS-HW-HSW-E version
@ = Models also available in H-HW-HSW-E version

A = Models also available in H-HW-HSW-ES version
4 = Models available only in standard version

120
— 350
100
LT 300
65~250/37 [T 2
8 = N [N /‘5«5 250
i 65~250/50 7T AU H
[m] —— T e A N N2 (]
[ . L [N I /]5 6‘5\\\"
i L ] 7 0 [N
"200/4.0 [ T 2N 2007 T 50;}“! 0N D N 150
o HHLLLT| | ST TN TSN
32-200/3 [N =" U N 275N OOEEEEEAN
L. .0 N = Ty /‘9 \ N 2 <*::,00
_ \‘200/ ) mmm f D=
32‘760 Vi < ‘55 S N / QQ\V* 2
30 /22 0 N S as A SC) 2 JoH-100
i 760,34 Ny SN 7, 2NN
e 4 FONE } /75’7}’%//* - ‘7;\1 ‘5’0/‘ ]
32‘760 /7‘ 5 i N 6'0/“\ NI o {9
L SSuy N / N a5 NG5 \0\ t‘f AV 75
I D> i A, G TN TSNS
20 e L[/ 5% / ‘T“ 6'0/ i M/)J\\ w%\//&\
2125/ TR ( "0\,9 7X SN NV R\eRv:
S s 22X NI R N N
15 N N NN 7N SN BN S\ \ 50
NSO N N N N =Y T SN\ Y
‘( \\; N \\ \\ ‘/J\J‘ it )
7N N \ AN Y/
2 N S — 40
ENEVIENSA AL\ NEAY
/ P
10 N2 /
9 > 2 - 30
8 —25
7
6 — 20
5
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000 ,
Q [I/min] £
T T 11 1 T T 1 1 1 1 1 1 1 1 1 1 s
6 7 8 910 12 14 16 18 20 25 30 40 50 60 70 100 150 200 300 £
Q [m /h] £
Versions 3M 3S 3P 3LM 3LMZ 3LS 3LSZ 3LP §
32-125 u u u L] . [ * [ g
32-160 [ O u [] . [ . [ g
32-200 [] u u ] * n * [] g
40-125 L ] ] [] . ] . [ 3
40-160 u [ [ u + [ . ] g
40-200 u [ ] [ ] u * ] . u “;;
50-125 [ [] [] (] + (] ¢+ ] <
Pump 50-160 [ ] (] [ . [ . [ &
50-200 u [ [ ] + [ * ] g
65-125 [ (] (] [] . [ . ] 2
65-160 [ (] (] [ . (] * [ $
65-200 | [] u [] O [ . [ 8
65-250 - - - - - ° - ° 5
80-160 - - - D - ° - ° E
80-200 - - - - - ° - ° £
80-250 - - - - - A - A 3

Japanese Technology since 1912 49 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

‘901j0u Joud Jnouym 1usjuoo ay) abuey o) 1ybu su) sanesal yd'g edoung sdwind Yyvg3 AojepuBWw PaJBpISUOD 84 J0U PNOLS

(EX DIN 24255)
PERFORMANCE CHART 32-40-50 2 Poles
Model P: Q = Flow Rate
I/min  100| 150 200 300 333 360 400 450 500 600 700 800 | 1000 | 1200
[HP] | [kW] |m*h 6] 9 12 18 20 22 24 27 30 36 42 48 60 72
H=Head [m]
3() SERIES 32-125/1.AM) | 1.5 1.1 210/ 199 | 184 | 141 12.0 - -
3(.) SERIES 32-160/1.5(M) 2 15 280 265 | 245 | 192 | 170
3() SERIES 32-160/2.2(M) 3 2.2 355] 340 | 320 | 27.0 | 250
3(.) SERIES 32-200/3.0 4 3 420] 40.0 | 375 | 31.0 | 280 -
3(.) SERIES 32-200/4.0 5. 4 535] 52.0 | 495 | 435 | 405 | 380
3(.) SERIES 32-200/5.5 7. 55 69.0] 675 | 650 | 585 - - - -
3(.) SERIES 32-200/7.5 1 7.5 69.0] 675 | 65.0 | 585 | 555 | 530 | 49.0 | 440 - - -
3(.) SERIES 40-125/1.5(M) 2 1.5 - - 19.0 | 176 | 170 | 165 | 157 | 145 | 132 | 103 7.0
3() SERIES 40-125/2.2(M) 3 2.2 2565 | 240 | 235 | 23.0 | 22,0 | 210 | 195 | 164 | 13.0
3(.) SERIES 40-160/3.0 4 3 205 | 275 | 270 | 265 | 255 | 240 | 225 | 200 | 17.0 -
3(.) SERIES 40-160/4.0 55 4 385 | 37.0 | 360 | 355 | 345 | 330 | 320 | 290 | 255 -
3(.) SERIES 40-200/5.5 75 55 455 | 440 | 430 | 425 | 410 | 395 | 380 | 350 | 31.0 -
3(.) SERIES 40-200/7.5 10 7.5 57,0 | 555 | B50 | 545 | 535 | 525 | 51.0 | 475 | 440 -
3() SERIES 40-200/11 15 11 710 | 700 | 70.0 | 69.5 | 685 | 675 | 66.0 | 63.0 | 59.0 - -
3(.) SERIES 50-125/2.2(M) 3 2.2 - - - - 175 | 170 | 163 | 149 | 134 | 117 8.0 -
3(.) SERIES 50-125/3.0 4 3 205 | 200 | 196 | 184 | 17.0 | 154 | 118 8.0
3(.) SERIES 50-125/4.0 55 4 260 | 265 | 250 | 240 | 225 | 215 | 179 | 140
3(.) SERIES 50-160/5.5 75 55 310 | 305 | 300 | 285 | 27.0 | 255 | 220 | 180
3(.) SERIES 50-160/7.5 10 7.5 385 | 380 | 375 | 360 | 350 | 335 | 300 | 26.0
3(.) SERIES 50-200/9.2 12.5 9.2 - - 500 | 490 | 475 | 455 | 405 | 34.0
3(.) SERIES 50-200/11 15 11 56.0 | 55.0 | 54.0 | 52.0 | 48.0 | 420
3(.) SERIES 50-200/15 20 15 700 | 69.0 | 68.0 | 66.0 | 620 | 57.0
(M) Single phase version only for 3M SERIES
PERFORMANCE CHART 65-80 2 Poles
Model Q = Flow Rate
I/min_600] 700 | 900 | 1300 | 1500 | 1700 | 1900 | 2100 | 2200 | 2300 | 2400 | 2500 | 3000 | 3400 | 3600 | 3800 | 4000
[HP] | [kKW] |m¥%h 36| 42 54 78 90 | 102 | 114 12|§3 " 1 32[ 138 | 144 | 150 | 180 | 204 | 216 | 228 | 240
=Head [m
3(.) SERIES 65-125/4.0] 5.5 4 19.8] 190 | 173 [ 133 | 11.0 | 86 | 6.3 - -
3() SERIES 65-125/5.5] 7.5 | 5.5 - 240 | 22.2 | 180 | 167 | 133 | 108 | 8.0 -
3(.) SERIES 65-125/7.5] 10 75 -| 295 | 278 | 235 | 21.1 | 187 | 16.1 | 134 | 12.0
3(.) SERIES 65-160/7.5] 10 7.5 -1 30.0 | 286 | 248 | 225 | 199 | 171 | 142 -
3(.) SERIES 65-160/9.2| 125 | 9.2 - 345 1328 | 288 | 265 | 239 | 21.1 | 183 | 16.8 -
3(.) SERIES 65-160/11 | 15 11 - 385 | 37.1 | 331 | 309 | 284 | 258 | 23.0 | 21.5 | 20.0
3(.) SERIES 65-160/15 | 20 15 -| 455 | 44.0 | 40.0 | 37.8 | 353 | 326 | 29.6 | 280 | 26.5
3(.) SERIES 65-200/15 | 20 15 - 51.0 | 49.0 | 44.0 | 415 | 384 | 353 | 31.8 | 30.0 -
3() SERIES 65-200/18.5 | 25 | 185 - 585 | 56.5 | 51.5 | 49.0 | 46.0 | 43.0 | 39.7 | 38.0 | 36.3
3(.) SERIES 65-200/22 | 30 22 - 655 | 64.0 | 59.5 | 57.0 | 54.0 | 51.0 | 48.0 | 46.5 | 45.0 -
3() SERIES 65-250/30 | 40 30 - 770 | 735 | 710 | 68.0 | 64.5 | 60.0 | 57.5 | 55.0 | 52.0 -
3() SERIES 65-250/37 | 50 37 88.0 | 855 | 83.0 | 80.5 | 77.5 | 740 | 72.0 | 70.0 | 67.5 | 65.0 - -
3() SERIES 80-160/11 | 15 11 - 213 | 264 | 254 | 242 | 230 | 224 | 218 | 211 | 204 | 164 | 125 - -
3(.) SERIES 80-160/15R 20 15 305 | 297 | 288 | 27.7 | 265 | 2569 | 2563 | 246 | 24.0 | 201 | 165 | 145 -
3(.) SERIES 80-160/15 | 20 15 340 | 333 | 325 | 315 | 305 | 300 | 294 | 28.8 | 281 | 244 | 21.0 | 191 | 17.0 -
3() SERIES 80-160/18.5 | 25 | 18,5 39.0 | 384 | 37.6 | 36.7 | 357 | 352 | 347 | 341 | 335 | 30.0 | 264 | 244 | 22.3 | 20.0
3(.) SERIES 80-200/22 | 30 22 48.0 | 470 | 455 | 445 | 430 | 42.0 | 41.0 | 40.0 | 39.0 | 33.2 | 27.8 | 25.0 - -
3() SERIES 80-200/30 | 40 30 585 | 580 | 57.0 | 56.0 | 545 | 54.0 | 53.0 | 52.0 | 51.0 | 465 | 415 | 39.0 | 36.1 | 33.0
3(.) SERIES 80-200/37 | 50 37 64.0 | 630 | 62.0 | 61.0 | 59.5 | 59.0 | 58.0 | 57.5 | 56.5 | 51.5 | 47.0 | 445 | 415 | 385
3(.) SERIES 80-250/37 | 50 37 715 | 705 | 685 | 66.5 | 64.0 | 63.0 | 61.5 | 60.0 | 58.5 | 48.5 | 38.0 - - -
3(.) SERIES 80-250/45 | 60 45 825 | 8151800 | 780 | 760 | 750 | 735 | 725 | 71.0 | 62.0 | 53.0 | 48.0 | 42.5 -
3(.) SERIES 80-250/55 | 75 55 9351925 | 915|900 | 885 | 875 | 865 | 855 | 84.0 | 76,5 | 68.5 | 64.5 | 60.0 | 55.0
Japanese Technology since 1912 50 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 32 SERIES at 2900 min-' (according to ISO 9906 Attachment A) 2 Poles
0 USgpm. 20 30 4 5 60 70 8 90 100 110 120 130
| | | | | | | | | | | | | |
| | | | | | | | | | | |
” 0 Imp.g.p.m. 20 30 40 50 60 70 80 90 100 110
250
H 704 1 H
[m] I — 2 [ft]
60 ~<05 - 200
\
T —
50 ~=200/4 ~~2,,
_ \1\0\ ~S —150
£ T ﬁ)\\ 2 | \\
S T — 00/30
ol L | \\\&/22 \\‘ 100
— T . T N
| e — 60/7'5 =y
20 = \12@'1 \\'
~ 50
\\l
10
0 0
0 100 200 300 400 Q [I/min]
| | | | | | | | | | | | | | | |
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m¥n]
8 1 1
L
P2 200/5.5 200/7.5
[kw] —t—tT |
4 200/3.0 [ R 200/4.0
) | £160,/2.2
125/1.1 o
160/1.5 :
0 L | T H
0 100 200 300 400 Q [1/min]
70 | | | | ) | | %
n 125/1.1 160/2.2 e
60 =
(%) 160/1.5 = _200/40 200/7.5{[m] [#t]
—— I T z
7 —=F——1700/5.5"1 200/3.0 8 5
ez = 1 L 3
< 6
- 3
Z 200 15 f
N N [ - @
NPSH 125——1— 4 M
20 — 160 2, E
10
0 100 200 300 400 Q [1/min]
e

Japanese Technology since 1912 51 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 40 SERIES at 2900 min-' (according to ISO 9906 Attachment A) 2 Poles
0 US.gpm. 50 100 150 200
| | | | |
| | | |
0 Imp.g.p.m. 50 100 150
80 260
L 240
H 70 T — 200& H
[m] ~——_ —220 [ft]
‘\
60 T~ - 200
B 200/7.5 180
50 E— N
] | 160
p I —0
————1_160/40 — —120
=== — 100
L ——1_160/3, o —
‘\\ \\\ 80
20 S E— \
. \\ 125/2‘2 — 40
— h—
— - 20
g 0 0
0 200 400 600 Q [1/min]
3 I T T T T 3
0 10 20 30 40 Q [m3/h]
: 12 |
5 P2 ———
1 200/7.5 |
[k] 8 200/113 P —— — T
125/2.2 e — 200/5.57
4 = 160/4.07
: 125/1.5 <160/3.0]
0 - -
H] 0 200 400 600 Q [1/min]
B 80 T
n NPSH
(% 70 125/2.2K— ; — = [m] [1]
g — e = - 74
? / / L— \ 4
° %0 160/303__ . F 1= — N ]
o 160/4.0 - 125/1.5 T
200/5.5 P s — N\ |, |
' | ~<200/11 NPSH———— 1251 3T°"
" 200/7.5 L 2 |
200 160 15
30
0 200 400 600 Q [1/min]

Japanese Technology since 1912 52 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 50 SERIES at 2900 min-' (according to ISO 9906 Attachment A) 2 Poles
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
(I) Imp.g.p.m. 5I0 1(;0 150 2(I)0 2&0 S(I)O
80 - 260
A N - 240
H 70 m = — —200/15 H
[m] o —— —220 [ft]
T~
60 +—1—1—"1T1 T~ — 200
B e 200/11 n 180
— T T T T+ = — ] | I ~—
50 \QOOQL ~ ~~_ 160
T N 140
40 = —
7.5 N —120
—+—+—+4+ 41 [ \lﬁ\\ 00
S I N | ;go 5.5 1
5 — 80
| e S | \@ T~
T T T T T T— ﬁh\\§ gg 3.0 1 [ —60
Niz\ T~ 40
10 — B
~ ~ |
0 0
0 200 400 600 800 1000 1200 Q [1/min]
| | | | | | | | |
0 10 20 30 40 50 60 70 Q [m3/n]
18 T 1
P, I 200/15 ]
[kw] 12 —— —— — 200,/11— :
T 200/9.2_
6 125/4.0N———F——— 160/7.5—
T T N\ — g
. 125/3.0 = i 125/2.2 1.60( 5"?—
0 200 400 600 800 1000 1200 Q [1/min]
80 T 1 %
n || _A4200/11_|
% P — =SS " 200/9.2
= < Y || npsH :
o RS 125/4.0~ [m] [t
60 160/7.5_ 1 L N N :
L B > < T2 g
160/5.5- | 125722 125/30N] 4 05| [
200/15 N //7\1 60| |
50 NPSH ”’/7 200 4__10 ié
— 215 :
0 200 400 600 800 1000 1200 Q [1/min]
=3

Japanese Technology since 1912 53 Commercial



SIL 40 JUBJUOO BU |

U} seniesal 'y"d'g adoing sdwngd ydyg3 “AIojepueL paIspisuod &g Jou pnoy

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 65 SERIES at 2900 min-' (according to ISO 9906 Attachment A) 2 Poles
0 US.gp.m. 100 150 200 250 300 350 400 450 500 550 600 650
l 1 | | | | l | | | | | l |
5 0 Imp.g.p.:n. 100 150 200 250 300 350 400 450 500 550
—160
H
[m] 18015 140 1]
T T ~.
L . —120
e
30 ——§=§§ \76‘0/9‘2 - \\‘ L 100
— T T 4= \\0/25 \\\ \\
~~ — . — 80
20 == 1255 5 \\\ N )
40
10 I S S~ 25, .
— —
20
0 0
0 500 1000 1500 2000 Q [1/min]
0 2 40 60 80 100 120 140 Q [m3/n]
16 ]
P2 o T [ |
8 160/11 \\ :/’-——’—" 1 15607/%2_
160/7.5-———=— 25/15__
4 —r 125/5.5
125/4.04 T
0 1 1
0 500 1000 1500 2000 Q [1/min]
0 60/15— ]
n 160/15—
(%] e e Sy o/ 11'160/9 2_
/ — — :K\\/\ oL |
70 < ~<|
125/4.0 125/5.5 A
125/7 57 > NPSH
~7 INN AN [m] [ft]
50 160/7.54 e L
| nE__ pl i .
NPSH 15— b
160 2_-10
30 ] |
0 500 1000 1500 2000 Q [I/min]
Japanese Technology since 1912 54 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3L 65 SERIES at 2900 min-' (according to ISO 9906 Attachment A) 2 Poles
0 U.S.gp.m.100 200 300 400 500 600 700
| | | | | | | |
| | | | | | |
100 0 Imp.gp.m. 100 200 300 400 500 600
— 300
H FrTTTTT++ 25 H
— 0
[m] /57 [#]
80 T I —
B e e s e | \\ L 950
= \217/\30 ~
- ] \\\
[—
60 e —~r~. 1 200 /22 — 200
[—
I —— —— —~ T
TT \\&O/ 185 T~
— '20 L N~ | 150
—~~0/15 ~_
40 I
Ty
™ 100
20
50
0 0
0 500 1000 1500 2000 2500 Q [1/min]
| | | | | | | | | |
0 20 40 60 80 100 120 140 160  Q[m3M]
40
p . —1 250/37
i ¥ e i 250/30
e s —1200/221
2 = ———— 200/18.5
10 e 20|0/1|5
; -
0 500 1000 1500 2000 2500 Q [I/min] £
90 T 1 T T 1 %
" 200/22—— 900185
(%] | — ——F— 2
0 /? — — ~250/37
F L~ 200/15 4 250 /30
— NPSH g
[m] [ft]
50 8 5
NPSH = K250 ] 6 T2
e <200 =0
2 ]
30 |
0 500 1000 1500 2000 2500 Q [I/min]
2

Japanese Technology since 1912 55 Commercial



SIL 40 JUBJUOO BU |

1 1U00 B 8BUBLO 0} ) U} seniesal 'y"d'g adoing sdwngd ydyg3 “AIojepueL paIspisuod &g Jou pnoy

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3L 80 SERIES at 2900 min- (according to ISO 9906 Attachment A) 2 Poles
0 US.gp.m. 200 300 400 500 600 700 800 900 1000 1100 1200 1300
| I I I I I | I I I I I | I
[ T T T T T T T T T 1
50 0 Imp.g.p.m. 200 300 400 500 600 700 800 900 1000 1100
— 160
H H
[m] ~ 140 (4]
40 —
60 —120
el el e o ~30
— 85
el RN 7 N -
= T ‘*\ ~ 60/75 AN 100
6,
X3, ~
— 7,5,? — 80
~. /6 N
20 U N
N N \\\ - 60
|
40
10
20
0 0
0 1000 2000 3000 4000 Q [1/min]
I T T T T T 1
50 100 150 200 250 Q [m3h]
20 —
P, — 16(|)/1 8.5
[kW] 16 — 1 160/15
12 — — | || 160/13/15R
I T s e 160/11
. 1 ||
0 1000 2000 3000 4000 Q [I/min]
90
n —
N / LR 160/18.5
N 160/15
160/11__160/13/15R NPSH
[m] [ft]
50 NPSH 8
e e e — 620
4_
s
30
0 1000 2000 3000 4000 Q [1/min]
Japanese Technology since 1912 56 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3L 80 SERIES at 2900 min- (according to ISO 9906 Attachment A) 2 Poles
0 USgpm. 200 300 400 500 600 700 800 900 1000 1100 1200 1300
| | | | | | | | | | | | | |
0 0 mpgpm. 200 300 400 500 60 700 80 900 1000 1100
= 300
Ml T [ft]
" *\\\ |
— T T T —— 1 - | /?5\ \\\
L] | 200 q N
- 3 261
60 T 4 QN \\\ AN - 200
| ) JQ%\ ~— \\\
~ 2| N N 150
“ ~+200>, \\‘\\
N N
~ N
~— 100
20
50
0 0
0 1000 2000 3000 4000 Q [1/min]
0 50 100 150 200 250 Q [n:3/h]
80 T T 1250/55
P2 1 | [ L"T250/45 |
[kW] 40 Tt T T T 1250/37 |200/37
e ——— e — —+200/30
20 e e 200/22
0 1000 2000 3000 4000 Q [1/min]
90
| [ |
n T T T (g
(%] —— \200/37 :
70 — AT~ ™ 200/30
2 AVAN 250,/55
- 200/22 5N NPSH
250/37—250/45 [m] [ft] £
50 ' 8- H
NPSH 250t 20C 62
200/ T [\250 ‘1o
30 | a
0 1000 2000 3000 4000 Q [1/min]
&

Japanese Technology since 1912 57 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)M 32, 40, 50, 65 - up to 11 kW 2 Poles
B
D2
P2
DN2 Vi A
& ’. V2 Z-918
7-918
—‘
e —— o =
" T
=
= Z‘ f
== = i Il x- .
—B ==
')
et 11°
Fig. 1 ——- DN1
R C 4-¢15
N1
St M = E @_ N2
I I 4018 AL | 3\5
Fig. 2 " —3 s ;é_
25
DN2
“g DIMENSIONAL TABLE
§ Model Dimensions [mm] Weight
g DN1/P1|K1|D1/S1 Z |DN2 P2 K2|D2/S2|Fig. H |H1|H2] H3 |R W|M|N1N2 A B C Vi V2 [ka]
g 00|00 210|000 [41][31 * 410 * | 4 | (3] : i Bl | * | [8] | (1 |14 3 *
2 |82-125/1.1 ()] 50 [95112516516] 4 | - | 32 | 75100140141 1 5211214014112411980[70[11414019013408407431219:230219:230 232 - - PG 13.5PG 13.5M20x1.5(19.6|24.1(24.1
< 132-160/1.5 (M)| 50 |96 126116516|4 | - | 32 |75[10014014] 1 [292132160141124119/80 |70[1 18190240264408407431219:2301219:230 232 - - PG 13.5PG 13.5M20x1.522.5[27.027.0
£ 132-160/2.2 (M)] 50 |96 12516516| 4 | - | 32 |75110014014] 1 1292132160141124119 80 |701118190240264408432431219:230044-255 232 - - PG 13.5PG 13.5M20x1.5|27.7128.0128.0
£ 32-200/3.0 | 50 |951125/16516] 4 | - | 32 |75[10014014] 1 401601180 - 12412480 701119190240296) - U71471] - 24420544255 - - PG135PG 135 - - 135.1/35.1
2132-200/4.0 | 50 |95[125/16516|4 | - | 32 | 75110014014 1 340160180 - [1411141/80 7019190240096 - 494494 - 253 | 253 - - |PG16|PG16| - - 1382382
£ 132-200/5.5 | 50 |95[125(16516/4 | - | 32 |75[10014014 1 340160180 - [15015080 7019190240096 - 519619 - 215 | 275 |M20x1.5PG 135 PG16 |PG16| - - 622522
2132-200/7.5 |50 [95]125165/16/4 | - | 32 |75 100140114] 1 1340160180 - 15015080 70]119190R40296| - | - 539 - 215 | 275 - PG135PG16 - - - | - 160.1
% 40-125/1.5 (M)] 65 [115[145185/16/4 | - | 40 |80 1101150114] 1 P521121401411241119 80 |70[114160210213408407431219+230P19:230] 232 - - PG 13.5PG 13.5M20x1.5/20.1/24.6/24.6
2 40-125/2.2 (M)) 65 [115[145185/16| 4 | - | 40 |80[11015014] 1 P52i1121140141[124/119/80 |701114160210213408432431219+230244+256| 232 - - |PG 13.5PG 13.5M20x1.5(25.8|26.1{26.1
#140-160/3.0 | 65 [11514516516] 4 | - | 40 |80[1101150114| 1 292132160 - [124124/80|70[118190P40R54 - UT1AT1| -  [244:056Q44:255 - - PG135PG 135 - - 126.6/26.6
2140-160/4.0 | 65 [11514518516] 4 | - | 40 |80110150114| 1 [292132160 - 1411141/8070[118190240254) - 494494 - 253 | 258 - - |PG16|PG16| - - 140.8/40.8
©140-200/5.5 | 65 [115145(18516/ 4 | - | 40 |8011015014] 2 340160180 - [150150100/701115212265296 - 539639 - 275 | 275 |M20x1.5PG 135 PG16|PG16| - - 102.5562.5
£ 140-200/7.5 | 65 [115145/18516/ 4 | - | 40 [80[11015014] 2 3401601180 - [15015010070[1152120650296 - | - 659 - 215 | 275 - PG135PG16| - - - |- 1593
£ 140-20011 65 [115145185164 | - | 40 |80[1101150114] 2 340160180 - [178178110070115212065296| - | - B9 - 359 | 359 - PG135PG2T | - - - | - 1696
€ [50-125/2.2 (M)] 65 [11514518516|4 | - | 50 |95 12516516] 2 [2921132/16014111241191100,7011141190240254428462451219+2301244+255] 232 - - PG 13.5PG 13.5M20x1.5/29.4132.032.0
S [50-125/3.0 | 65 [115145185/16] 4 | - | 50 |95[12516516] 2 292132160 - [12412410070114190P40254 - M91491| - 44:255P44:255) - - PG135PG135 - - 130.9]309
& [50-125/4.0 | 65 [115145185/16] 4 | - | 50 |95[125165[16] 2 9232160 - 1411411001701 14190P40R54] - B14514] - 253 | 253 - - |PG16|PG16| - - 1409409
£ 150-160/65 | 65 [1151145185/16|4 | - | 50 |95 125165/16] 2 401601180 - [150150100[70/115212065096] - p3963Y - 275 | 275 M20x1.5PG 13.5PG16 |PG16 | - - 146.5/46.5
5 |50-160/7.5 | 65 11514518516/ 4 | - | 50 |95 125116516 2 340160180 - [150150100,70[115212265296) - | - |59 - 215 | 275 - PG135PG16| - - - | - 1586
£150-2009.2 | 65 [115145185(16] 4 | - | 50 |95125165/16] 2 [360160200] - [17817810070[115212265296] - | - 95 - 359 | 359 - PG135PG21| - - - | - 1639
2 150-200/11 05 11514518516/ 4 | - | 50 |951125165/16] 2 1360160200 - [178/178/10070[115212265296| - | - 1595 - 359 | 389 - PG135PG21| - - - | - 1696
8 |65-125/4 80 [13416020018| 8 | 4 | 65 [115145/18516] 2 340160180 - [141/1411100951140212080254) - H14514] - 253 | 253 - - |PG16|PG16| - - |37.7131.7
" 165-125/5.56 | 80 134116020018/ 8 |4 | 65 11514518516 2 B40160[180] - [15015010095[140212P80254| - 539539 - 275 | 275 |M20x1.5PG 135 PG16 |PG16| - - |48.7/48.7
05-125/7.5 | 80 [1341160200118| 8 |4 | 65 [115145/18516] 2 340160180 - [150150100195[140212280254] - | - B59 - 215 | 275 - PG135PG16| - - - | - 1521
065-160/7.5 | 80 [134]160200118| 8 |4 | 65 [115145/18516] 2 3601160200 - [150150100195140212280296) - | - B59 - 275 | 275 - PG135PG16] - - - | - 1663
65-160/9.2 | 80 [13416020018|8 | 4 | 65 |115/14518516] 2 360160200 - [178178100,95(140212280296) - | - 695 - 359 | 359 - PG135PG21| - - - |- 1610
65-160/11 80 1134116020018 8 |4 | 65 [115/145/185116] 2 3601160200 - [178/17810095[140212080P%6| - | - 595 - 359 | 359 - PG135PG21| - - - |- 674
[1] Standard [2] On request
[3] Three-phase only  [4] Single phase only * Models with IE3 motor only

Japanese Technology since 1912 58 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)M 50, 65 - 15 + 22 kKW 2 Poles
B
D2
P2
DN2 PG21 296
© /S
Z{ J_’ — \ + 1 Z -|#18
— (4T H
W M
i ;< Q T
\ £
| b,
— < = i ] ZiS ] f -
al a| & T s I J
| &
= — 3 :
| _ © & p
St N il o Fig. 1 o p/?\%Q
: [ Il
100 499.5 20 K 4 — 915
25 W 2 — #15 N1
M N2
M \/\
) A\ 4
L4
i L
| =gl L Fo2 | 1| | J DN2
" : ; [ HE= . : H
g
| C 254 25 & £
5 at] -9 5
4= 015 A - 2
L4 i
I 1 —| :é:
I il e é
DIMENSIONAL TABLE g
Model Dimensions [mm] Weight §
DN1| P1 | K1 | D1 | S1 z DN2| P2 | K2 | D2 |Fig.| H |Hl |H2| W | M [Nl | N2 B | C |[L1|L2 | L3 | L4 | [kg] |5
0 0 @ 9 12 | @ 0 | @ 0 £
50-200/15 65 | 11511451185 16 | 4 - 160195 [125/166] 2 360160200 /0 | 116|212 | 266 | 723 |190.5/ 264 | 318 | 66 | 304 | 105.1 | %
65-160/15 80 | 134 11601200 | 18 | 8 4 | 65 |115/1451185| 2 | 360|160 |200 | 95 | 140|212 | 280 | 732 |199.5| 254 | 318 | 65 | 304 | 107.1 | £
65-200/15 80 | 13411601200 | 18 | 8 4 |65 |1151145]185| 1 405|180 |225| 95 | 140|250 | 320|732 | - |254|314| 60 | 345 | 1101 |
65-200/18.5 ] 80 | 134|160 200 18 | 8 4 165 | 115(145(185| 1 |405|180 (225 | 95 | 140|250 | 320 | 732 254 1314 | 60 | 34511253 | ¢
65-200/22 80 [1341160(200] 18 | 8 | 4 | 65 [115]|145]/185| 1 |405[180|225| 95 | 140|250 | 320 | 732 264 | 314 | 60 | 345]136.1 | ¢
[1] Standard [2] On request E
Japanese Technology since 1912 59 Commercial



3LM 80-160 - 11 kW

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

2 Poles

Weight IE3
80-160/11: 100.0 kg

% 200

@ 135

DN8Q

8 225

® 155

DN100,

PG13.5
PG21

8-¢18

147

173

¢ | 259

178

S B == i

$28

2-G3/8

4—915

250

225

2180

180

405

65

320

3LM 80-160/15R / 15/ 18.5 kW

2 Poles

22

# 200

8 135

DN8Q

PG21
PG21

147

173

8-018

@ 225

¢ 155

DN100

223

#[309

2-G3/8

225

9180

13

180

405

I

20

4-¢15 65

125 250

125 499.5 | {20 320

757

345

‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

Weight IE3
80-160/15R: 130.1 kg
80-160/15: 131.1 kg

80-160/18.5: 145.3 kg

Japanese Technology since 1912 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)S 32, 40, 50 - up to 2.2 kW 2 Poles
B
D2
P2
N v V2 A
%l 918
L
= & g 1
@ _
Fig. 1 o D Q
||| [ ]l e 15 4015
[ ] M
18 u N2
4-418
Fig. 2 P
2% || 70
W DN2
DIMENSIONAL TABLE
Dimensions [mm] Weight
Model DN1| P1 | K1 | D1 |DN2) P2 | K2 | D2 |S2 [Fig.| H |H1 |[H2 |/H3 | R | M |[NI|N2| A | B | C Vi V2 [ka]
0 1 0 0 0 0 0 0. 0 *
32-125/1.1 50 | 95 [125]165] 32 | 75 | 100 140| 14 | 1 | 252 112 1140]139| 80 | 114 | 140|190 | 213 | 430 | 174 |M2bx 1.5| M20x1.5 | 23.1 | 24.7
32-160/1.5 50 | 95 [125]165] 32 | 75 | 100 | 140| 14 | 1 292 | 132|160 | 148 | 80 | 118 | 190 | 240 | 254 | 477 | 186 | M25x 1.5| M20x1.5 | 29.8 | 29.8
32-160/2.2 50 | 95 [125]165] 32 | 75 | 100140 14 | 1 2921321160 | 148 80 | 118 190 | 240 | 254 | 477 | 186 | M2bx 1.5| M20x1.5 1 32.4 | 32.4
40-125/1.5 65 | 115[145|185| 40 | 80 | 110|150 | 14 | 1 | 252 | 112|140 |148| 80 | 114 | 160 | 210 | 213 | 477 | 186 | M25x 1.5| M20x1.5 | 26.5 | 26.5
40-125/2.2 65 | 115/145]1185] 40 | 80 | 110150 | 14 | 1 | 252|112 1140|148 80 | 114 [ 160|210 | 213 | 477 | 186 | M2bx 1.5| M20x1.5 | 29.6 | 29.6
50-125/2.2 65 | 1151451185 50 | 95 [ 125 |165| 16 | 2 | 292 | 132|160 | 148|100 | 114 | 190 | 240 | 254 | 497 | 186 | M2bx 1.5| M20x1.5 | 32.9 | 32.9
* Models with IE3 motor only
3(L)S 32,65 - 3 + 4 kW 2 Poles
B
D2
P2 M25x1.5 A
txl N2 | 205 Z-918 g
{‘{J M [ ] o 2 E
=l = g { f/ 1 ES %}
Fig. 1 ) T D Q £§
R | c w | 27_5| 915 %
|| M 3
st N N2 ‘ch
H " el 4918 éi
Fig. 2 < E S z
25 _I_w_l |— 18 | :lﬂ g
N —_— DN2 g
3
DIMENSIONAL TABLE é
Dimensions [mm] Weight zé
Model DN1| P1 | K1 | D1 | S1 Z |DN2(P2 K2 |D2|S2|Fig. H | H{ H2/H3/ R|W M N1 N2 A|B|C|L1 L2 L3 [ka] £
g 0.0 0 [M]1[2]1 @ @ |0 @ s
32-200/3.0 50 [ 95 [125]165] 16 | 4 | - |32 [ 75[100]140] 14 | 1 [340[160[180[155] 80 | 70 [119]190]240|296[528]205]160|202| 42 | 46.9 | 46.9 | =
32-200/4.0 50 |95 1125/165| 16| 4 | - | 32| 75[100/140] 14 | 1 1340]/160/180({171]80 | 70 |119]190/240)296(550]212/190|228| 38 | 49 49 g
65-125/4.0 80 [134]160]200| 18 | 8 | 4 | 65 |115]145/185| 16| 2 [340]160]180]171/100] 95 |140|212]280(254|570]/212]{190]228| 38 | 50.1 | 50.1 | £
[1] Standard [2] On request * Models with IE3 motor only =

Japanese Technology since 1912 61 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)S 32, 40, 50, 65 - up to 65-200 2 Poles
B
D2
A
&
[l 7-918
pr S =
DN2
5| & 3 { 2 = —A
Fig. 2 J
© _ S
-«
& Y "?“_, l_"t" = z-g8 S Q =
Fig. 1 U = ' ZTD DNt
25w R c F 4 - 915
M W N1
S1 M k] I N2
¢ < o o
I} 1
L} L}
InNl . N
_’ Fig. 3
LT I
329 241 24.5
. 25 95
140 o) 4
£ ~
E 4014 /ﬁ-
] i
g DIMENSIONAL TABLE
%i Model Dimensions [mm] Weight
2 DN1|P1|K1|D1/S1| Z |DN2|P2|K2|D2|S2Fig| H |H1|H2|H3/H4 R |W | M |N1|N2/A |/ B|C|F|G|Q|L1|L2|L3| Vi V2 [ka]
Ee 00 0|0 [111[2] @ 9|00 *
5132-200/5.5 | 50 [95[125[165 16| 4 | - | 32 | 751001140 14| 1 [340160[180198 28 80| 70 |119/19012401300607/479 15[270 12 [216/266| 50 | M32x1.5| M32x1.5|71.8|71.8
£1382-200/7.5 | 50 [95 1251165 16| 4 32 7511001140 14] 1 1340160180198 28180 70[119/19024013006071479 151270 12216266 50 | M32x1.5| M32x1.5| - 187.0
$140-160/3.0 | 65 115145185 16| 4 40 [80[1101150 14| 1 2921321160155 32| 80| 70|118190240254528388| 15]220] 12160200 40 |M25x 1.5 M20x1.5| 42.5| 42.5
£140-160/4.0 | 65 [115/145185 16| 4 40 1801110150 14| 1 12921132160171, 20|80 70|118190240254550395| 15220 12190240 50 |M25x 1.5/ M20x1.5| 44.6| 44.6
£140-200/5.5 | 65115145185 16| 4 40 [80/110150 14| 2 1340160180198 28100 70[115212265300627)479 15|270 12216266 50| M32x1.5| M32x1.5|72.2| 72.2
& 40-200/7.5 | 65 115145185 16 4 40 180]110150 14| 2 1340160180198 28(100 701115212265300627479 15270 121216266 50| M32x1.5] M32x1.5] - 82.0
g 150-125/3.0 | 65 115145185 16| 4 50 195125165 16| 2 [292132160155 32|100 70|114190240254548388 15/220 12|160200 40|M25x 1.5/ M20x1.5| 35.5| 35.5
€ [50-125/4.0 | 65 (115145185 16| 4 50 195]125165 16| 2 1292132160171 20{100 70/114190240254570395 15|220 121190240 50| M25x 1.5 M20x1.5| 45.6| 45.6
¢ [ 50-160/5.5 | 65 (115145185 16| 4 50 | 95/125169 16| 2 [340160180198 28|100 70/115212265300627479 15|270 12|216266 50| M32x1.5| M32x1.5| 63.8| 63.8
5| 50-160/7.5 | 65(119145185 16| 4 | - | 50 | 95/125164 16| 2340160180198 28/100| 70 [11512122651300627/479] 15 [270 12 [216/266| 50 |M32x1.5|M32x1.5| - |91.0
£150-200/9.2 | 65 |115145185/16 | 4 | - | 50 195125165/ 16| 2 360160200198 28 100 70 |11521212653006671479 15 [270] 12 216266 50 | M32x1.5|M32x1.6| - 190.7
5165-125/5.5 | 80 |1341160200118| 8 | 4 | 65 [115[145/185/16] 2 [3401160/180198 28 [100] 95|14021228013006271479 15 1270 12 2161266 50 | M32x1.5|M32x1.5|60.0| 60.0
2 |65-125/7.5 | 80 [134]160200 18| 8 | 4 | 65 [115/145185 16| 2 [340160/1801198 28100 95 |1402122803001627|479 15270 12216266 50 | M32x1.5|M32x1.5| - |79.4
1 65-160/7.5 | 80 [1341160200118| 8 | 4 | 65 [115[145185/ 16| 2 [360160200198 28 |100 95 |1402122801300627/479 15270 12 216266 50| M32x1.5| M32x1.5 82.4
65-160/9.2 | 80 134160200 18| 8 | 4 | 65 115145185 16| 2 1360160200198 28100 95|140212280300667479 15270 12216266 50| M32x1.5| M32x1.5 88.0
65-200/15 | 80 1341160200 18| 8 | 4 | 65 [115145185 16| 2 |405180225238 20|100 95|140250320350806621 20|350 14 [254314 60| M40x1.5| M40x1.5 138.0
65-200/18.5] 80 [134160200 18| 8 | 4 | 65 |115145185 16| 2 405180225238 201|100 95|140250320350850621| 201350 14254314 60| M40x1.5| M40x1.5 137.2
65-200/22 | 80 (134160200 18| 8 | 4 | 65 115145185 16| 3 |405180225268 - [100 - | - (250320350888 - | - | - | - | - | - | - [M32x1.5| M32x1.5 175.0
[1] Standard [2] On request
* Models with IE3 motor only
Japanese Technology since 1912 62 Commercial



3 - 3L SERIES

. CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)S 40, 50, 65 - 11 + 15 kW 2 Poles
B
D2
P2 M40x1.5
DN2 350
1 |11 o
I m__ 1
g b o
= EE _— \/ J‘ =
M S =] T 08 3
I T i 110 11
100 4-919 70
w 240
25 720 25 310
F
4-918
DIMENSIONAL TABLE
Model Dimensions [mm] Weight
DN1 | P1 K1 D1 S1 Z DN2 | P2 | K2 | D2 | S2 H H1 H2 | H3 w B F [ka]
%) 9 9 9 [1] [2] 7] %) %) 4]
40-200/11 65 | 115 | 145 | 185 | 16 / - 40 80 | 110 [ 150 | 14 | 382 | 160 | 180 | 238 | 110 | 796 | 831 | 117.8
50-200/11 65 | 115 | 145 | 185 | 16 / 50 95 | 125 | 165 | 16 | 402 | 160 | 200 | 238 | 110 | 796 | 831 |117.8
50-200/15 | 65 | 115 | 145 | 185 | 16 4 50 95 | 125 | 165 | 16 | 402 | 160 | 200 | 238 | 110 | 796 | 831 | 147.9
65-160/11 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 | 185 | 16 | 402 | 160 | 200 | 238 | 1225 | 796 | 844 | 86.8
65-160/15 | 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 | 185 | 16 | 402 | 160 | 200 | 238 | 122.5| 806 | 854 | 120.9
[1] Standard [2] On request
3LS 80-160 2 Poles
¢ 200
175 175
M40x1.5
M40x1.5 8-918 2-63/8
=
M) ['e] E
SERE e . - HET R ¢ :
s sl & m E:
~ 4-915 | 65 :
125 20 250 8
)
125 621 320 g
B DIMENSIONAL TABLE %
350 « Model Dimensions [mm] Weight é
I‘ B H3 G [ka] g
8’ + + 80-160/11 831 238 317 145.8 §
80-160/15R 831 238 317 157.0 2
+ « 80-160/15 831 238 317 157.0 z
T ] = 80-160/18.5 875 238 317 151.2 5
=3
Japanese Technology since 1912 63 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3LS 65-250, 80 2 Poles
IJZNZ_I /ﬂ /ﬂ 8-918 2-63,

-1
1
Va1

;g[‘jfﬁﬁ ;\E\
N T4 s R

[ 1(]

4+ A
4-905 o
+— -+

DIMENSIONAL TABLE
Model Dimensions [mm] Weight

DN1|P1/K1/D1|S1| DN2 |P2|D2|$2| H |H1|H2|H3|H4|H5| R |W [N1|N2|M M1 L |L1|L2|L3|L5/A1|A2| B | C |F1| G D3 D5| W1 v2 | [kg
65-250/30f 80 1351602002265 Fig.1 1201185/ 20 450200250300/ 15 | 25 1001202803601160 80 305318388 80 1358200 200|966 |341121.5[399|19 17 M40x1.5M40x1.5303.0
65-250/37] 80 11351601200122|65 Fig. 11120118520 450200250300/ 15|25 100120280360160 80 305318388 80 1358200 200|966 341121.5/399 19 17 M40x1.5M40x1.5320.0
80-200/22] 100 [1551801225|24 80 Fig.2 [ 35200| 22 4:30[180250268| 13 | 27 [125]95 280345(125| 65 241279348 75 3001 75[182| 910 |329124.5(360|15| 14 M32x1.5M32x1.5207.0
80-250/37[100[155/180225|24 80 Fig.2 1 35200| 22 480200280300| 15 | 25 [125[120315#400/160 80 30531838880 358200[200[1019/369121.5(399|19] 17 M40x1.5M40x1.5[335.0

F
i3Ls 80 2 Poles
‘é # 200
é 9 135 v - 8-#18 A A2
g /
g 24 '1 0 o
~ S
g g o ) b
2 ? : E]: S &F\ [e13
% [Edw S
(D i
% v | ¥| 4903 M
% M Nt
: 125 c [ L &) N2
g B
E: 5
+ A
% 4617
H pr———— # A
m DIMENSIONAL TABLE
Model Dimensions [mm] Weight
H|H1 | H2 | H3 | H4 |H5 | W N1 [N2 M M1| L |L1]L2 L3|L5|A1|A2  B|C|FlI|G|D3|] W V2 | [ka]
80-200/30  |450(200 | 250 [300| 20 | 25 | 95 | 280360 | 130 | 80 | 305|318 388 | 80 | 358|200 | 200 | 991 | 341 [21.5] 399 | 14 |M40x1.5|M40x1.5|306.0
80-200/37  |450(200| 250300 | 20 | 25 | 95 | 280 (360|130 | 80 | 305|318 388 | 80 | 358|200 | 200 | 991 | 341 [21.5] 399 | 14 [M40x1.5|M40x1.5]325.0
80-250/45 ]505]225]280[335]| 25 | 28 | 120|315 [ 415|165 ] 100 | 311 | 356 | 436 | 80 | 386 | 225 | 225 [1060]| 385 [37.5] 465 | 18 [M50x1.5|M50x1.5] 401.0

Japanese Technology since 1912 64 Commercial



3LS 80-250/55

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

M50x1.5

M50x1.5

275

275

361

506

Weight IE3
80-250/55: 489 kg

2-G3/8

500

Japanese Technology since 1912

280

560

200

the right to change the content without prior notice.

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves

Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

3(L)P 32, 40, 50, 65 up to 65-200 2 Poles

@ DN1 52
%)
0
' 1
Il
i
50

360 3 4-915 J__ "’I N3
E

4-918
(X) onlyfor 32-200/5.5/7.5

<@ ® Only for 50-125/2.2/3/4
65/125/4

DN2

DIMENSIONAL TABLE

Model Dimensions [mm] Weight
DN1| P1 | K1 | D1 | $1 Z DN2 P2 K2 /D2|S2| H |H1 H2 H3 R | A B |B1|D|E NI N2 N3 T| W V2 [ka]
9.0, 0,0 [21 0 @ 0| @ *
32-125/1.1 | 50 | 95 [125]165] 16 - [ 32175 1100{140] 14 |302|112|140|139) 80 [213|715]272| 80 |550|300|340|250|710|M25x 1.5|M20x1.5| 45.1 | 46.7
32-160/1.5 | 50 | 95 |125|165| 16 32 | 75 |100{140| 14 |342|132|160|148| 80 {254 |760|317| 80 |590|350|390|300|750|M25x 1.5|M20x1.5| 52.3 | 52.3
32-160/2.2 | 50 | 95 |125|165| 16 32 | 751100|140| 14 |342|132/160|148| 80 |254|760|317| 80 |590|350|390|300| 750 |M25x 1.5|M20x1.5| 63.5 | 53.5
32-200/3 | 50| 95 [125]165| 16 32 | 751100|140| 14 |1390|160/180|155| 80 [296|809|366| 80 |590|350|390|300| 750 |M25x 1.5|M20x1.5| 71.5|71.5
32-200/4 |1 50| 95 [125]165| 16 32| 75 [100]140] 14 |390/160|180|171| 80 |296|831|388| 80 | 590|350|390|300| 750 |M25x 1.5|M20x1.5| 75.1 | 75.1
32-200/5.5 | 50 | 95 [125|165| 16 32 | 751100]140{ 14 |390|160/180|198| 80 |296|885|442|100/650|350|390|300|850 | M32x1.5|M32x1.5/97.0|97.0
32-200/7.5 | 50 | 95 [125]165] 16 321 7511001140] 14 1390]160/180/198] 80 [296/885/442]100/650/3501390/300]850|M32x1.5/M32x1.5| - [112.2
40-125/1.5 | 65 |115]145/185| 16 40 | 80 | 110]150| 14 |302|112|140|148| 80 |213|760|317| 80 |550|300|340|250| 710|M25x 1.5|M20x1.5| 49.8 | 49.8
40-125/2.2 | 65 |115]145/185| 16 40 | 80 | 110]150| 14 |302|112|140|148| 80 |213|760|317| 80 |550|300|340|250| 710|M25x 1.5|M20x1.5| 51.0| 51.0
40-160/3 | 65 |115[145/185| 16 40 | 80 [110]150]| 14 |342|132|160|155| 80 |254|809|366/| 80 | 590|350|390|300| 750 |M25x 1.5/M20x1.5/ 81.0| 81.0
40-160/4 | 65 |115]145/185| 16 40 | 80 | 110]150( 14 |342|132|160|171| 80 | 254 831|388| 80 |590|350|390|300| 750|M25x 1.5|M20x1.5| 67.6 | 67.6
40-200/5.5 | 65 | 115]145|185| 16 40 | 80 | 110/ 150| 14 1390|160|180|198|100|296|905|442|100|650|350390|300|850 | M32x1.5|M32x1.5/98.0 | 98.0
40-200/7.5 | 65 |115|145|185| 16 40 | 80 |110{150| 14 |390/160|180|198|100|296 |905|442|100|650|350|390|300 |850 | M32x1.56|M32x1.5| - |106.9
40-200/11 | 65 1115/145/185] 16 40 | 80 1110]150] 14 13901160]180]238/ 100|296 1071608 100|800,380 420|330 [1000 M40x1.5|M40x1.5| - 1127.8
50-125/2.2 | 65 |115[145]185| 16 50 | 95 |125]165| 16 |342|132|160|148|100|254|780|317| 80 |550|350|390|300]| 710 |M25x 1.5|M20x1.5| 75.0 | 75.0
50-125/3 | 65 |115[145|185| 16 50 | 95 |125]165( 16 |342|132|160|155| 100|254 829|366| 80 |590|350|390|300] 750 |M25x 1.5|M20x1.5| 82.5 | 82.5
50-125/4 | 65 |115[145]185| 16 50 | 95 |125]165| 16 |342|132|160|171|100|254|851|388| 80 |590|350|390|300] 750 |M25x 1.5|M20x1.5| 84.6 | 84.6
50-160/5.5 | 65 |115]145]185| 16 50 | 95 |125]165| 16 |390|160/180|198| 100|296|905|442|100650|350|390|300| 850 M32x1.5|M32x1.5| 98.0 | 98.0
50-160/7.5 | 65 |115]145]185| 16 50 | 95]125]165| 16 | 390|160 180|198| 100|296905|442|100|650|350|390|300|850|M32x1.5|M32x1.5| - |106.9
50-200/9.2 | 65 |115]145/185| 16 50 | 95 [125]165] 16 [410/160200| 198|100|296|945|482|100) 650|350 390{300| 850 M32x1.5|M32x1.5| - [111.0
50-200/11 | 65 |115[145/185| 16 50 | 95 125]165| 16 |410]160|200|238| 100|296 1071 608| 100|800{380|420|330 1000 M40x1.5|M40x1.5| - |128.3
50-200/15 | 65 |115]145/185] 16 50| 95 [125/165] 16 1410]160]200]238|100]296[1071/608|100]800] 380|420 3301000 M40x1.5|M40x1.5] - 11354
05-125/4 | 80 |134/160/200| 18 65 115/145/185] 16 |390| 160|180/ 171|100/ 254|851|388| 80 | 590|350| 390|300 750|M25x 1.5M20x1.5| 85.1 | 85.1
65-125/5.5 | 80 |134/160/200| 18 65 |115/145/185| 16 |390|160|180|198| 100|254|905| 442 | 100|650/ 350|390 300| 850| M32x1.5/M32x1.5/ 99.0 | 99.0
65-125/7.5 | 80 | 134/160/200| 18 65 115/145/185| 16 1390|160|180[198|100|254 905|442 1100|650 |350|390|300|850 | M32x1.5|M32x1.5| - [109.4
65-160/7.5 | 80 |134|160]200| 18 65 [115]145]185| 16 |410]160/200|198|100|296/905|442|100|650|350|390|300|850 |M32x1.5|M32x1.5| - |115.4
65-160/9.2 | 80 |134|160|200| 18 65 [115]145]185| 16 |410]160/200|198| 100|296 945 |482|100|650|350|390|300|850 |M32x1.5|M32x1.5| - |118.0
65-160/11 | 80 |134|160|200| 18 65 [115]145]185| 16 |410]160/200|238| 100|296 1071/608|100|800|380|420|330 1000 M40x1.5|M40x1.5| - |124.8
65-160/15 | 80 [134]160/200| 18 65 [115]145]185| 16 |410]160/200|238| 100|296 1071/608|100|800|380|420|330 1000 M40x1.5|M40x1.5| - |129.0
65-200/15 | 80 |134[160|200| 18 65 [115]145]185| 16 |455|180/225|238| 100|296 1071608|100|800|380|420|330 1000 M40x1.5|M40x1.5| - |137.0
65-200/18.5] 80 | 134]160|200| 18 65 [115]145]185| 16 |455|180/225|238| 100|296 1115 652|100|800|380|420|330 1000 M40x1.5|M40x1.5| - |135.2
65-200/22 | 80 |134]160/200| 18 65 [115]145]185] 16 |455]180|225|268] 10012961150 687|100/ 800|410|450] 3601000 M32x1.5|M32x1.5] - ]189.0

[1] Standard [2] On request
* Models with IE3 motor only

—
—
—

‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

[ec][eel[eclec]oc][oc][ecllec]lec](ec] EENEN EoN N NoN B o o B e o N A N A R B SRS B R

INFNGFN(I NS PN N NS PN NS N P

Japanese Technology since 1912 66 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

3LP 65-250, 80 2 Poles

H2

D
[}
]
{
%
—N

H1

H4/

T N2

DIMENSIONAL TABLE
Model Dimensions [mm Weight

DN1|P1|K1|D1|S1| DN2 |P2|D2|S2| H |H1|H2|H3|H4| R N1 N2/N3| B [B1|C |G| E [ T | S [D4|Sp.| V1 v2 | [kl |
65-250/30 | 80 |135/160]200] 22 165 Fig. 11120/ 185] 20 |510]200]250[300] 60 |100/530/590/460]1341|768]470/399]1000[1200] - | 19| 8 | MAOXT.5 | MAOXT.5 | 354.0
65-250/37_| 80 |135/160200! 22 65 Fig. 1120|185 20 |510/200]250300| 60 |100/530|590/46011341|768/470/399/1000[1200] - | 19| 8 | MAOX1.5 | MAOxi 5| 373.0
80-160/11_|100/155]180]225| 24 80 Fig. 2[135/200] 22 |455|180]225[238] 50 |125/380/420]330]1096]608/360/317] 800 [1000] 20 | 15| 5 | MAOXT.5 | MAOx1.5 | 174.8
80-160/15R |100/155/180/225| 24 |80 Fig. 2|135/200] 22 |4551180|225(238| 50 |125/380/420/330/1096/608|360/317] 8001000 20 | 15| 5 | MAO1.5 | MAOx1.5 | 186.0
80-160/15 |100/155/180]225| 24 |80 Fig. 2[135|200] 22 |455|180|225/238| 50 |125/380/420/3301096|608/360/317| 800 1000/ 20| 15 | 5 | MAOxT.5 | MAOx1.5 | 186.0
80-160/18.5]100/ 155/ 180,225/ 24 |80 Fig. 2(135/200] 22 |455180|225(238| 50 |125|380|420/330|1140/652|360/317| 800 1000 20 | 15| 5 | MAOx1.5 | M4Ox1.5 | 181.2
80-200/22 |100/155/180]225| 24 |80 Fig. 2135/200] 22 |490] 180|250/ 268| 60 |125/530/590|460|1285(687|470/360,1000[1200, - | 19| 8 | M32x1.5| M32x1.5| 259.0
80-250/37 |1001155] 180/225] 24 |80 Fig. 2/135/200] 22 |540/200/280/300] 60 |125/530/590/460]1366/768]470/399]1000[1200 - | 19| 8 | MAOx1.5| M4Oxi.5| 377.0
3LP 80 - 30 + 45 kW 2 Poles
B
9 200

z

2-G3,

N
o~
=
o

e —

o
125 470 4919 460
100 1000 530
1200 590

DIMENSIONAL TABLE

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.

Model Dimensions [mm] Weight
H Hi H2 H3 B B1 G S Vi V2 [ka]
80-200/30 510 180 250 300 1366 768 399 20 M40x1.5 M40x1.5 356.0
80-200/37 510 180 250 300 1366 768 399 20 M40x1.5 M40x1.5 365.0
80-250/45 565 200 280 335 1407 809 465 25 M50x1.5 M50x1.5 440.0

Japanese Technology since 1912 67 Commercial



auL

uoRealgnd siy} J0 18O

‘801j0u Joud Jnouim Jusjuoo sy} abueyd 0} 1yBl 8u) sanesal yd'g adoing sdwnd Yyyg3 “AIojepUBW PaIAPISUOO 87 10U PINOYS

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

3LP 80-250/55 2 Poles
1516
¢ 200 918
8135 MS50x1.5 M50x1.5
24 5 &8 /
[J“f S
149 ; A
< < 3 - & / g
%, g
f =X
[ 1 | ll 8|
i i :
125 470 4-923 ‘ 550 ©
100 1100 | 620
1300 | 680
Weight IE3
80-250/55: 528 kg
Japanese Technology since 1912 68 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

[1] Standard [2] On request
* Space where it is possible to disassemble the pump with spacer joint without disassembling the motor.

(EX DIN 24255)
3(L)PF 32, 40, 50, 65 2 Poles
B 100 *
D2
P2
—J= A
N
wn
7—918
i <
N
- AN
5| & 2 1= -
) >
Fig. 1 DN
R
29
S1
Fig. 2 °
o
25
£
DIMENSIONAL TABLE E’
Dimensions [mm] Weight ;%
Model | Fig. |[DN1| P1 | K1 | D1 | S1 Z DN2| P2 | K2 | D2 | S2 | H |Hl |H2| M [ Nt [ N2 | R | W | A | B | [ka] |2
[ | [2] &
32-125 1 50 | 95 | 125 1165 | 16 4 - 32 | 75 | 100 | 140 | 14 | 252 | 112 | 140 | 114 | 140 | 190 | 80 | 70 | 213 | 440 | 17.0 |4
32-160 1 |50 | 95 | 125|165 | 16 | 4 32 | 75 | 100 | 140 | 14 | 292 | 132 | 160 | 118 | 190 | 240 | 80 | 70 | 254 | 440 | 19.0 |=
32-200 1 |1 50 | 95 | 125 /165 | 16 | 4 32 | 75 1100 | 140 | 14 | 340 | 160 | 180 | 119 | 190 | 240 | 80 | 70 | 296 | 440 | 27.0 |5
40-125 1 | 65 | 115|145 1185 | 16 | 4 40 | 80 | 110 | 150 | 14 | 252 | 112 | 140 | 114 | 160 | 210 | 80 | 70 | 213 | 440 | 17.0 |5
40-160 1 |65 | 115145 /185 | 16 | 4 40 | 80 | 110 | 150 | 14 | 292 | 132 | 160 | 118 | 190 | 240 | 80 | 70 | 254 | 440 | 19.0 |
40-200 2 | 65 | 115|145 | 185 | 16 | 4 40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 27.0 | %
50-125 2 | 65 | 115 | 145|185 | 16 | 4 50 | 95 | 125 | 165 | 16 | 292 | 132 | 160 | 114 | 190 | 240 | 100 | 70 | 254 | 460 | 19.0 |§
50-160 2 | 65 [ 115|145 [ 185 | 16 | 4 50 | 95 | 125 | 165 | 16 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 28.0 | £
50-200 2 | 65 | 115 | 145 | 185 | 16 | 4 50 | 95 | 126 | 166 | 16 | 360 | 160 | 200 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 27.0 | %
65-125 2 |80 | 134 160 | 200 | 18 | 8 4 | 65 | 115|145 | 185 | 16 | 340 | 160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 460 | 28.0 |5
65-160 2 |80 | 134|160 | 200 | 18 | 8 4 | 65 | 115|145 | 185 | 16 | 360 | 160 | 200 | 140 | 212 | 280 | 100 | 95 | 296 | 460 | 29.0 |=
65-200 2 |80 [ 134|160 | 200 | 18 | 8 4 | 65 | 115|145 | 185 | 16 | 405 | 180 | 225 | 140 | 250 | 320 | 100 | 95 | 296 | 460 | 30.0 |2

Japanese Technology since 1912 69 Commercial



‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)PF 65-250, 80 2 Poles
D2
P2 120 ¥ A1 A2
S1
<
E
o
- ; 4 T
3 & 2 - - A -
T
T T
4-9D3 | M1
N1
R C L N2
B
45
i
o o
T - L
DIMENSIONAL TABLE
Model Dimensions [mm] Weight
DN1|P1 /| K1|D1|S1| DN2 | P2 D2|S2 | H |HI|H2 H3| R W |NI|N2 M |Mi | L |[L1|D D3| E | F|A1|A2| B | C | [kg] |
65-250 80 11351160200 22 | 65Fig. 111201185 20 1450(200|250| 15 [100/120]280{360/160| 80 |130] 80 | 32 | 19 | 10 | 35 |175]182]570/340| 82.0
80-160 100(155/180(225| 24 |80 Fig.2|135/200| 22 |405]180|225| 13 |125] 95 |250|320|125| 65 |100| 50 | 24 | 15| 8 | 27 |147|173]485|260| 60.0
80-200 100[155(180(225| 24 |80 Fig. 2135]200| 22 1430/180|250| 13 |125] 95 [280(345[125| 65 |130| 80 | 32 | 15 | 10 | 35 |175/182|595]340| 83.0
80-250 100/ 155/180225] 24 | 80 Fig. 21135/200) 22 |480]200]280| 15 |125/120/315/400/160| 80 |130| 80 | 32 | 19| 10 | 35 |175/192|595]340| 88.0
* Space where it is possible to disassemble the pump with spacer joint without disassembling the motor.
Japanese Technology since 1912 70 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
JOINT FOR 3(L)S SERIES 2 Poles
L
b Set of screws UNI EN 1SO 4029
| . s th——th
! L1 |
< : = 4 WeF— L e N
DIMENSIONAL TABLE
Model [HP] [kW] |Motorsize) 4 d1 d2 d3 Dm ersine [Tm] L1 b h Screws

32-125/1.1 1.5 1.1 80 19 22 19 33 M16x1.5 08 43 6 21.8 M6x6
32-160/1.5 2 15 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-160/2.2 3 2.2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-200/3.0 4 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/4.0 55 4 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/5.5 75 55 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8
32-200/7.5 10 75 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-125/1.5 2 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-125/2.2 3 2.2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-160/3.0 4 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-160/4.0 5.5 4 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-200/5.5 75 55 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/7.5 10 75 132 19 22 38 58 M16x1.5 145 84 10 413 M8Bx8
40-200/11 15 11 160 19 22 42 63 M16x1.5 178 114 12 45.3 M8x8
50-125/2.2 3 2.2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-125/3.0 4 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-125/4.0 5.5 4 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8 .
50-160/5.5 75 5.5 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8 §
50-160/7.5 10 75 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8 §
50-200/9.2 12.5 9.2 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8 | £
50-200/11 15 11 160 19 22 42 63 M16x1.5 178 114 12 45.3 M8x8 | &
50-200/15 20 15 160 22 22 42 63 M18x1.5 209 114 12 45.3 M8x8 §
65-125/4.0 5.5 4 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8 g
65-125/5.5 75 55 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8 | s
65-125/7.5 10 75 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8 z%’
65-160/7.5 10 75 132 19 22 38 58 M16x1.5 145 84 10 4.3 M8x8 |%
65-160/9.2 12.5 9.2 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8 | ¢
65-160/11 15 11 160 19 22 42 63 M16x1.5 178 114 12 45.3 M8x8 3
65-160/15 20 15 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8 g
65-200/15 20 15 160 24 30 42 63 M20x1.5 184 114 12 45,3 M8x8 u;i
65-200/18.5 25 18.5 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8 §
65-200/22 30 22 180 24 30 48 72 M20x1.5 184 114 14 51.8 M10x10 8
65-250/30 40 30 200 24 30 55 85 M20x1.5 184 114 16 59.3 Mi12x12 | &
65-250/37 50 37 200 24 30 55 85 M20x1.5 184 114 16 59.3 M12x12 | &
80-160/11 15 11 160 24 30 42 63 M20x1.5 184 114 12 453 M8x8 %
80-160/15R 20 15 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8 §
80-160/15 20 15 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8 S
80-160/18.5 25 18.5 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8 | %
80-200/22 30 22 180 24 30 48 72 M20x1.5 184 114 14 51.8 M10x10 é
80-200/30 40 30 200 24 30 55 85 M20x1.5 184 114 16 59.3 M12x12 §
80-200/37 50 37 200 24 30 55 85 M20x1.5 184 114 16 59.3 Mi12x12 |2
80-250/37 50 37 200 29 35 55 85 M24x2 206 114 16 59.3 M12x12 | %
80-250/45 60 45 225 29 35 55 85 M24x2 206 114 16 59.3 Mi2x12 |3
80-250/55 75 55 250 29 35 60 89 M24x2 218 144 18 64.4 Mi12x12 |~

Japanese Technology since 1912 71 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
JOINT FOR 3(L)P SERIES 2 Poles
b1 3 # b2
fd
o ol Al < o
SNy TR
PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE
DIMENSIONAL TABLE
Dimensions [mm]
Model [HP] [kW] Motor d1 b1 hi a2 b2 h2
32-125/1.1 1.5 1 80 24 8 27.3 19 6 21.8
32-160/1.5 2 90 24 8 27.3 24 8 27.3
32-160/2.2 3 2.2 90 24 8 27.3 24 8 27.3
32-200/3.0 4 3 100 24 8 27.3 28 8 31.3
32-200/4.0 55 4 112 24 8 27.3 28 8 31.3
32-200/5.5 75 55 132 24 8 27.3 38 10 41.3
32-200/7.5 10 7.5 132 24 8 27.3 38 10 41.3
40-125/1.5 2 1.5 90 24 8 27.3 24 8 27.3
40-125/2.2 3 2.2 90 24 8 27.3 24 8 27.3
40-160/3.0 4 3 100 24 8 27.3 28 8 31.3
£ 140-160/4.0 55 4 112 24 8 27.3 28 8 31.3
& |40-200/5.5 7.5 55 132 24 8 27.3 38 10 41.3
2 40-200/7.5 10 75 132 24 8 27.3 38 10 41.3
£ 40-200/11 15 11 160 24 8 27.3 42 12 45.3
£150-125/2.2 3 2.2 90 24 8 27.3 24 8 27.3
£150-125/3.0 4 3 100 24 8 27.3 28 8 31.3
2 |50-125/4.0 55 4 112 24 8 27.3 28 8 31.3
£ 150-160/5.5 75 55 132 24 8 27.3 38 10 41.3
g |50-160/7.5 10 75 132 24 8 27.3 38 10 41.3
<150-200/9.2 125 9.2 132 24 8 27.3 38 10 41.3
£ | 50-200/11 15 11 160 24 8 27.3 42 12 45.3
& 60-200/15 20 15 160 24 8 27.3 42 12 45.3
£166-125/4.0 55 4 112 24 8 27.3 28 8 31.3
£165-125/5.5 75 55 132 24 8 27.3 38 10 41.3
£165-125/7.5 10 75 132 24 8 27.3 38 10 4.3
©|65-160/7.5 10 75 132 24 8 27.3 38 10 41.3
= 165-160/9.2 12.5 9.2 132 24 8 27.3 38 10 41.3
£ 165-160/11 15 11 160 24 8 27.3 42 12 45.3
3 |65-160/15 20 15 160 24 8 27.3 42 12 45.3
2165-200/15 20 15 160 24 8 27.3 42 12 45.3
£165-200/18.5 25 18.5 160 24 8 27.3 42 12 45.3
< |65-200/22 30 22 180 24 8 27.3 48 14 51.8
g 165-250/30 40 30 200 32 10 35.3 55 16 59.3
= | 65-250/37 50 37 200 32 10 35.3 55 16 59.3
£180-160/11 15 11 160 24 8 27.3 42 12 45.3
2 180-160/15R 20 15 160 24 8 27.3 42 12 453
§180-160/15 20 15 160 24 8 27.3 42 12 45.3

80-160/18.5 25 185 160 24 8 27.3 42 12 45.3

80-200/22 30 22 180 32 10 35.3 48 14 51.8

80-200/30 40 30 200 32 10 36.3 55 16 59.3

80-200/37 50 37 200 32 10 35.3 55 16 59.3

80-250/37 50 37 200 32 10 35.3 55 16 59.3

80-250/45 60 45 225 32 10 36.3 55 16 59.3

80-250/55 75 55 250 32 10 35.3 60 18 64.4

Japanese Technology since 1912 72 Commercial



3Z SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3LMZ 32, 40, 50-125, 50-160, 50-200/9.2/11 - 65-125, 65-160/7.5/9.2/11
B
D2
P2 A
o DN2 Vi 7-918
IO V2 ﬁ
)
1 | n
i . S T
iy
_ | & i \
al ol 8 5 ii = ﬁ { // | T
=Nl AL
B pu g
i L FP h
S1 119 90 \_S
R c
M1 M2
4-918 /5\5
— AEP]
L S anan e
1
—
DIMENSIONAL TABLE
Model Dimensions [mm] Weight
DN1/P1|K1|D1|S1|Z|DN2| P2 |K2|D2|S2| H |H1|H2| H3 R [M1|M2|S|N2| A B Cc Vi V2 [ka]

0 0| 0|0 0 0|00 * * * * *
32-120/1.1] 50 [ 95 [126]165] 16 [4] 32 | /o [100]140] 14 1252]112]14011241119] 80 |32.5]212]6[190]213 140/ [431 PG 13.5M20x1.524.124.1]
32-160/1.51 50 [ 95 [125]165] 16 [4] 32 | 75 [100]140] 14 [292]132|160|124]119] 80 | 42 |200|6|210|254 407 |431 PG 13.5M20x1.527.0]127.0| £
32-160/2.2| 50 | 95 [125]165] 16 |4 32| 75 [100[140| 14 [292|132|160|124|119| 80 | 42 [200|6|210|254 432|431 PG 13.5M20x1.5/28.0]128.0| £
32-200/3.0| 50 | 95 [125[165] 16 |4 32| 75 [100[140| 14 |340|160|180| 124|124 | 80 | 39 [205|8|220(296 |471 |471 PG 13.5M20x1.5[35.135.1 §
32-200/4.0] 50 | 95 [125]165] 16 [4] 32 | 75 [100|140] 14 [340]160|180|141]141| 80 | 39 |205|8 220|296 |494 494 - - PG 16 M20x1.5138.238.2] 5
32-200/5.5] 50 | 95 [125|165] 16 [4] 32 | 75 [100|740] 14 [340]160|180|150|150] 80 [ 39 [205|81220 296 [519[519] - |PG 13.5|M20x1.5| PG 16 [M25x 1.5[52.2|52.2) ¢
32-200/7.51 50 | 95 [125]165] 16 [4] 32| 75 [100[140] 14 [340]160]180][150]{150] 80 | 39 [205[8]220]296| - |539]275 - PG135] - PG16 ] - 160.1 &
40-125/1.5] 65 [115]145]185] 16 [4] 40 [ 80 [110[150] 14 [262|112]140[124]119] 80 [32.5]212[6[190]213[40/|431]| - - PG 13.5M20x1.5[24.624.6] 5
40-125/2.2 65 |115]145[185] 16 [4| 40 | 80 [110[150| 14 [252|112|140|124|119] 80 [32.5/212|6|190|213 432|431 PG 13.5M20x1.5[26.1|26.1| &
40-160/3.0] 65 |115]145[185] 16 [4]| 40 | 80 [110[1501| 14 [292|132|160|124|124] 80 | 42 |200|6|210|254 [471|471 PG 13.5M20x1.5[26.6]26.6] £
40-160/4.0] 65 [115|145|185] 16 [4| 40 | 80 [110|150]| 14 [292]132|160|141|141| 80 | 42 [200|6 210|254 494|491 - - PG 16 M20x1.5/40.840.8] &
40-200/5.5 65 |115]145|185] 16 [4| 40 | 80 [110]150] 14 [340|160|180|150|150|100| 39 [205|8|220[296|539|539| - |PG 13.5|M20x1.5] PG 16 |M25x 1.5[52.5[52.5] <
40-200/7.5| 65 [115[145/185| 16 |4| 40 | 80 [110|150| 14 [340(160(180|150|150|100| 39 [205[8|220|296| - [559(275] - |PG135| - |[PG16[ - 9.3/ %
40-200/11| 65 |115][145[185] 16 [4] 40 | 80 [110[150| 14 [3401160|180]178|178[100| 39 [205[8[220(296| - |595|359 PG135] - PG21 | - 169.6| 2
00-125/2.2] 65 [115]145]185] 16 [4] 50 [ 95 [125]165] 16 [292]132]160[124[119[100] 42 [200[6[210]254 4521451 - - PG 13.5M20x1.532.0[32.0] &
50-125/3.0| 65 |115[145[185] 16 [4| 50 | 95 [125[165] 16 [292|132|160| 124124100 42 [200|6|210|254 [497 |491 PG 13 5M20x1.5[30.9]30.9] £
50-125/4.0] 65 [115[145]185] 16 [4] 50 | 95 |125]165| 16 [292[132|160|141[141]100| 42 |200|6[210]|254 514|514 - - PG 16 M20x1.5/40.9]40.9] =
50-160/5.5 65 |115]145[185| 16 [4] 50 | 95 [125]165| 16 [340(160|180(150 150100 39 [205|8]220|296 [539(539| - |PG 13.5 |M20x1.5| PG 16 [M25x 1.5/46.5/46.5] £
50-160/7.5 65 | 115 145[185] 16 [4| 50 | 95 [125[165] 16 [340|160|180]150|150[100| 39 |205[8(220|296| - |559|275 - PG135] - PGT6 | - [58.6] 3
50-200/9.2] 65 |115]145[185] 16 [4| 50 | 95 [125]165] 16 [360|160|200|178|178]100| 39 [205|8|220|296 5951359 PG 135 PG 21 63.9 §
50-200/11] 65 |115[145[185] 16 [4] 50 | 95 [125[165] 16 [360|160|200]178]178[100| 39 |205[8]220]296| - |595|359 PG135] - PG21 | - [69.6] ¢
6o-120/4 | 80 [134[160[200] 18 [8] 65 [110]145]185] 16 |340[160[180[141[141[100] 42 [200]6 2102545145141 - - - PG 16 M20x1.53/.7[3/.7] £
65-125/5.5| 80 |134]160]200| 18 |8| 65 [115|145(185] 16 [340|160| 180 150|150 100] 42 |200|6]210(254539|539| - PG 13.5 [M20x1.5| PG 16 [M25x 15[48.7/48.7| 2
65-125/7.5 80 |134|160[200| 18 |8] 65 |115|145[185] 16 [340|160|180]150|150(100| 42 |200|6]210|254| - |559|275 - PG135] - PG16 | - [52.1] §
65-160/7.5 80 |134[160[200| 18 |8| 65 |115]145[185] 16 [360|160|200|150|150(100| 39 |205|8|220|296 5591275 PG 135 PG 16 563 2
65-160/9.2] 80 |134[160(200| 18 |8| 65 |115][145[185] 16 [360|160|200|178]178]100| 39 [205|8|220(296 5951359 PG 135 PG 21 61.0/ £
65-160/11| 80 |134[160[200| 18 |8] 65 |115][145]185] 16 [360|160|200|178]178]100| 39 [205|8|220|296 595[359 PG 135 PG 21 67.4] &
* Models with IE3 motor only £
Japanese Technology since 1912 73 Commercial



3Z SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3LMZ 50-200/15, 65-160/15, 65-200
B
D2
)
DN2 PG21
© i
Zg A @ -
L H :
1 S 2
! || M
5 5| B == - 4 :
i T WY
< 8 A T
= - B
Fig. 1
§ EQ; J ;:D
o i i ,
100 151.5 350 16 5 318
4- o014
& 3 ¥
382
f - 33 KL
7 DN2
g | T
: U_\*JM | Fie2 | J
g{ i il
é | c 254 25 S
5 4- 014
3 4+ 3 %
e 304
2
g f - B2
g’ DIMENSIONAL TABLE
§ Model Dimensions [mm] Weight
g [kg]
g DN1 P1 K1 D1 S1 z DN2 P2 K2 D2 Fig. H H1 H2 B C
g %) %) %) 7} [} 9 %) 9
gﬁ 50-200/15 6o 115 145 185 16 4 o0 99 125 160 2 360 160 200 /23 1 190.5 | 105.1
2[65-160/15 80 134 160 200 18 3 6o 115 145 180 2 360 160 200 /32 [ 1995 1 1071
5 |65-200/15 80 134 160 200 18 8 65 115 145 185 1 405 180 225 732 - 110.1
2 [65-200/18.5 80 134 160 200 18 8 65 115 145 185 1 405 180 225 732 - 125.3
e 65-200/22 80 134 160 200 18 8 65 115 145 185 1 405 180 225 732 - 136.1

* Models with IE3 motor only

Japanese Technology since 1912 74 Commercial



3Z SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

* Models with IE3 motor only

(EX DIN 24255)
3LSZ 32-125/160, 32-200/3/4, 50-125/2.2, 65-125/4
B
D2
P2 M25x1.5 A
DN2 _
o ‘ ‘ M20x1.5 -918
(7p]
)
The . iB00 il
E 11 | o~
SE— : 5 jﬁ—l e g
i || el || [Y— 51\
5| &| B 460099 —_— [ 7 =
. ] [l — L/
] 1800000 ]
] @ _
S [V I £ :
L] ! : 0
Y
(SN . . M M
S1 T I T T T T
R 119 | ‘ ‘
c . D E
M1 M2
— S\
1! 7
4—gF
=
o g | o o DN2
N | G g
)| |
[+ +—"
g
DIMENSIONAL TABLE <
Model Dimensions [mm] Weight ‘g
DN1| P1 | K1 |D1|S1| Z [DN2[ P2 |K2|D2|S2| H |H1|H2|H3| R|A|B|C|D|E|F|G|Ll|L2|mMI|M2|N2| kel |2
2 0|0|0 90|00 9 * e
TOT0571 [ 50 | 95 1251165 16| 4 | 32| 75 (100140 14 (252 [ 112 140|139 B0 | 273430 168 100] 15 | 9 130205 225 325 117 190] 231 [ 24.7 |2
30-T60/1.5 | 50 | 95 [125[165] 16 | 4 | 32 | 75 [100] 140 14 [292 132 160|148 80 | 254|477 186 |125] 25 | 9 |170(210|230] 42 |105|210] 29.8 | 29.8 | &
32-160/2.2 | 50 [ 95 |125(165| 16 | 4 | 32 | 75 | 100(140| 14 |292|132 160|148 80 [254 477186 125| 25 | 9 | 170(210(230] 42 [105[210] 32.4 | 32.4 |
30-20073.0 [ 50 | 95 [125|165| 16 | 4 | 32 | 75 [100]140] 14 [340] 160|180 55| 80 |296 528|205 140(22.5] 11 [185] 160202 | 41 [106|210| 46.9 | 469 | -
32-200/4.0 | 50 | 95 [125| 165 16 | 4 | 32 | 75 |100] 40| 14 [340160] 180|171 80 | 296 550212 140[22.5] 11 | 185|190 228 41 |106]210] 49.0 | 49.0 |+
5012500 | 65 | 115145185 16 | 4 | 50 | 95 (125|165 16 1292 130 100 148|100 254497 | 186 15| 25 | 9 1170|270 230 42 [106210] 320 | 329
B5-125/2.0 | 80 | 134 16012001 18 | 8 | 65 | 115] 145|185 16 | 340] 160 1801 171] 100|254 5701 212|140 [22.5] 11 [ 185 19012281 42 [ 1052101 50.1 | 50.1 | 2

Japanese Technology since 1912 75 Commercial



3Z SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3LSZ 32-200/5.5/7.5, 40-125/160, 40-200/5.5/7.5, 50-125/3/4, 50-160, 50-200/9.2, 65-125/5.5/7.5, 65-160/7.5/9.2
B
D2
P2 A
Vi V2 _
o DN2 7-918
[Ty 2ol
[zl B I []
i B |} [ 2 o
. 000000000 | —
- i _&,ﬂmuuunnn J— (8?/\@.
5 & | wGdon00g — O =
b [— A
— 1 | Fooooooon | —— @ & Q
RN ¥ | e i i
8 <§_E _f" Ll | ; ; | qq f—.%—‘!ﬁ ql
R 119 ‘ ©
c 15
M1 M2
4-918
— N
M — - J T
— 15 3% /)
F——7p L
3 \]
g ol R —| «~ DN2
2 Z 2 v |
%é DIMENSIONAL TABLE
§ Model Dimensions [mm] Weight
3 DN1| P1 | K1 D1 |81 | Z DN2|P2 | K2 D2|S2| H |Hl H2/H3|H4  R|A|B| C | F |G |L1|L2|L3|MI|M2|N2| [kadl
g 0 0,0 |0 0|00 |0 %) *
232-200/5.5 | 50 ] 95 [125[165] 16 | 4 [ 32 [ /5 [100]140] 14 [340[160] 180198 28 | 80 [300]60/ | 479 [ 12 [2/0]216]266] 50 [ 41 [106]210]/1.8]/1.8
2 [82-200/75 | 50 | 95 [125]165] 16 | 4 |32 | 75 [ 100|140] 14 |340[160| 180|198 28 | 80 | 300607 479 | 12 [270|216 1266 50 | 41 | 106|210] - [87.0
5 140-125/1.5 [ 65 [115]145]185] 16 | 4 |40 [ 80 | 110150 14 1262112 14011481 22 | 80 [213]4//] 342 | 10 [186] 140 185] 45 [32.5]117[190]26.5[26.5
2| 40-125/2.2 | 65 | 115 145]185] 16 | 4 | 40 | 80 | 110|150 14 |252| 112|140 148] 22 | 80 [213|477| 342 | 10 | 186| 140| 185] 40 [32.5|117]190]29.5]29.5
=[40-160/3.0 | 65 [ 115|145 185| 16 | 4 | 40 | 80 [ 110|150 14 [292[132| 160 155| 32 | 80 | 254|528(387.5] 12 [220[160[200] 50 | 42 | 105|210[42.5[42.5
£[40-160/4.0 | 65 [115]145[185] 16 | 4 | 40 | 80 [ T10] 150[ 14 [292[132]160| 171] 20 | 80 | 254[550[394.5] 12 [220]190[240| 50 | 42 [ 105]210(44.6]44.6
£ 140-200/5.5 | 65 |115]145]185| 16 | 4 | 40 | 80 | 110 150 14 | 340| 160| 180| 198| 28 | 100 300|627 | 479 | 12 | 270[216|266| 50 | 41 [ 106|210|72.2|72.2
840-200/7.5 | 65 [ 115] 145185 16| 4 [ 40 [ 80 | 110] 150] 14 |340| 160] 180|198 28 [ 100300 627 479 [ 12 [270]216]266| 40 | 41 [106]210] - [82.0
= [50-125/3.0 [ 65 [ 115714571851 16 | 4 | 50 | 95 [125[ 165] 16 [292] 132] 160 155] 32 [ 100] 254 548[387.5] 12 [220]160]200] 50 [ 42 [ 105]210[35.5[35.5
£[50-125/4.0 | 65 [ 115[145[185[ 16 [ 4 [ 50 [ 95 [ 125] T65] 16 [202] 132 160] 171 20 | 100] 254 570[394.5] 12 | 220| 190| 240| 50 | 42| 105] 210]45.6/45.6
= 50-160/5.5 | 65 | 115|145/ 785] 16 | 4 | 50 | 95 | 125|165 16 | 340| 160| 780| 198| 28 | 100| 300|627 479 | 12 | 270| 216|266| 50 | 47 | 106] 210|63.8/63.8
& [50-760/7.5 | 65 | 115 145|185| 16 | 4 | 50 | 95 | 125| 165] 16 | 340| 160| 780] 198| 28 | 100|300 627 479 | 12 |270|216|266| 50 | 41 |106|210] - [97.0
50-200/9.2 | 65 [115[145]185] 16 | 4 [ 50 | 95 [ 125[165] 16 |360 160200 | 198 28 [100|300| 667 | 479 | 12 [270]216[266| 50 | 41 [106]210] - [90.7
69-125/0.0 1 80 [ 13416012001 18 | 8 | 60 | 115[145]185] 16 [340 160180 [198] 28 [ 10030062/ ] 4/9 | 12 [2/0]216]266| 50 | 42 [105]210]60.0]60.0
65-125/7.5 | 80 | 134160200 18 | 8 | 65 [115[145|185| 16 [340| 60| 180]198] 28 [100|300|627| 479 | 12 [270]216]266] 50 | 42 |105|210] - [79.4
65-160/7.5 | 80 | 134|160(200| 18 | 8 | 65 [115]145|185] 16 [360|160|200| 198| 28 | 100 300|627 | 479 | 12 |270]216|266| 50 | 41 [ 106|210 824
65-160/9.2 | 80 | 134|160[200| 18 | 8 | 65 | 115]145|185] 16 |360|160|200|198| 28 | 100 300|667 | 479 | 12 |270|216|266| 50 | 41 | 106|210 88.0
* Models with IE3 motor only
Japanese Technology since 1912 76 Commercial




3Z SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3LSZ 40-200/11, 50-200/11/15, 65-160/11/15, 62-200
B
D2
p2 M40x1.5
A
= /L
a — /% \ T
= =
=/ ~ 8
" Fig. 1 | __
1 = == ==
350 16 < 7-918
g 4]
382
S E
4HOLES ¢ 15
= — \ “ &\?t% 8
Fig. 2
! 329 / 241 24.5 279 N
4HOLES ¢ 15 /| 300 348
DIMENSIONAL TABLE §
Model Dimensions [mm] Weight %
DN1 P1 K1 D1 S1 zZ DN2 | P2 K2 D2 S2 Fig. H H2 H3 A B c [kal |z
9 ) 0 9 9 0 0 9 H
40-200/11 65 115 | 145 ] 185 16 4 40 80 110 | 150 14 1 360 | 180 | 238 | 350 [ /96 | 258 1178 |5
50-200/11 65 115 | 145 | 185 16 4 50 95 125 | 165 16 1 380 | 200 | 238 | 350 | 796 | 258 1178 |2
50-200/15 65 115 | 145 | 185 16 4 50 95 125 | 165 16 1 380 | 200 | 238 | 350 | 796 | 258 147.9 <§
65-160/11 80 134 [ 160 | 200 18 8 65 115 | 145 | 185 16 1 380 | 200 | 238 | 350 | 796 | 258 868 |3
65-160/15 80 134 | 160 | 200 18 8 65 115 | 145 | 185 16 1 380 | 200 | 238 | 350 | 806 | 268 1209 | &
65-200/15 80 | 134 | 160 | 200 | 18 8 65 115 | 145 | 185 16 1 405 | 225 | 238 | 350 | 806 | 268 | 1380 |=
65-200/18.5 80 134 | 160 | 200 18 8 65 115 | 145 | 185 16 1 405 | 225 | 238 | 350 | 850 | 268 137.2 3‘;
65-200/22 80 134 | 160 | 200 18 8 65 115 | 145 | 185 16 2 405 | 225 | 268 | 360 | 885 - 1750 |8
* Models with IE3 motor only §)

Japanese Technology since 1912 77 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3(L)M 32, 40, 50, 65 SERIES - up to 11 kW 2 Poles
1 4 26 72 56 16 17 38 6 12 21
I ] / /
7 |
l 14
73 | O L/ / .
| [l
o [ [ [ 8
32 <1 0 T I
T '}fg_'_'i_'“'_'_ ''''''''' T 1A=+ 101
. =N =l
| L )
B N\ | [_g j : | /\;
)
25 200 11 3 235 18 19 22 42 20 13
SECTIONAL VIEW 3(L)M 32, 40, 50, 65 SERIES - of 15 kW and over 2 Poles

L <

|
i 206 & __%
| =R IS

INOYS UOIJEDNANG SIU} J0 JUBJUOO BY |

g edoung sduwnd vuve3 Aiojepuew paiep! q 10U oy
=

‘80jj0U Joud NOLIM UBJU0D 8U) 8BUEL 0} 16U BU) SaNesa.

244

Japanese Technology since 1912 78 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
MATERIALS TABLE
Ref. Name Materials
3M 3LM
001 | Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor bracket [4]
004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 | Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 | Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
011 | Mechanical seal std Carbon/Ceramic/NBR Silicon Carbide/Silicon Carbide/FKM
012 | Motor frame -
013 | Motor cover Aluminium

014 | Fan

015 | Fan cover

Galvanised steel Fe P04

016 | Terminal Box

017 | Terminal Box cover

Aluminium (three phase version)

018 | Splash washer NBR
019 | Bearing (pump side)
020 | Bearing (motor side) -
021 | Adjustment ring Steel G70
022 Tie-rod Galvanise(_j steel Fe 42
Screw Galvanised steel
025 | Plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR FKM
032 | Key

034 | Impeller nut

EN 1.4301 (AISI 304)

EN 1.4401‘ (AISI 316)

EN 1.4404 (AISI 316L)

042 | Motor support

Aluminium / Galvanised steel

056 | Terminal box gasket

058 | Cable gland

072 | Gasing ring [1]

EN 1.4301 (AISI 304)

EN 1.4404 (AISI 316L)

073 | Casing ring

EN 1.4301 (AISI 304)

EN 1.4404 (AISI 316L)

092 | Sealring

093 | Seal ring

101 | Seeger ring

Carbon steel TC 80

200 | Screw (pump body)

Stainless steel A2 70 class ISO 3506/1

206 | Support screw [2]

Galvanised steel

244 | Plug [3]

EN 1.4301 (AISI 304)

[1]= For 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15

[2]= For 15 kW and over
[3]= Only for 65-160/15 and 65-200

[4]= Cast iron EN-GJL-200-EN 1561 for 32-200/3 and for models with 15, 18,5 and 22 kW motors

Aluminium AL-EN-1706-AC-46000-D for the other models

Japanese Technology since 1912

Commercial

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LM 80-160/11 SERIES 2 Poles
1 34 32 11 4 26 3 5 16 17 58 6 12 13 14 15 75 24 77

4

SECTIONAL VIEW 3LM 80-160/15R SERIES 2 Poles

7 25 76 78 235200 244 18 92 19 101 201 42 22 220 20 21 93
200A

7 32 4 26 3 18 206 56 16 17 58 12 13 14 15 75 24 77

N&

\\\
1 25 76 78 34 11 235200244 92 19
200A

‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

Japanese Technology since 1912 80 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 032 | Key EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 034 | Impeller nut Aluminium
004 | Casing cover EN 1.4404 (AISI 316L) 042 | Motor support Aluminium
EN 1.4404 (AISI 316L .
006 | Shatt At oontact e i 06 | Terminal box gasket NBR
007 | Impeller EN 1.4401 (AISI 316) 058 | Cable gland -
011 | Mechanical seal Silicon Carbide/Silicon Carbide/FKM 075 | Washer EN 1.4404 (AISI 316L)
012 | Motor frame - 076 | Washer EN 1.4404 (AISI 316L)
013 | Motor cover Aluminium 077 | 0O-Ring FKM
014 |Fan PA 078 | O-Ring
015 | Fan cover Galvanised steel Fe P04 092 | Sealring (11 kW, 15-18 .5 kW)
016 | Terminal Box - 093 | Sealring (11 kW, 15-18 .5 kW) -
017 | Terminal Box cover Aluminium 101 | Seeger ring (only for 11 kW) Carbon steel TC 80
018 | Splash washer NBR 200 | Screw (pump body) Stainless steel A2-70/1 class ISO 3506/1
019 | Bearing (pump side) - 201 | Screw (11 kW, 15-18.5 kW) Stainless steel A2-70/1 class ISO 3506/1
020 | Bearing (motor side) - 206 | Motor bracket screw (only for 15-18.5 kW) Galvanised steel
021 | Adjustment ring Steel C70 220 | Tie-rod nut (only for 11 kW) Galvanised steel
022 | Tie-rod Galvanised steel 230 | Washer (15-18.5 kW) Galvanised steel
024 | Plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
025 | Plug EN 1.4404 (AISI 316L) 244 | Plug [1] EN 1.4301(AISI 304)
026 | O-Ring FKM

[1]= Not for H and E versions

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.

Japanese Technology since 1912 81 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3(L)S 32, 40, 50 SERIES 2 Poles
; IEE
|
) _{ u
1=

201
7 1 611 3 44 206

nnpannann

n
uuuyuLuuY,

73 34 32 25 200 72 6

SECTIONAL VIEW 3(L)S 65 SERIES 2 Poles

auL

uoRealand siy} JO JusjU0D

saniesal y'd'g adoing sdiing g3 “AIojEpUBW PaIAPISUOO 84 10U PINOYS

206-2
«; +) &
g g
E 000000000 N
nnannNNNANA
UUUUUUUUUUUUY
000000000

Japanese Technology since 1912 82 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
MATERIALS TABLE
Ref. Name Materials
3S 3LS
001 | Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561
003A | Adapter ring [1] Cast iron EN-GJL-200-EN 1561
004 | Gasing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 | Joint - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 | Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
011 | Mechanical seal Carbon/Ceramic/NBR Silicon Carbide/Silicon Carbide/FKM
012 | Motor -
025 | Plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR \ FKM
032 | Key EN 1.4401 (AISI 316)
034 | Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L)
042 | Motor support Aluminium / Galvanised steel
044 | Support protection EN 1.4301 (AISI 304)
072 | Casing ring [2] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 | Casing ring (not for 65) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1
201 | Screw Galvanised steel
206 | Support screw Galvanised steel
206-2 | Adapter ring screw Galvanised steel
244 | Plug [3] - \ EN 1.4301 (AISI 304)

[1]= For 65-125/5.5 and 65-125/7.5 versions only
[2]= For 32-200, 40-200, 50-160, 50-200 versions only
[3]= For 65-160/15, 65-200 versions only

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.

Japanese Technology since 1912 83 Commercial



‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3LS 80-160 SERIES 2 Poles
1 34 7 32 4 26 1N 3 44 75 24 77
® '
va
L/ D
nuunnunuuuu
o U /I
B UUUTTTTUT00T
U[]ﬂﬂﬂﬂﬂlll] -
\l
\ 1\ !
\ 1 L
i 1
25 76 78 235 200 244 6 42 12
200A
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 034 | Impeller nut EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 042 | Motor support Aluminium
004 | Casing cover EN 1.4404 (AISI 316L) 044 | Support protection EN 1.4301 (AISI 304)
006 | Joint EN 1.4404 (AISI 316L) 075 | Washer
007 | Impeller EN 1.4401 (AIS] 316) 076 | Washer EN'1.4404 (AISI 316L)
011 | Mechanical seal Silicon Carbide/Silicon Carbide/FKM 077 | 0O-Ring FKM
012 | Motor - 078 | O-Ring
024 | Plug EN 1.4404 (AISI 316L) 200 | Screw (pump body) Stainless steel A2-70/1 class ISO 3506/1
025 | Plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
026 | O-Ring FKM 244 | Plug [1] EN 1.4301(AISI 304)
032 | Key EN 1.4401 (AISI 316)
[1]= Not for H and E versions
Japanese Technology since 1912 84 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LS 65-250, 80-200/250 SERIES 2 Poles

1 34 7 32 4 26 4A 11 3 3A 75 24 77

1

>

L[] -

|
,'
l

25 76 78 42A 235 200 244 6 42 1
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 65-250 d=24 mm
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 032 | Key 65-250 d=24 mm EN 1.4401 (AISI 316)
003A | Adapter ring Cast iron EN-GJL-200-EN 1561 80-250 d=29 mm
004 | Gasing cover EN 1.4401 (AISI 316) 65-250 d=24 mm
004A | Casing cover screw disc EN 1.4301(AISI 304) 034 | Impeller nut 65-250 d=24 mm EN 1.4404 (AISI 316L)
EN 1.4404 (AISI 316L) per 22 kW 80-250 d=29 mm
e dzm S 042 | Motor bracket Aluminium
006 | Joint 5950 ot EN 1.4404 (AISI 316L) per 22 kW 042A | Pump bracket Gal\(/grqmgraé%ggg/rgé?teel
a EN 1.4462 (duylex steel) 075 | Washer
per 30-37 kW EN 1.4404 (AISI 316L)
80-250 d=29 mm EN 1.4462 (duplex steel) 076 | Washer
007 | Impeller EN 1.4401 (AISI 316) 077 | 0O-Ring FKM
011 | Mechanical seal Silicon Carbide/Silicon Carbide/FKM 078 | O-Ring
012 | Motor - 200 | Screw (pump body) Stainless steel A2-70/1 class ISO 3506/1
024 | Plug EN 1.4404 (AISI 316L) 235 | Washer Steel C70
025 | Plug EN 1.4404 (AISI 316L) 244 | Plug [1] EN 1.4301(AISI 304)
026 | O-Ring FKM

[1]= Not for H and E versions

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.

Japanese Technology since 1912 85 Commercial



‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3(L)P 32, 40, 50, 65-125/160/200 SERIES 2 Poles
1 4 26 11 92 66 19 6 20 6A 44 58 12

25 3 200 72 244 42 67 93 33 42A 50
MATERIALS TABLE
Ref. Name Materials
3P 3LP

001 | Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561
004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AIS] 316L)
006 | Shaft - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006A | Joint Cast iron EN-GJL-250-EN 1561
007 | imoeller 32,40, 50 EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)

P 65-125/160/200 EN 1.4401 (AISI 316)
011 | Mechanical seal Carbon/Ceramic/NBR \ Silicon Carbide/Silicon Carbide/FKM
012 | Motor -
019 | Bearing (pump side)
020 | Bearing (motor side) -
025 |Plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR FKM
032 | Key EN 1.4401 (AISI 316)
033 | Key C40
034 | Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L)
042 | Motor support Galvanised steel Fe 37
42A | Base Galvanised steel Fe 37
044 | Joint cover Galvanised steel Fe 37
050 | Motor support Aluminium / Galvanised steel
058 | Cable gland -
066 | Bracket cover Cast iron EN-GJL-250-EN 1561
067 | Bracket cover Cast iron EN-GJL-250-EN 1561
072 | Casing ring [1] EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
073 | Casing ring not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
092 | VRing
093 |VRing -
200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1
244 | Plug [2] \ EN 1.4301 (AISI 304)

[1]= For 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15 versions

[2]= Only for 65-160/15 and 65-200

Japanese Technology since 1912

Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3LP 80-160 SERIES 2 Poles
75 24 71
E{[j[ I I I
2
66 92 89 19 3 6 20 67 93
— 7 |
34— S
32— ‘L/J
11—
7
78 +
25
76 1 244
200
235 200A

ﬁ?

50A \

|
|
o

=

MATERIALS TABLE %
Ref. Name Materials Ref. Name Materials ;gi
001 | Pump casing EN 1.4401 (AISI 316) 042A | Base Galvanised steel 2
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 044 | Joint cover Galvanised steel £
004 | Casing cover EN 1.4404 (AISI 316L) 050 | Rest Aluminium g
006 | shatt EN 1.4404 (AISI316L) 050A | Pump spacer - &
Part in contact with the liquid 050B | Pump spacer £

006A | Joint Cast iron EN-GJL-200-EN 1561 050C | Joint cover spacer - g
007 | Impeller EN 1.4401 (AISI 316) 066 | Bracket cover Cast iron EN-GJL-200-EN 1561 <
011 | Mechanical seal Silicon Carbide/Silicon Carbide/FKM 067 | Bracket cover Cast iron EN-GJL-200-EN 1561 2
012 | Motor - 075 | Washer EN 1.4404 (AISI 316L) §
019 | Bearing (pump side) - 076 | Washer EN 1.4404 (AISI 316L) g
020 | Bearing (motor side) - 077 | O-Ring FKM £
024 | Plug EN 1.4404 (AISI 316L) 078 | O-Ring FKM g
025 | Plug EN 1.4404 (AISI 316L) 089 | Seeger ring Carbon steel TC 80 5
026 | O-Ring FKM 092 | VRing - 3
032 | Key EN 1.4401 (AISI 316) 093 |VRing - E
033 | Key C40 200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1 | £
034 | Impeller nut EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304) 2
042 | Motor support Galvanised steel 244 | Plug[1] EN 1.4301(AISI 304) £
=3

[1]= Not for H and E versions

Japanese Technology since 1912 87 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LPF 65-250, 80-200/250 SERIES 2 Poles

El
2 MATERIALS TABLE
5 [ Ref. Name Materials Ref. Name Materials
8| 001 | Pump casing EN 1.4401 (AISI 316) 042 | Motor support Galvanised steel
§ 003 | Motor bracket Cast iron EN-GJL-200-EN 1561 042A | Base Galvanised steel
8| 004 | Casing cover EN 1.4401 (AISI 316) 044 | Joint cover Galvanised steel
£ | 004A | Casing cover screw disc EN 1.4301(AISI 304) 050 | Motor support (only for 66-250/22 kW) Aluminium
£| 006 | Shaft EN 1.4462 (Duplex steel) for 30-37 kW | 050A | Pump spacer Aluminium
5 | 006A | Joint Cast iron EN-GJL-200-EN 1561 050B | Pump spacer Aluminium
& | 007 | Impeller EN 1.4401 (AISI316) 050C | Joint cover spacer Aluminium
2| 011 | Mechanical seal Silicon Carbide/Silicon Carbide/FKM 066 | Bracket cover Cast iron EN-GJL-200-EN 1561
5| 012 | Motor - 067 | Bracket cover Cast iron EN-GJL-200-EN 1561
£ | 019 [Bearing (pump side) - 075 | Washer
7| 020 | Bearing (motor side) - 076 | Washer EN 14404 (81 316
2| 024 |Plug EN 1.4404 (AISI 316L) 077 | O-Ring FKM
=| 025 |Plug EN 1.4404 (AISI 316L) 078 | O-Ring
£] 026 |O-Ring FKM 089 | Seeger ring Carbon steel TC 80
E 65-250 d=24 mm 092 | VRing -
8 032 |Key 65-250 d=24 mm EN 1.4401 (AISI 316) 093 | VRing -
80-250 d=29 mm 200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1
033 | Key C40 235 | Washer EN 1.4301 (AISI 304)
65-250 d=24 mm 244 | Plug [1] EN 1.4301 (AISI 304)
034 | Impeller nut 65-250 d=24 mm EN 1.4404 (AISI 316L)
80-250 d=29 mm

[1]= Not for H and E versions

Japanese Technology since 1912 88 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

SECTIONAL VIEW 3(L)PF 32, 40, 50, 65 SERIES 2 Poles
‘Ikr 4 26 92 66 8919 6 20
/r:‘/
[ — =
32
34 ~ B T oy ‘
AR TRD AN = (I
) [ - g N
([ X NS |
* . “ —H
P --"II
7 J
IE N
25 3 200 72 11 244 42 67 93 33
MATERIALS TABLE
Ref. Name Materials
3PF 3LPF P
001 | Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 5
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 3
004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) £
006 | Shaft - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) H
007 | imoeler 32,40, 50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 2
P 65-125/160/200 EN 1.4401 (AISI 316) 5
011 | Mechanical seal Carbon/Ceramic/NBR \ Silicon Carbide/Silicon Carbide/FKM 2
019 | Bearing (pump side) - 2
020 | Bearing (motor side) - £
025 |Plug EN 1.4401 (AISI 316) / PTFE €
026 | O-Ring NBR FKM 3
032 | Key EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) £
033 | Key C40 g
034 | Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L) £
042 | Motor support Galvanised steel Fe 37 é‘;
066 | Bracket cover Cast iron EN-GJL-250-EN 1561 g
067 | Bracket cover Cast iron EN-GJL-250-EN 1561 L
072 | Casing ring [1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 8
073 | Casing ring not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AIS] 316L) s
089 | Seeger ring Carbon steel TC 80 §
092 | Sealring - g
093 | Seal ring - £
200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1 5
244 | Plug 2] \ EN 1.4301 (AISI 304) ]
[1]= For 32-200, 40-200, 50-160, 50-200 versions é
[2]= Only for 65-160/15 and 65-200 H
Japanese Technology since 1912 89 Commercial



‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3LPF 80-160 SERIES 2 Poles
)
i
26
66 92 89 19 3 6 20 67 93
33
i 7 / ;i
p =] |
j ] i
R I @ )
33— F— |
1—_
T— -
78— t 1) =2n
55— f_—‘l—h
76 [ 11 244 |
42
200
235 200A
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 042 | Motor support Galvanised steel
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 066 | Bracket cover Cast iron EN-GJL-200-EN 1561
004 | Casing cover EN 1.4404 (AISI 316L) 067 | Bracket cover Cast iron EN-GJL-200-EN 1561
EN 1.4404 (AISI316L
006 [ Shaft Parth contst it fiooid | 075 | Washer EN 1.4404 (AISI 316L)
007 | Impeller EN 1.4401 (AISI 316) 076 | Washer EN 1.4404 (AISI 316L)
011 | Mechanical seal Silicon Carbide/Silicon Carbide/FKM 077 | 0O-Ring FKM
019 | Bearing (pump side) - 078 | O-Ring FKM
020 | Bearing (motor side) - 089 | Seeger ring Carbon steel TC 80
024 | Plug EN 1.4404 (AISI 316L) 092 |VRing -
025 | Plug EN 1.4404 (AISI 316L) 093 | VRing -
026 | O-Ring FKM 200 | Body screw Stainless steel A2 70 class ISO 3506/1
032 | Key EN 1.4401 (AISI 316) 235 | Washer EN 1.4301(AISI 304)
033 | Key Cc40 244 | Plug [1] EN 1.4301(AISI 304)
034 | Impeller nut EN 1.4404 (AISI 316L)
[1]= Not for H and E versions
Japanese Technology since 1912 90 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

SECTIONAL VIEW 3LPF 65-250, 80 SERIES

2 Poles

19

6 20 67 93

— 1
‘A i
Si=id =
)l WA
_ R I ——]
I
o
V —IH
-—"-
11 244 3 —
235 200 42
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 033 | Key C40
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 65-250 d=24 mm
004 | Casing cover EN 1.4401 (AISI 316) 034 | Impeller nut 65-250 d=24 mm EN 1.4404 (AISI 316L)
004A | Casing cover screw disc EN 1.4301(AISI 304) 80-250 d=29 mm
006 | Shaft EN 1.4462 (Duplex stegl) for 30-37 kW | 042 | Motor support Galvanised steel
007 | Impeller EN 1.4401 (AISI316) 066 | Bracket cover Cast iron EN-GJL-200-EN 1561
067 | Bracket cover Cast iron EN-GJL-200-EN 1561
011 | Mechanical seal Silicon Carbide/Silicon Carbide/FKM 075 | Washer
076 [ Washer EN 1.4404 (AISI 316L)
019 | Bearing (pump side) 077 | O-Ring FKM
020 | Bearing (motor side) - 078 | O-Ring
024 | Plug EN 1.4404 (AISI 316L) 089 | Seeger ring Carbon steel TC 80
025 | Plug EN 1.4404 (AISI 316L) 092 | Sealring -
. 093 | Sealring -
026 ] O-Ring FKM 200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1
65-250 d=24 mm 235 | Washer EN 1.4301 (AISI 304)
032 | Key 65-250 d=24 mm EN 1.4401 (AISI 316) 244 | Plug [1] EN 1.4301 (AISI 304)
80-250 d=29 mm

[1]= Not for H and E versions

Japanese Technology since 1912

Commercial

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.



‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
MECHANICAL SEAL standard version MATERIALS TABLE
L Ref. Name Materials
3 SERIES 3L SERIES
Lt L2 1| Fixed part Carbon Siicon Carbide
2 Rotating part Ceramic Silicon Carbide
~ 3 | Gasket NBR FKM
| 4 | Frame + spring EN 1.4401 (AISI 316) | EN 1.4571 (AISI 316Ti)
!‘\
, Qm@
; - VT
4 3 2 1 3

@d1
#d2

8d4
#d5

’r,J

USRS
/

SPECIAL MECHANICAL SEALS 3 SERIES (On request)

Name Materials
H Version HS Version HW Version HSW Version E Version
Fixed part Carbon Silicon Carbide Tungsten Carbide Tungsten Carbide Carbon
Rotating Part Ceramic Silicon Carbide Tungsten Carbide Silicon Carbide Ceramic
Elastomers FKM FKM FKM FKM EPDM
Spring AlS| 316 AlS| 316Ti AlS| 316 AISI 316 AIS| 316Ti
Structure/Frame AlS| 316 AlS| 316Ti AlS| 316 AlS| 316 AlS| 316Ti
SPECIAL MECHANICAL SEALS 3L SERIES (On request)
Name Materials
H Version HW Version HSW Version E* Version ES** Version
Fixed part Carbon Tungsten Carbide Tungsten Carbide Carbon Carbon
Rotating Part Ceramic Tungsten Carbide Silicon Carbide Ceramic Silicon Carbide
Elastomers FKM FKM FKM EPDM EPDM
Spring AlS| 316 AIS| 316 AIS| 316 AIS| 316Ti AIS| 316Ti
Structure/Frame AISI 316 AlS| 316 AlS| 316 AlS| 316Ti AlS| 316Ti
* Not available for 3 | 80-250 SERIES 2 poles
** Available only for 3 | 80-250 SERIES 2 poles
SPECIAL MECHANICAL SEALS 3-3L SERIES (On request)
Name Materials
U3U3EGG Version U3CEGG Version Q1Q1EGG Version Q1U3EGG Version Q1AEGG Version
Fixed part Tungsten Carbide Tungsten Carbide Silicon Carbide Silicon Carbide Silicon Carbide
Rotating Part Tungsten Carbide Special carbon Silicon Carbide Tungsten Carbide Metallised carbon
Elastomers EPDM EPDM EPDM EPDM EPDM
Spring AlS| 316 AlS| 316 AlS| 316 AIS| 316 AISI 316
Structure/Frame AlSI 316 AlSI 316 AlS| 316 AlS| 316 AIS| 316
Japanese Technology since 1912 92 Commercial




(EX DIN 24255)
ELECTRIC DATA TABLE 3(L)M SERIES 2 Poles
Model P- Efficiency Capacitor Efficiency(%) P- Absorbed Current
Single phase Three phase Single phase Three phase
[HP] | [kW] |Single phase|Three phase| pF V. n% Single phase| Three phase |Single phase Three phase
50% | 75% |100%|  [kW] 230V | 230V | 400V | 690V
3OM32-125/1.1 M 15 1 11 E2 | 315 | 450 | 79518201825 151 | 18 | 67 | 56 | 32 | -
: 8(M@) 32-125/1.1 1475775 IE3 - - 1830858856 - 177 : 58 | 33
3M32-160/15 M 2 |15 E2 | 40 | 450 | 795 820|825 240 | 182 | 96 | 56 | 82
; 8(M2) 32-180/1.5 |55 E3 ; - 830858856 - 177 ~ 58 | 33
3M32-160/22 M 3 [ 22 E2 | 50 | 450 | 831|857 |862| 205 | 255 | 133 | 78 | 45
y 8(M2) 32-18072.2 |55 E3 i - 82870860 - 055 [ 82 | 47
4| 3 E2 85.0 | 86.7 | 863 348 106 | 6.1
8(M2) 32-200/3.0 |43 E3 859 | 875 | 871 344 111 | 64
55 | 4 E2 843 | 872 | 878 156 151 | 87
8(.Mi2) 32-200/4.0 |55 E3 858 | 86.3 | 884 15 51 87 | -
75 155 E2 i 82.9 | 860 | 874 6.29 ~ [ 104 | 60
8(M(2) 3220055 |75~ "5'5 B3 | - 89.2 | 90.6 | 90.4 6.09 — 1106 | 6.1
; 3OMEZ) 32-200/75 | 10 | 75 B3 | - -~ 890007908 - 8.26 ; -~ [ 136 | 79
M40 125/15 M 2 116 E2 | 40 | 450 | 795620626 210 | 162 | 96 1 56 | 32 | -
: 3(JM(2)40-125/15 |5 14’5 E3 - - 830858856 - 177 : 58 | 33
3M40-125/20 M 3 [ 22 E2 | 50 | 450 | 831857 1862 205 | 255 | 133 | 78 | 45
: 8(M2) 40-1252.2 |5 15% E3 | - | - [862]870/860] - 255 - 82 | 47
13 2 850 | 86.7 | 863 348 106 | 6.1
8M2) 40-160/3.0 |3 E3 85.9 | 875 | 871 344 111 | 64
55| 4 2 843 | 872 | 87.8 456 151 | 87
8(M2) 40-160/4.0 =55 E3 | - 858 | 883 | 88.4 150 51 | 87 | -
751 55 2 } 82.9 | 860 | 87.4 6.29 - [ 104 | 60
8(M(2) 40-200/55 |75 55 E3 ; 89.2 | 906 | 904 6.09 106 | 6.1
3MZ1 4020075 | 10 | 75 E3 ; 89.0 | 90.7 | 908 8.06 136 | 79
i 3(M(Z) 40-20011 | 15 | 11 E3 ; -~ 904 ot2 oi8| - | 1198 | - -~ [ 218 [ 123
3M50-125/22 M 3 [ 20 E2 | 50 | 450 | 83116571862 2056 | 256 | 133 | 78 | 45 | -
: 3(M2) 80125222 5575 IE3 - - 862870860 - 255 - 82 | 47
43 E2 850 | 86.7 | 863 348 106 | 61
8(Mi2) 50-126/3.0 |43 E3 85.9 | 87.5 | 87.1 344 111 | 64
55 | 4 E2 843 872 | 878 456 151 | 87
8(Mi2) 50-125/4.0 |55 E3 85.8 | 88.3 | 884 450 51| 87 | -
75 1 55 E2 8201860 | 87.4 6.29 - [ 104 | 60
8(Mi2) 50-160/55 |75 5 5 E3 89.2 | 906 | 904 6.09 106 | 6.1
3MZ) 50160775 | 10 | 7.5 E3 89.0 | 90.7 | 908 8.26 136 | 79
3()M(2) 50-200/9.2 | 12,5 | 9.2 E3 90.1 [ 90.8 | 909 10.12 ~ 472 | 100
3(M(2)50-200/11 | 15 | 11 E3 904912018 1198 [ 218 [ 123
3(M(2)50-200/15 | 20 | 15 E3 91.0 920 919 16.32 | or7 173
55 1 4 E2 813872678 456 51 1 87
8(IM(Z2)€5-125/4 5514 E3 85.8 | 88.3 | 88.4 452 51 | 87 | -
75 [ 55 E2 82.9 | 860 | 87.4 6.29 - [ 104 | 60
8(IMI2) 85-125/55 |55 E3 89.0 [ 906 | 904 6.09 106 | 6.1
3OMZ)65-125/7.5 | 10 | 7.5 E3 89.0 | 90.7 | 908 8.06 136 | 79
3OMZ) 65-160/7.5 | 10 | 7.5 E3 89.0 | 907 | 908 8.26 136 | 79
3(M(2) 65-160/9.2 | 12.5 | 9.2 E3 90.1 | 908 | 90.9 10.12 172 1 10.0
3(M(2) 65160711 | 15 | 11 E3 90.4 [ 912|918 11.98 213 [ 123
3(M(2) 6516015 | 20 | 15 E3 91.2 [ 920 91.9 16.32 27.7 [ 173
30M(2) 65-200/5 | 20 | 15 E3 912 [ 920 [ 919 16.32 277 | 173
3(M(Z)65-200485| 25 | 18.5 E3 916 | 930 | 926 19.08 350 | 203
3(M(Z) 65-20022 | 30 | 2 E3 920 931932 23.58 39.7 | 236
3LM 80-160/11 15 1 11 E3 90.4 912 1918 11.98 213 | 123
3IM80-160A5R | 20 | 15 E3 91.2 [ 920 [ 91.9 16.32 7.7 | 173
3LM 80-160/15 20 | 15 E3 012 920 919 16.32 077 | 173
3IM80-160/85 | 25 | 185 E3 916 | 930 | 926 19.08 350 | 203
Japanese Technology since 1912 93 Commercial

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.



‘901j0u Joud Jnouym 1usjuoo ay) abuey o) 1ybu su) sanesal yd'g edoung sdwind Yyvg3 AojepuBWw PaJBpISUOD 84 J0U PNOLS

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
ELECTRIC DATA TABLE 3(L)S - 3(L)P SERIES 2 Poles
Model Motor Efficiency Efficiency (%) and power factor Absorbed Current
Motor [HP] 2 [kW] n % cos 0
50% 75% 100% 230V 400V 690V
1.5 1.1 E 79.5 81.2 815 0.78 4.3 2.5 -
3()S(2) 32-125/1.1 | 3(.)P 32-125/1.1 80 15 11 =) 78.7 877 807 076 40 54
2 15 IE2 81.0 82.8 82.8 0.80 55 3.2
3()S(2) 32-160/1.5 | 3(.)P 32-160/1.5 90S 5 15 3 832 848 840 0.85 ) 30
3 2.2 IE2 82.5 84.0 84.0 0.85 7.6 4.4
3()S(2) 32-160/2.2 | 3(.)P 32-160/2.2 0L 3 5D 3 85.0 86.2 865 0.82 80 46
4 3 IE2 84.1 85.8 85.5 0.84 10.2 59
3()S(2) 32-200/3.0 | 3(.)P 32-200/3.0 100L 4 3 3 803 85.8 871 0.89 9.7 556
55 4 IE2 85.2 86.4 86.1 0.86 13.5 7.8
3()S(2) 32-200/4.0 | 3()P 32-200/4.0 112 M 55 4 3 868 878 81 0.93 11 70 -
7.5 5.5 IE2 85.8 87.4 87.3 0.88 - 10.4 6.0
3()S(2) 32-200/5.5 | 3(,)P 32-200/5.5 1328 75 55 3 88.0 885 890 0.90 100 538
3()S(2) 32-200/7.5 | 3()P 32-200/7.5 132S 10 7.5 IE3 88.6 89.2 90.1 0.92 - 13.1 7.6
2 15 IE2 81.0 82.8 82.8 0.80 55 3.2 -
3()S(2) 40-125/1.5 | 3()P 40-125/1.5 90S 5 15 IE3 830 848 842 0.85 ) 30
3 2.2 IE2 82.5 84.0 84.0 0.85 7.6 4.4
3()S(2) 40-125/2.2 | 3())P 40-125/2.2 90L 3 55 3 850 86.0 865 0.82 80 46
4 3 IE2 84.1 85.8 85.5 0.84 10.2 59
3(.)S(Z) 40-160/3.0 | 3(.)P 40-160/3.0 100 L 4 3 E3 83 85.8 871 0.89 97 56
55 4 IE2 85.2 86.4 86.1 0.86 13.5 7.8
3()S(2) 40-160/4.0 | 3(.)P 40-160/4.0 112M 55 4 B3 86.8 878 88.1 0.93 1 70 -
7.5 55 IE2 85.8 87.4 87.3 0.88 - 10.4 6.0
3()S(2) 40-200/5.5 | 3(.)P 40-200/5.5 132S 75 55 IE3 88.0 885 89.2 0.90 - 100 538
3()S(2) 40-200/7.5 | 3()P 40-200/7.5 1328 10 7.5 IE3 83.6 89.2 90.1 0.92 - 13.1 7.6
()S(Z) 40-200/11 | 3(.)P 40-200/11 160 M 15 11 IE3 87.4 89.8 91.2 0.89 - 19.7 11.4
3 2.2 IE2 82.5 84.0 84.0 0.85 7.6 4.4
3()S(2) 50-125/2.2 | 3()P 50-125/2.2 90L 3 55 IE3 850 86.2 865 0.82 80 46
4 3 IE2 84.1 85.8 85.5 0.84 10.2 59
3()S(2) 50-125/3.0 | 3()P 50-125/3.0 100 L i 3 3 03 58 871 0.69 07 56
5.5 4 IE2 85.2 86.4 86.1 0.86 13.5 7.8
3()S(2) 50-125/4.0 | 3()P 50-125/4.0 112M 55 4 IE3 86.8 878 881 0.93 7 70 .
7.5 55 IE2 85.8 87.4 87.3 0.88 - 10.4 6.0
3()S(2) 50-160/5.5 | 3()P 50-160/5.5 132S 75 55 IE3 88.0 885 89. 0.90 - 100 5.8
3()S(2) 50-160/7.5 | 3()P 50-160/7.5 1328 10 75 IE3 88.6 89.2 90.1 0.92 - 13.1 76
3(.)S(Z) 50-200/9.2 | 3(.)P 50-200/9.2 132M 125 9.2 IE3 88.6 89.8 90.7 0.89 - 16.5 9.5
3(.)S(Z) 50-200/11 | 3(.)P 50-200/11 160 M 15 11 IE3 87.4 89.8 91.2 0.89 - 19.7 1.4
3(.)S(Z) 50-200/15 | 3(.)P 50-200/15 160 M 20 15 E3 91.0 91.3 91.9 0.89 - 26.7 15.4
55 4 E2 85.2 86.4 86.1 0.86 13.5 7.8 -
3()S(0 65-125/4 | §()PB5-126/4 | 112 M 55 4 E3 86.8 87.8 8.1 003 | 12 70 :
7.5 55 IE2 85.8 87.4 87.3 0.88 - 10.4 6.0
3()S(2) 65-125/5.5 | 3(.)P 65-125/5.5 1328 75 55 3 88.0 885 890 0.90 100 53
3(.)S(Z) 65-125/7.5 | 3(.)P 65-125/7.5 1328 10 7.5 IE3 88.6 89.2 90.1 0.92 13.1 7.6
3()S(Z) 65-160/7.5 | 3(P 65-160/7.5 1328 10 75 IE3 88.6 89.2 90.1 0.92 13.1 7.6
3()S(Z) 65-160/9.2 | 3(P 65-160/9.2 132M 12.5 9.2 IE3 88.6 89.8 90.7 0.89 16.5 9.5
3(.)S(Z) 65-160/11 | 3(.)P 65-160/11 160 M 15 11 IE3 87.4 89.8 91.2 0.89 19.7 1.4
3(.)S(Z) 65-160/15 | 3(.)P 65-160/15 160 M 20 15 IE3 91.0 91.3 91.9 0.89 26.7 15.4
3(.)S(Z) 65-200/15 | 3(.)P 65-200/15 160 M 20 15 IE3 91.0 91.3 91.9 0.89 26.7 15.4
3()S(Z) 65-200/18.5| 3(.)P 65-200/18.5]  160L 25 18.5 IE3 916 928 92.4 0.88 33.0 19.1
3()S(Z) 65-200/22 | 3(.)P 65-200/22 180 30 22 IE3 923 929 92.9 0.90 38.0 22.0
3LS 65-250/30 3LP 65-250/30 200 40 30 IE3 92.8 93.9 94.0 0.89 51.8 30.0
3LS 65-250/37 3LP 65-250/37 200 50 37 IE3 93.0 93.9 93.8 0.90 62.5 36.0
3LS 80-160/11 3LP 80-160/11 160 M 15 11 IE3 874 89.8 91.2 0.89 19.7 11.4
3LS 80-160/15R | 3LP 80-160/15R | 160 M 20 15 IE3 91.0 91.3 91.9 0.89 26.7 15.4
3LS 80-160/15 3LP 80-160/15 160 M 20 15 IE3 91.0 91.3 91.9 0.89 26.7 15.4
3LS 80-160/18.5 | 3LP 80-160/18.5 160L 25 18.5 IE3 91.6 92.8 9.4 0.88 33.0 19.1
3LS 80-200/22 3LP 80-200/22 180 30 22 IE3 92.3 92.9 9.9 0.90 38.0 22.0
3LS 80-200/30 3LP 80-200/30 200 40 30 IE3 92.8 93.9 94.0 0.89 51.8 30.0
3LS 80-200/37 3LP 80-200/37 200 50 37 IE3 93.0 93.9 93.8 0.90 62.5 36.0
3LS 80-250/37 3LP 80-250/37 200 50 37 IE3 93.0 93.9 93.8 0.90 62.5 36.0
3LS 80-250/45 3LP 80-250/45 225 60 45 IE3 93.2 94.6 94.8 0.92 74.5 43.0
3LS 80-250/55 3LP 80-250/55 250 75 55 IE3 93.6 94.5 94.4 0.90 93.5 54.0
Japanese Technology since 1912 94 Commercial




(EX DIN 24255)
NOISE DATA TABLE 2 Poles
Model L,. - dB(A)* Model L,. - dB(A)*
Single phase Three phase Single phase Three phase
230V 230/400/690V HP] | [kW] 230V 230/400/690V HP] | [kW]
3(M32-125/11M | 3()M(Z) 32-125/1.1 1.5 1.1 3()S(2) 32-125/1.1 3()P 32-125/1.1 1.5 1.1
3(M32-160/1.5M | 3(JM(Z) 32-160/1.5 2.0 1.5 <70 3()S(Z) 32-160/1.5 3()P 32-160/1.5 2 1.5
3(M 32-160/2.2M | 3(JM(Z) 32-160/2.2 3.0 2.2 3()S(Z) 32-160/2.2 3()P 32-160/2.2 3 2.2 <70
- 3()M(2) 32-200/3.0 4.0 3.0 71 3()S(2) 32-200/3.0 3()P 32-200/3.0 4 3
3()M(Z) 32-200/4.0 55 4.0 3(.)S(7) 32-200/4.0 3()P 32-200/4.0 55 4
3(JM(2) 32-200/5.5 7.5 55 75 3()S(Z) 32-200/5.5 3()P 32-200/5.5 7.5 55 7
- 3(JM(2) 32-200/7.5 10.0 7.5 3()S(Z) 32-200/7.5 3()P 32-200/7.5 10 75
3(JM 40-125/1.5M | 3(JM(Z) 40-125/1.5 2.0 1.5 <70 3()S(2) 40-125/1.6 3()P 40-125/1.5 2 1.5
3()M 40-125/2.2M | 3(JM(Z) 40-125/2.2 3.0 2.2 3()S(Z) 40-125/2.2 3()P 40-125/2.2 3 2.2 <70
- 3(JM(2) 40-160/3.0 4.0 3.0 71 3()S(Z) 40-160/3.0 3()P 40-160/3.0 4 3
3()M(Z) 40-160/4.0 55 4.0 3(.)S(2) 40-160/4.0 3(.P 40-160/4.0 55 4
3(JM(2) 40-200/5.5 75 5.5 75 3(.)S(Z) 40-200/5.5 3(.)P 40-200/5.5 75 55 7
3(JM(2) 40-200/7.5 10.0 75 3()S(Z) 40-200/7.5 3()P 40-200/7.5 10 7.5
- 3()M(Z) 40-200/11 15.0 11.0 80 3()S(2) 40-200/11 3()P 40-200/11 15 11 74
3()M50-125/22M | 3()M(Z) 50-125/2.2 3.0 2.2 <70 3(.)S(Z) 50-125/2.2 3()P 50-125/2.2 3 2.2
- 3(JM(2) 50-125/3.0 4.0 3.0 71 3()S(Z) 50-125/3.0 3()P 50-125/3.0 4 3 <70
3(JM(2) 50-125/4.0 55 4.0 3()S(Z) 50-125/4.0 3()P 50-125/4.0 55 4
3()M(Z) 50-160/5.5 75 55 75 3(.)S(2) 50-160/5.5 3()P 50-160/5.5 75 55
3(JM(2) 50-160/7.5 10.0 75 3()S(Z) 50-160/7.5 3()P 50-160/7.5 10 7.5 72
3(JM(2) 50-200/9.2 12.5 9.2 3(.)S(Z) 50-200/9.2 3()P 50-200/9.2 12.5 9.2
3(.M(Z) 50-200/11 15.0 11.0 80 3(.)S(2) 50-200/11 3(.)P 50-200/11 15 11 74
3(JM(2) 50-200/15 20.0 15.0 3()S(Z) 50-200/15 3()P 50-200/15 20 15
3(JM(2) 65-125/4 5.5 4.0 " 3()S(Z) 65-125/4 3()P 65-125/4 55 4 <70
3(JM(Z) 65-125/5.5 75 55 3()S(Z) 65-125/5.5 3()P 65-125/5.5 7.5 55
3(JM(Z) 65-125/7.5 10.0 7.5 75 3()S(2) 65-125/7.5 3()P 65-125/7.5 10 7.5 79
3(JM(2) 65-160/7.5 10.0 7.5 3()S(Z) 65-160/7.5 3()P 65-160/7.5 10 7.5
3(JM(Z) 65-160/9.2 12.5 9.2 3()S(Z) 65-160/9.2 3(.)P 65-160/9.2 12.5 9.2
3(JM(Z) 65-160/11 15.0 11.0 80 3()S(2) 65-160/11 3()P 65-160/11 15 11
3(JM(2) 65-160/15 20.0 15.0 3()S(z) 65-160/15 3()P 65-160/15 20 15 74
3(.)M(Z) 65-200/15 20.0 15.0 3(.)S(Z) 65-200/15 3(.)P 65-200/15 20 15
3(JM(Z) 65-200/18.5 25.0 18.5 83-82 3()S(Z) 65-200/18.5 | 3(.)P 65-200/18.5 25 18.5
3(JM(Z) 65-200/22 30.0 22.0 3(.)S(Z) 65-200/22 3()P 65-200/22 30 22 7
3LM 80-160/11 15.0 11.0 3LS 65-250/30 3LP 65-250/30 40 30 78
3LM 80-160/15R 17.5 13.0 80 3LS 65-250/37 3LP 65-250/37 50 37
3LM 80-160/15 20.0 15.0 3LS 80-160/11 3LP 80-160/11 15 11
3LM 80-160/18.5 25.0 18.5 83-82 3LS 80-160/15R 3LP 80-160/15R 20 15 74
* Mean value of several measurements at 1 m distance around the pump. 3LS 80-160/15 3LP 80-160/15 20 15
Tolerance + 2.5 dB. 3LS 80-160/18.5 3LP 80-160/18.5 25 18.5
3LS 80-200/22 3LP 80-200/22 30 22 7
3LS 80-200/30 3LP 80-200/30 40 30
3LS 80-200/37 3LP 80-200/37 50 37 78
3LS 80-250/37 3LP 80-250/37 50 37
3LS 80-250/45 3LP 80-250/45 60 45 80
3LS 80-250/55 3LP 80-250/55 75 55 81
* Mean value of several measurements at 1 m distance around the pump.
Tolerance + 2.5 dB.
Japanese Technology since 1912 Commercial

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

PERFORMANCE RANGE 3(L) SERIES at 1450 min-' (according to ISO 9906 Attachment A) 4 Poles
U.S.gp.m. 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600
l l l l T N I N A TR N A I T [
T T T T T T T T T T T T T1 T T 1 T
% Imp.g.p.m. 20 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500
H 80~250/7.5 ==l 75 H
[m] 20 85250 (1]
5, -
32\200 0. 5] e Ly /|5 ™~
= S A T==120-290 L 65~ 25
" =S <0 0/1;5 X 30/4.9 50
N, %,
32-200/0.551 =020 X 503;; L }22 L 40
|| 171 oNCT5 N
32-200 0 tn T~ /~~ ! ;L0 -2\ ‘
— .55R ~ | Y0 ) ~<0.
10 By N S0 LT TTRGRN -
9 32—160/0.37 N N N ] ‘ ‘ J11 30
it - INCIN | TN 50\/6HT\ _z
7 32~160/0|3‘7R L/ “710:/ 0‘ 5 %1, -2
: S A - ‘"\ N
T )\\\‘\@\/I \ s 1\/60 A b — 20
6 32-125/0.5 N SRR TN < i
s ||| e I e N
‘ 2
\\\\\ ( ‘ QJ}\\ ’W%}\ 15
4 h < ™~ % ! ‘ IR £ |
N N I ‘ N \«f/%ﬁ*
N \/g 2 \\ Sp )
3 \\’P —10
7 ~ 6
2
g =5
g !
g 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500
g; Q [I/min]
: I T T T T T T T T T 11 1 T UL T 1
H 3 4 5 6 7 8 910 12 14 161820 25 30 40 50 60 70 100 150
Q [m /h]
% Versions 3M4 384 3P4 3LM4 3LS4 3LP4
E 32-125 | L] [] ° ° o
g 32-160 u u | [ D D
2 32-200 [ (] [ D o D
s 40-125 [ [ (] D ° °
5 40-160 u ] [ ° ° °
g 40-200 [ [] [] ° D o
s 50-125 (] [} [} ° ° °
£ Pump 50-160 (] (] ] ° ° °
z 50-200 [ (] (] D D D
S 65-125 [ [ [ D ° °
E 65-160 u | = ° ° °
3 65-200 u u | [ ° D
3 65-250 - - - ° ° °
° 80-160 - - - D ° °
80-200 - - - ° ° °
80-250 - - - [ [ D
W = Models also available in H-HS-HW-HSW-E version
@ = Models also available in H-HW-HSW-E version
Japanese Technology since 1912 96 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CHART 32-40-50 4 Poles
P: Q =Flow Rate
Model I/mn 50/ 100 150 175 200 250 300 350 400 500 600 650
[HP] [kW] [m%h 3 6 9 10.5 12 15 18 21 24 30 36 39
H=Head (m)
32-125/0.25 0.33 0.25 55| 47 3.5 2.8 - -
32-160/0.37R 05 0.37 70, 6.2 5.0 4.2
32-160/0.37 05 0.37 87/ 841 7.0 6.3
32-200/0.55R 0.75 0.55 103] 9.2 7.3 6.2
32-200/0.55 0.75 0.55 12.0/ 11.0 9.2 8.0
32-200/0.75 1 0.75 17.1]  16.1 14.3 13.2 - - - -
40-125/0.37R 05 0.37 - 48 45 43 40 34 2.6 1.8
40-125/0.37 05 0.37 -l 63 6.0 58 55 49 4.2 3.4
40-160/0.55R 0.75 0.55 - 73 6.9 6.6 6.3 57 50 4.3
40-160/0.55 0.75 0.55 -l 86 8.1 7.8 75 6.9 6.2 54
40-2001.1R 1.5 1.1 - 112 10.8 10.5 1041 9.4 8.6 7.8
40-200/1.1 1.5 1.1 - 132 12.7 124 12.1 11.4 10.6 9.6
40-200/1.5 2 1.5 - 177 17.3 17.1 16.8 16.1 15.2 14.2 - - -
50-125/0.55R 0.75 0.55 - - - - 52 5.0 4.7 44 4.0 3.2 2.3
50-125/0.55 0.75 0.55 - - - - 6.2 6.0 5.7 5.4 5.0 4.2 3.3 -
50-160/1.1R 15 1.1 - - - - 7.8 7.6 7.2 6.9 6.4 55 45 4.0
50-160/1.1 15 11 - - - - 9.1 8.9 8.6 8.3 79 7.0 6.0 55
50-200/1.5R 2 15 - - - - 1241 11.8 11.4 11.0 10.5 9.3 8.0 7.2
50-200/1.5 2 15 - - - - 13.3 13.0 12.7 12.2 11.8 10.6 9.2 8.4
50-200/2.2 3 2.2 - - - - 17.5 17.3 17.0 16.6 16.2 15.1 13.8 13.1
PERFORMANCE CHART 65-80 4 Poles
P: Q = Flow Rate
Model I/min 300] 350 | 500 | 600 | 800 | 950 | 1000 | 1050 | 1100 | 1200 | 1300 | 1400 | 1600 | 1800 | 2000 | 2200
[HP] | [kW] |m¥%h 18] 21 30 36 48 57 60 63 66 72 78 84 96 108 120 132
H=Head (m)
65-125/0.55 075 | 055 48| 46 4.0 35 2.3 1.4 - - -
65-125/0.75 1 0.75 6.0, 5.8 5.2 4.6 3.5 25 2.2 -
65-125/1.1 15 1.1 72| 7.0 6.3 5.7 4.5 35 3.2 2.8
65-160/1.1 15 11 - 8.1 74 6.9 5.7 4.6 4.2 3.8 -
65-160/1.5 2 15 -l 92 8.5 8.0 6.7 5.7 53 49 45 -
65-160/2.2 3 2.2 -l 11.3 | 106 | 1041 8.8 76 7.2 6.8 6.4 55
65-200/2.2R 3 2.2 -l 124 | 116 | 109 | 93 7.8 7.3 6.8 - -
65-200/2.2 3 2.2 -l 139 | 130 | 124 | 108 | 93 8.8 8.3 7.8 -
65-200/3 4 3 -l 158 15.1 14.4 12.9 11.6 11.1 10.6 10.1 9.0 -
65-250/4 55 4 - - 181 | 176 | 161 | 147 | 142 | 137 | 130 | 116 | 9.8 -
65-250/5.5 75 5.5 - - 212 | 208 | 19.6 | 184 | 179 | 175 | 170 | 158 | 144 | 12.8 - -
80-160/1.5 2 15 - - 6.8 6.3 59 57 5.6 5.4 5.0 4.6 4.2 3.4 2.4 -
80-160/2.2R 3 2.2 -l - - 8.1 7.8 7.4 7.3 741 7.0 6.7 6.4 6.0 5.2 4.2 3.0
80-160/2.2 3 2.2 - - - 9.1 8.8 84 8.3 8.2 8.0 7.8 74 7.1 6.2 52 41
80-200/3 4 3 - - 120 | 115 | 109 | 10.7 | 104 | 10.2 9.7 9.2 8.6 7.3 5.9 4.2 -
80-200/4R 55 4 - - - 14.4 13.9 134 13.2 12.9 12.7 12.2 11.7 11.2 10.1 8.8 7.2 5.6
80-200/4 55 4 - - - 154 | 149 | 143 | 144 | 139 | 137 | 132 | 128 | 123 | 114 9.9 8.4 6.7
80-250/5.5R 75 55 I - 177 | 170 | 163 | 16.0 | 157 | 154 | 146 | 138 | 129 | 10.7 | 84 - -
80-250/5.5 75 55 - - 205 | 199 | 191 | 189 | 186 | 182 | 176 | 168 | 159 | 138 | 11.7 | 93 -
80-250/7.5 10 75 - - - 240 | 234 | 228 | 225 | 222 | 219 | 213 | 206 | 198 | 180 | 159 | 135 | 10.8

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.

Japanese Technology since 1912 97 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 32 SERIES at 1450 min- faccording o 150 8906 Attachment A 4 Poles
0 USgpm. 10 15 20 25 30 35 4 45 50
| | | | | | | | | | |
I I I I | I | | I
yp 0_Impgpm. 10 15 20 P 30 35 40
- 60
T s ey 0 H
= 0
[m] ——— 70075 [#t]
‘\
15 - - 50
\\
\\'
= - 40
| \\'ZLLO/O.SSI
10 ‘_-—ﬂ“\_h<_200 ]0\'\
| \'\% \‘ 30
1 160,037~ L
[ 1 [ r"\\:h\ ’
' —160/0.377
5 R 125/0.05 T~
\\ \\l
[—
[ 10
7 0 0
0 50 100 150 Q [I/min]
E | | | | | | | | | | | | |
0 1 2 3 4 5 6 7 8 9 10 1 Q[mm]
0.8
: P2 06 — -
row] & 200/0.75 — ——— 4200/0.557
§ Lo o ]
04 200/0.55R—_— =160/0.37_
02 160/0.37R —
2 1 2125/0.25—
0 .
H] 0 50 100 150 Q [1/min)
B 70 |
n NPSH
i 125/0.25, — T — = Tlml 119
g | | | // 9
il 50 160/0.37 R 4
g N\ —12
160/0.37R = =
40 Co = = 200 =T& 310
200/0.55R<J—== ——1""H |
30 200/0.55—F= NPSH ————T160r{ 2 ¢
1 1 1
20 200/0.75% 1—‘;
10 L [
0 50 100 150 Q [I/min]

Japanese Technology since 1912 98 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 40 SERIES at 1450 min-" (according to ISO 9906 Attachment A) 4 Poles
0 USgpm. 20 30 40 50 60 70 80 90 100
I l I l I l I l I l I l I l I l I l
y00_Imp-gpm. 20 30 40 50 60 70 80
60
H N 200 H
— 1,
] (A5 —— (]
15 T 90
\\'
——200/11 - 40
s et S T
0 —— 200/ 1.1R i
B ‘\\\ ™~ | 5
T 1T
[
0 0
0 100 200 300 Q [1/min]
| | | | | | | | | | | | |
0 2 4 6 8 10 12 14 16 18 20 22 Q[m¥Mm)
13 T — ]
P, 200/1.5 N —— 200/1.17
[kW] I R — et I I g
0.7 I200{1.1RI -_——__’___— 1160/0.55: %
160/0.55R< | —125/0.37_
o 125/0.37R | ]
0 100 200 300 Q [1/min] H
80 T 1 | i
[:] N 125/0.37\ S :
— = | |[m] [#]
160/0.55R S =—F—— = ||
60 = S {62
P S
160,/0.55 P 125/0.37R 5 45
[ | hd A ] _ é
% 200/1.1R \¥/47 ¢
200/11 = 60 T
40 /A NPSH - 2+ .
200/1.5 200 1-
30 ' '
0 100 200 300 Q [1/min]

Japanese Technology since 1912 99 Commercial



SIU} 40 1UBJUOD BYL

U} seniesal 'y"d'g adoing sdwngd ydyg3 “AIojepueL paIspisuod &g Jou pnoy

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 50 SERIES at 1450 min-' (according to ISO 9906 Attachment A) 4 Poles
0 US.g.p.m. 40 60 80 100 120 140 160 180 200
| I I I I I [ I I I I
2 (I) Imp.g.p.m.I 4!0 6|0 8|0 1(;0 12|0 14|-0 1(|50
- 60
H + T+ L] H
[m] \~£0~0/2‘2 [ft]
15 T 50
N
T OT T~ RNt
T T | T 200/1.5 40
LSR N
10 1 AN | ‘\\ ‘\\ 30
4 7601 TN N
Tt 'ﬁ\'\\ N
160/ [~ N
T AN IR ~_ 2
5 1 1 ~~l_'125 0'55 ~~| ~N
—Ei25 o | T
\\\\ I~ !
s O 10
[—
\(
0 0
0 100 200 300 400 500 600 700 Q [1/min]
f T T T T T T T T T
0 5 10 15 20 25 30 35 40 45 Q [m3)
24
o) i T
[kW] 16 200/1.5R EEEE= e EEREEE 2|o O|/ 2|'2
08 160/1.1R A s e =y 1 1200/1.5
' 125,/0.55R~N=H 1 160/1.1] |
o | | ! | | | —11125/0.55
0 100 200 300 400 500 600 700 Q [I/min)
80
. BERBERR
B -200/1.5 NPSH
%1 70 p= e - Hml [4]
//// = pEE=sSuas Nl R
Z ” *160/1.1R7| °> 716
60 125055 LA A | it 125,/0.55R{— T 1'6(‘/ I
[ 74 L N 7| 1 19
200/1.5R A LA +T11200 3110
RN 0%E =T (125 -8
50 160/1.19 4 2
N o 1
200/2.2¢ 2
40 | i |
0 100 200 300 400 500 600 700 Q [1/min]
Japanese Technology since 1912 100 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 65 SERIES at 1450 min-' (according to ISO 9906 Attachment A) 4 Poles
0 USgpm. 50 100 150 200 250 300
| | | | | | | |
1 (I) Imp.g.p.m. 5|0 1(|)0 1.'|>0 2(|)0 25'30 3[|)0
FIJ 171
H ‘\\ —35 H
N 75, ft
ml ~"9; (e
T~ ™~ 30
AL TS N
I ~ Ly n
T \ '5 25
- S 7697 TS \\\
N h 0/ N
T T T~ = ™~ 4 \\ 20
~
— = \\‘\\‘ESL\ AN \\\
27 7™ n
. =SUARCNCRSURSUA )
A
N (P L \\\
25 N N
“035 ™S
N L5
0 0
0 200 400 600 800 1000 1200 Q [1/min]
| | | | | | | | |
0 10 20 30 40 50 60 70 Q [m3A)
1.8 —r—
- L 160/2.2
[kw] | T 160/1.5
10 e =] 160/1.1
|_— — ] 5
0 125/1.1 == 125/0.75
02 — 125/0.55 1
0 200 400 600 800 1000 1200 Q [1/min]
% T
n | I — 3
[ 160/1.1
o e/ 1160/1.5
PR S 2
125/0.7&?‘\\ S 160/22
; N \\ NPSH 5
125,/0.55 LN 125/141 [m] [#]
% 160! i
) — o <
NM25 ‘s
0 200 400 600 800 1000 1200 Q [1/min]
2

Japanese Technology since 1912 101 Commercial



SIL 40 JUBJUOO BU |

U} seniesal 'y"d'g adoing sdwngd ydyg3 “AIojepueL paIspisuod &g Jou pnoy

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3L 65 SERIES at 1450 min- (according to ISO 9906 Attachment A) 4 Poles
0 U.S.g.p.m. 100 150 200 250 300 350 400
l 1 1 1 1 1 l 1 1
o (I) Imp.g.p.m. 5|0 1(;0 1E|>0 2(|)0 2:":0 S(I)O 3&0
H B B B i e B Y ~70 H
[m] L 250/5.5 [#]
N i e S - S 60
~~_25 N
[ — |-
| - \\\ 2| |7\\\‘ \\ 50
- ~ 00/'3: 0 \\ N
| ] ~— N
Ll ™ 200 I \\\ — 40
N £00 /2; = > \\
NG S
< N N —30
h 20
—10
0 0
0 200 400 600 800 1000 1200 1400 Q [I/min]
| T T T T T T T T T
0 10 20 30 40 50 60 70 80 90 Q [m3m)
5 T 250/55_]
P2 4 [ E—— |
[kW] - - — 250/4.0
3 — — e [
| —T | — 200/3.0
2 // :"" 200/2.2
’___’: e e 200/2.2R
1 =T L I |
0 200 400 600 800 1000 1200 1400 Q [I/min]
90
n
(%] 200/3.0
70 ~ —— —~f—]
// - ~ S \YQ\\‘ ~_P50/55
200/2.2R __| NPSH
|2°°/2-2 N 250/4.0_|(m] [#]
5° 200 A 123915,
NPSH ] 1250 |,
— 5
1
30
0 200 400 600 800 1000 1200 1400 Q [I/min]
Japanese Technology since 1912 102 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3L 80 SERIES at 1450 min- (according to ISO 9906 Attachment A) 4 Poles
0 USgpm. 100 200 300 400 500 600
| | | | | | |
| | | | | |
10 0 Imp.gp.m. 100 200 300 400 500
o e = .,
H H
[m] B ~1— ~ 7 [t]
[~ (Y
: 0
™ ~Z2 25
I I s ¥ 60
~ N \
6 < \\ - 20
0//_ s \\ \\
\\ \\ \\ —-15
4 \\ \\
NG N
\\ 10
N
2
5
0 0
0 500 1000 1500 2000 Q [1/min]
| | | | | | | |
0 20 40 60 80 100 120 140 Q [m3)
2-4 1 1 1
P2 5, —— 160/22
(kW] ] 160/2.2R
1.6 — —F £
12 —_ 160/1.5
| | %
0.8 I :
0 500 1000 1500 2000 Q [1/min]
90
"
[ — SSnN
TN =
70 ST N 160/2.2
7 NI [ NPsH :
o) tm] 71
160/1.5 160/2.2R
50 4 5
NPSH e e 3110
30
0 500 1000 1500 2000 Q [1/min]
2

Japanese Technology since 1912 103 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3L 80 SERIES at 1450 min-' (according to ISO 9906 Attachment A) 4 Poles
0 US.gpm. 100 200 300 400 500 600
| | | | | | |
(I) Imp.g.p.m. 1[|)0 2(|)0 S(I)O 4(|)0 5(|)0
e e ey Y 80
[ —
H 25, H
m = i 25 70 (4]
20 — ﬁu\‘\ S
— 25 60
I 25 B
RS
== 2571
— ) N\ - 50
BT S I e e ‘<‘€5,9 ™N
sy I ~ TN N AN "
10 \\O%zg Na= S A -
T~ \\
\\ \:\
P~ N,
5 200' '.0_
Y0
i )
E 0 0
: 0 500 1000 1500 2000 Q [1/min]
- 0 2 40 60 80 100 120 140 Q [m3m]
8
p 1 250/7.5-
s 2 T | | |
) —— 250/5.5+—
) e B —— 250/5.5R 200/4.0_]
Q /::'*"‘" 200/4.0R_
: 2 200/3.0
H 0 L
] 0 500 1000 1500 2000 Q [1/min]
£ 90
n [ |
| 250/7.5_|
(%] —] ~— \ | 200/4.0R
o = e N e Y Y/ '
! N DRI [ west
50 250/5.5R —2001 4
NPSH —— ﬂ — 3410
g#gz == —F—1—2504 2 5
N250 1
30 | ] | |
0 500 1000 1500 2000 Q [1/min]

Japanese Technology since 1912 104 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)M4 32, 40, 50, 65-125/160/200 4 Poles
B
D2
P2
DN2 A
3 " V2 z-018
F 7-018
i ; ) Z g g
A IF x
— = = H R r | x
al &l 8 BB t
g\ﬁ i :
[ | T N
, Da=Q
Fig. 1 ——
R 4-915
W N1
st M SE @ N2
H : 4018 A 3\5
Fig. 2 @ — L ./é_.
25 W
M DN2
DIMENSIONAL TABLE
Dimensions [mm] Weight
Model DN1| P1 | K1 | D1 | S1 z DN2| P2 | K2 | D2 |S2 |Fig.| H |[Hl |H2{ H3 R | W | M |N1|N2| A | B C V2 [ka]
0 0 0|0 112 0| @ @ @
32-125/0.25 50 195 |125(165| 16 | 4 | - | 32|75 |100/140] 14 | 1 |252|112/140]102| 80 | 70 | 114 1140190213371 | 205 | PG11 | 15.0
32-160/0.37R | 50 | 95 [125|165| 16 | 4 321751100140 14 | 1 1292|132]160]119| 80 | 70 [118]190|240]2541393| 219 | PG11 | 19.7
32-160/0.37 50195 [125|165]| 16 | 4 321751100140 14 | 1 1292|132]160|119]80 | 70 | 118|190 (240254393 | 219 | PG11 | 19.9
32-200/0.55R | 50 | 95 [125|165| 16 | 4 32 1 75 1100/140) 14 | 1 |340]160/180|119] 80 | 70 [119]190 240296393 | 219 | PG11 | 24.5
32-200/0.55 50 | 95 [125|165]| 16 | 4 32 | 75 (100|140| 14 | 1 |340]160|180|119| 80 | 70 |119]190]240/296|393| 219 | PG11 | 245
32-200/0.75 50 | 95 [ 125|165 16 | 4 32 | 75 (100140 14 | 1 |340]160 180|124 | 80 | 70 | 119190 | 240 | 296 | 432 |244+255/PG 13.5] 28.1
40-125/0.37R | 65 |115[145|185| 16 | 4 40 | 80 (110|150 | 14 | 1 |252|112/140]102| 80 | 70 |114160]210|213|371| 205 | PG11 | 15.6
40-125/0.37 65 1115]145|185| 16 | 4 40 180 [ 1101150 14 | 1 |252]112/140/102| 80 | 70 | 114[160|210|213|371| 205 | PG11 | 15.7
40-160/0.55R | 65 | 115[145|185| 16 | 4 40 | 80 [110[150| 14 | 1 12921132 |160|119| 80 | 70 | 1181190 ]240|254|393| 219 | PG11 | 20.2
40-160/0.55 65 | 115]145]185| 16 | 4 40 | 80 (110|150 | 14 | 1 292|132|160|119| 80 | 70 | 1181190 |240|254|393| 219 | PG11 | 20.6
40-200/1.1R 65 |115]1451185| 16 | 4 40 180 [110/150| 14 | 2 |340]160/180|124 | 100| 70 | 115|212 | 265 | 296 | 452 |244+255|PG 13.5| 28.5
40-200/1.1 65 |115]145]185| 16 | 4 40 | 80 [110|150| 14 | 2 |340|160|180|124|100| 70 | 115|212 | 265 | 296 | 452 |244+255|PG 13.5| 28.6
40-200/1.5 65 |115]145/185) 16 | 4 40 | 80 (110150 | 14 | 2 340|160 180|124 100 | 70 | 115212 | 265 | 296 | 491 |244+255/PG 13.5] 30.3
50-125/0.55R | 65 |115|145|185| 16 | 4 50 | 95 [125[165| 16 | 2 [292|132]160| 119|100 70 | 114|190 (240|254 413 219 | PG11 | 20.4
50-125/0.55 65 |11511451185| 16 | 4 50 195 [125]165] 16 | 2 1292]132|160| 119100 | 70 |11411901240(254 1413 219 | PG11 | 205
50-160/1.1R 65 |115]145|185]| 16 | 4 50 | 95 |125[165| 16 | 2 |340|160|180|124 100 | 70 | 115|212 |265 | 296 | 452 |244+255PG 13.5| 28.6
50-160/1.1 65 |115[145|185]| 16 | 4 50 | 95 [125[165| 16 | 2 |340|160|180 124|100 | 70 [ 115|212 |265| 296 | 452 |244+255/PG 13.5| 28.7
50-200/1.5R 65 |115[145|185]| 16 | 4 50 1 95 [125]165] 16 | 2 |360|160|200|124 100 | 70 | 115|212 |265 | 296 | 491 |244+255/PG 13.5] 30.5
50-200/1.5 65 |115]145|185]| 16 | 4 50 | 95 |125[165]| 16 | 2 |360|160|200|124 100 | 70 | 115|212 |265| 296 | 491 |244+255/PG 13.5| 31.6
50-200/2.2 65 |115]145]185/ 16 [ 4 | - |50 | 95 | 125|165 16 | 2 |360]160/200|141[100| 70 | 115]212 265296474 253 | PG16 | 30.0
65-125/0.55 80 | 134160200 18 | 8 | 4 | 65 |115]|145|185| 16 | 2 |340[160[180/119]100| 95 |140|212|280|254|413| 219 | PG11 | 21.9
65-125/0.75 80 |134[160]200| 18 | 8 | 4 | 65 |115|145(185| 16 | 2 340|160 180|124 |100| 95 | 140|212 | 280 | 254 | 452 |244+255|PG 13.5| 20.0
65-125/1.1 80 11341160/200) 18 | 8 | 4 | 65 |115/145]185[ 16 | 2 |340|160 180|124 |100| 95 | 140|212 |280 | 254 | 452 |244+255/PG 13.5| 20.0
65-160/1.1 80 | 134160200 18 | 8 | 4 | 65 |115]|145|185| 16 | 2 |360 (160|200 124|100 | 95 | 140|212 |280 | 296 | 452 [244+255/PG 13.5| 28.5
65-160/1.5 80 |134[160[200| 18 | 8 | 4 |65 [115/145]185] 16 | 2 [360|160[200| 124|100 | 95 | 140|212 (280 | 296 | 491 [244+255/PG 13.5| 30.0
65-160/2.2 80 [ 1341160200 18 | 8 | 4 | 65 |115/145]185| 16 | 2 |360|160 200|141 |100| 95 [140|212|280/296|474| 253 | PG16 | 32.0
65-200/2.2R 80 |134]160|200| 18 | 8 | 4 | 65 |115]|145|185| 16 | 2 |405[180 (225141100 | 95 | 140/250|320 296 |474| 253 | PG16 | 30.0
65-200/2.2 80 |134[160]200| 18 | 8 | 4 | 65 |115]|145(185| 16 | 2 |405|180|225|141|100| 95 | 140250320 (296|474 253 | PG16 | 30.0
65-200/3 80 1134160200 18 | 8 | 4 |65 [115]145|185] 16 | 2 |405/180)225|141]100] 95 | 1401250|320]296|514| 253 | PG16 | 38.0
[1] Standard
[2] On request
Japanese Technology since 1912 105 Commercial

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)M4 65-250, 80-160/200, 80-250/5.5 4 Poles
D2
P2
Al A2
DN2
%)
Vi
5 ! V2
S @
o~
iy
pm
ol a Z 1T - TT :
NS —
| H I
' oo |
W 25 4-¢D3 80 M1
| | ! |
M N1
R | C N2
B
B
g
§ DIMENSIONAL TABLE
% Model Dimensions [mm] Weight
E DN1/ P1 /K1 /D1/S1| DN2 |P2/D2/S2| H H1/H2 H3/H4 R|W N1 |N2| M M1]A1]/A2| B C G /D3 w1 V2 [ka]
2165-250/4 80 [135]160]200| 22 |65 Fig. 11120|185| 20 [4501200{250|150| 15 [100/120|280|360,160| 80 |175|182|559| 295 [220|19 |PG13.5| PG16 | 81.0
165-250/6.5 | 80 1135/160/200| 22 |65 Fig. 11120185 20 1450/2001250|178| 15 | 100|120 2803601160 80 |175/182 612| 376 |269) 19 | PG13.5 | PG21 | 96.0
©180-160/1.5 |100/155|180(225| 24 |80 Fig. 2|135|200| 22 |405|180(225|124| 13 [125| 95 |250|320|125| 65 |147|173|516|244+255|176| 15 - PG13.5 | 53.0
% 180-160/2.2R |100[155]180]225| 24 |80 Fig. 2|135|200| 22 [405[180/225 141 | 13 [125| 95 |250(320|125| 65 |147|173]499] 253 [193|15 - PG16 | 53.0
£180-160/2.2 [100]155]180|225| 24 |80 Fig. 2|135|200| 22 |405|180|225|141| 13 [125| 95 |250|320|125| 65 [147[173|499| 253 |193]15 - PG16 | 53.0
4180-200/3 100[155]180]225| 24 |80 Fig. 2/1135|200| 22 |430{180|250(141| 13 [125| 95 |280|345|125| 65 |175/182|561| 275 |193|15 - PG16 | 73.0
g 80-200/4R  ]100]155]180]225| 24 |80 Fig. 2|135|200| 22 [430|180]250|150| 13 [125] 95 |280(345|125| 65 |175|1821584| 295 |220|15 |PG13.5 | PG16 | 80.0
% 180-200/4 100]155]1801225 24 |80 Fig. 2|135|200| 22 1430|1801250|150| 13 [125] 95 280(345|125| 65 |175|1821584| 295 |220|15 |PG13.5| PG16 | 81.0
g 180-250/5.5R |100]155|180]225| 24 |80 Fig. 2|135|200| 22 |480|200280|178| 15 |125/120|315|400(160 80 |175|192|637| 376 |259|19 |PG13.5 | PG21 | 94.0
2 180-250/5.5 1100]1551801225| 24 |80 Fig. 2|136]200| 22 1480|200 280|178 16 |125]120|315]400|160] 80 |175]192|637| 376 [259]19 |PG13.6 | PG21 | 95.0

Japanese Technology since 1912 106 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)M4 80-250/7.5 4 Poles
¢ 200
8 135 175 192
N ? 80
M32x1.5
G 3/8
24 ﬁ e o| 918 -8 fori
00|
N
N | | : : --\“
- .
SEE | ¥ / iV
s s = ‘ %\\ }g /
o
Lp) R -
LJ; ________ - § —:ﬁ g/%
o —
— 2]
— — © r//&>\‘ -
120 619 80
160 612 315
125 | 165 157 46 400
626
+ .
¢18 — 8 fori
3 228
/g /?(%Y\ ol o
w
Weight
3(LM4 80-250/7.5: 119.0 kg + IS

the right to change the content without prior notice.

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves

Japanese Technology since 1912 107 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255
3(L)S4 32, 40, 50, 65 - up to 1.5 kW 4 Poles
B
D2
P2
PN2 Vi V2 A
> ‘ \ / 7-018
] ] 7-918
! loXali L) . /
“_‘F_ i 7 ) :
(00000 | /
3l & 2 | [ L] s, T
00000
'S
Fig. 1 1 DN1
R c 15 4-¢15
w 2—K N1
St M N2
I 4018 A |
! x| > ;? ?
Fig. 2 R i /é
Y
25 W
M DN2
DIMENSIONAL TABLE
Dimensions [mm] Weight
Model DN|P1|K1|D1|S1| Z |DN|P2|K2 D2 |S2Fig H |H1|H2 H3| R W M|N1/N2|/A B |C|X|Y|K W V2 [kg]
0 0 0|0 [][21 9 0 0|0 *

32-125/0.25 |50 95 |125|165| 16
32-160/0.37R | 50| 95 |125/165| 16
32-160/0.37 | 50| 95 |125|165| 16
32-200/0.55R | 50| 95 |125/165| 16
32-200/0.55 | 50| 95 |125]165| 16
32-200/0.75 | 50| 951125/165| 16
40-125/0.37R | 65]115|145|185| 16
40-125/0.37 | 65|115|145185| 16
40-160/0.55R | 65]115|145|185| 16
40-160/0.55 | 65]115|145|185| 16
40-200/1.1R | 65|115|145]185| 16
40-200/1.1 65 [115(145/185| 16
40-200/1.5 651115145185 16
50-125/0.55R | 65]115/145/185| 16
50-125/0.55 | 65|115/145|185| 16
50-160/1.1R | 65/115/145/185| 16
50-160/1.1 65[115/145/185| 16
50-200/1.5R | 65|115|145|185| 16
50-200/1.5 65]115/145/185| 16
65-125/0.55 | 80 134|160/200| 18
65-125/0.75 | 80| 134|160]200| 18
£5-125/1.1 801134160/ 200| 18
65-160/1.1 80134/ 160/ 200 18
65-160/1.5 801134]160/200| 18

32| 751100]140[14
32| 751100/140/14
32| 75 1100]140/14
32| 75 (100/140/14
32| 75/100/140/14
32| 75 1100{140/14
40| 80 [110]150/14
40| 80 [110[150/14
401 80 1110/ 150| 14
40| 80 1110/ 150| 14
40| 80 |110]150| 14
40| 80 |110]150{14
40180 |110/150/14
50| 95 |125/165/16
50| 95 |125|165/16
50| 95 |125(165/16
50| 95 [125]165/16
50| 95 [125]165/16
50 95 1125/165/16
66]115]145/185/16
65]115/145/185/16
65]115/145/185|16
65]115/145]185/16
651115]145]/185/16

252|112|140/114] 80 | 70 |114]140]190|213/404|153|112|140| 8 |M20x1.5|M16x1.5|15.4
292|132|160|114] 80 | 70 |118/190|240|254|404/153|112|140| 8 |M20x1.5|M16x1.5|18.5
292|132/160| 114 80 | 70 118|190/240|254|404/ 153|112 140| 8| M20x1.5|M16x1.5|18.7
340|160/ 180|139 80 | 70 |119]190/240|296|430| 174|140/ 168|10 M25x1.5|M20x1.5|28.0
340|160/ 180(139| 80 | 70119 190/240/296/430| 174|140/ 16810 M25x1.5| M20x1.5|33.0| -
340]160/ 180|139 80 | 70| 119]190/240| 296|430 174|140/ 16810 M25x1.5|M20x1.5/29.5/29.5
252112/ 140]114] 80 | 70/114/160|210/213]404| 153| 112] 140| 8| M20x1.5|M16x1.5|16.2| -

252|112/ 140|114] 80 | 70| 114/ 160|210/ 213]404| 153| 112| 140| 8| M20x1.5| M16x1.5|16.2
292/132/160| 139| 80 | 70| 118| 190| 240| 254| 430| 174] 140] 168|10 M25x1.5| M20x1.5| 23.5
292|132/ 160|139| 80 | 70| 118] 190| 240 254| 430| 174|140| 168/10 M25x1.5| M20x1.5|23.5| -
340/ 160] 180|148| 100| 70| 115|212| 265| 296| 497| 186|140 168 |10/ M25x1.5|M20x1.5|34.3|32.1
340/160/180148/100| 70 | 115|212|265|296|497|186|140|168|10 M25x1.5|M20x1.5|34.3|32.1
340/160/180/1481100| 70 | 115]2121265|296/497| 186|140/ 168|10 M25x1.5|M20x1.5/35.5|32.9
292|132/160|139/100| 70 |114]190/240|254|450| 174|140/ 16810 M25x1.5|M20x1.5|23.7| -

292|132/160|139/100| 70 |114]190/240|254|450| 174|140/ 16810 M25x1.5|M20x1.5|23.7| -
340|160/ 180|148/100| 70 |115]212|265|296|497| 186|140/ 168|10 M25x1.5|M20x1.5/34.0/31.8
340|160/ 180|148/100| 70 |115]212|265| 296|497 186|140|168|10 M25x1.5|M20x1.5/34.0/31.8
360] 160/200|148/100| 70 | 115]212|265|296|497| 186|140 168|10 M25x1.5|M20x1.5/37.1]34.5
360|160/ 200 148100 70 115/212]265/296|497| 186| 140| 168/10 M25x1.5/ M20x1.5(37.1/34.5
340]160| 180|139] 100| 95| 140/ 212|280 254|450| 174|140| 168/10 M25x1.5|M20x1.5|21.5| -
340]160| 180] 139] 100| 95| 140| 212| 280 254| 450| 174|140| 168|10 M25x1.5|M20x1.5| 30.0/30.0
340]160| 180] 148] 100| 95| 140| 212| 280 254| 497| 186| 140| 168|10 M25x1.5| M20x1.530.0|27.8
360/ 160| 200/ 148| 100] 95 | 140 212| 280| 296| 497| 186/ 140| 168|10 M25x1.5|M20x1.5|31.0|28.8
360] 160|200 148|100 95 [140/212]280|296|497|186|140|168 |10/ M25x1.5|M20x1.5|43.0/40.4

‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

[ec]lec]le)[e ] (o] FNNEN NN NN NN NI I NI

NN NP NP NN NN N PO | — | [ | | = | = | = | = [ — | —

Bl ENES R )

[1] Standard [2] On request
* Models with IE3 motor only

Japanese Technology since 1912 108 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)S4 50, 65 - 2.2 + 3 kW 4 Poles
548
D2
P2
DN2 M25x1.5 296
& M20x1.5 Z-#18
B o
s ljf ] H
X/
P S D Q &
f W SN
140 225 4-¢15
N1
4-o11 N2
_\
4+ ¥
185
H#——+ 8§
DIMENSIONAL TABLE
Dimensions [mm] Weight
Model DN1 | P1 K1 D1 $1 Z DN2 | P2 K2 D2 H H1i H2 w M N1 N2 [kg]
9 %] g 7] [1] [2] ) 9 g g *
50-200/2.2 65 | 115 | 145 | 185 | 16 4 - 50 95 | 125 | 165 | 360 | 160 | 200 | 70 | 115 | 212 | 265 | 43.0 | 434
65-160/2.2 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 | 185 | 360 | 160 | 200 | 95 | 140 | 212 | 280 | 46.0 | 464
65-200/2.2R| 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 | 185 | 405 | 180 | 225 | 95 | 140 | 250 | 320 | 425 | 429
65-200/2.2 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 | 185 | 405 | 180 | 225 | 95 | 140 | 250 | 320 | 43.0 | 434
65-200/3 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 | 185 | 405 | 180 | 225 | 95 | 140 | 250 | 320 | 485 | 485

[1] Standard [2] On request
* Models with IE3 motor only

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.

Japanese Technology since 1912 109 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3LS4 65-250, 80-160/200/250 - up to 7.5 kW 4 Poles
D2
P2 Al A2
DN2 Vi

H3

D1
P1
DNt
L
1
|
'E N
I
i
9|6

T
(i
N

Il
(L

§

I
H5

’ i ’ ; ; !
w 4-¢D3 M1
\

L5

L2

DIMENSIONAL TABLE

Model Dimensions [mm] Weight [kg]
DN1/P1|K1/D1/S1| DN2 |P2|D2|S2| H |H1|H2 H3H4H5 R |W N1|N2/M M1| L |L1|L2|L5/A1|A2| B|C|F1|G[D3 V1 V2 *
65-250/4 80 [135160200 22 65 Fig. 1]120/185/2045020025017115|88 [100,120280:360160| 80 [1471265290/187175[182680215| 20 22519 |M25x1.5 |M20x1.5| 85.0 | 90.6
65-250/5.5 | 80 135160200 22 165 Fig. 11120/185/201450200250/198/15/68 [100/120280360/160| 80 |157315340228175[182637/264, 46 24819 M32x1.5 | M32x1.5/108.0 | 118.0
80-160/2.2R [ 100 15518022524 180 Fig. 2|135200/22 405[180225/155/13|80 [125] 95 25082011 25| 65 [140250275(190/147[173573205 25 [19615 | M25x1.5 |M20x1.5| 69.7 | 70.1
80-160/2.2 | 100 [155[180225/24 180 Fig. 2|135200|22 405[1801225(155|13|80 [125] 95 25082011 25| 65 |140250275190/147173573205 25 [196]15 | M25x1.5 |M20x1.5| 70.0 | 70.4
80-200/3 1001155/180R25|24 180 Fig. 2[135200221430[1802501155|13|80[125| 95 1280345(125| 65 [140250275[190175(182583215| 25 196|115 [M25x1.5 |M20x1.5| 80.0 | 80.0
80-200/4R | 100 (15518022524 80 Fig. 2113520022 430[180250/171|13|68 [125]95 280345[125| 65 [157315340228[175[182605198|46 22515 |M25x1.5 [M20x1.5 | 84.0 | 89.6
80-200/4 100[155/180R25|24 80 Fig. 2[135[200|22430[180250171|13|68125| 95 280345(125| 65 [157315340228[175/182605(198| 46 225|115 [M25x1.5 |M20x1.5{ 90.0 | 95.6
80-250/5.5R ]100 [155[180225|24 180 Fig. 213520022 48020028019815 |68 [125[120815400/160 80 [157315340228/175[192662264(46 248|119 |M32x1.5 |M32x1.5114.0 |124.0
80-250/5.5 | 100 (15518022524 80 Fig. 2[135200/22 #80200280/198|15 |68 [125[1 20815400160/ 80 [157315340228[175192662064|46 P48/19 |M32x1.5|M32x1.5|115.0 | 125.0
80-250/7.5 100 [155/18022524 80 Fig. 2/135200]22 480200280/198|15 |68 [125[120815400/160| 80 [157315B40228[175[192[702264] 46 248 19|M32x1.5|M32x1.5| - [134.0

* Models with IE3 motor only

‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

Japanese Technology since 1912 110 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3LS4 80-160/1.5 4 Poles
8 200
8 135 147 173
DN8O
~ M25x1.5 2-63/8
o~
: M20x1.5 8018 /
I /
iy g
- @ SN\ -
JER == : A g
s o 3 l = N v180
P S 8
o 2
Ly . A?’A‘
24 'l 11
95 15 4-615 65
I
125 250
125 186 320
522

9 3
Weight 3LS4 80-160/1.5: - =
IE2= 60.5 kg
IES=57.9 kg

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.

Japanese Technology since 1912 111 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)P4 32, 40, 50, 65 - up to 65-200 4 Poles
B
D2 Bt
P2
DN2
R A
St Jr—i +,
- o j g
3 & & < -
I—\._, "
\ : . oy Z-918 o~ EQ =

Solo per ——[ ' 3
32-125/0.25

32-160/0.37 ‘

32-200/0.55/0.75 360 3 4-915 0 N3

40-125/0.37
40-160/0.55 80 E N1

4918 E\/_
il
§&

DN2

DIMENSIONAL TABLE

Dimensions [mm] Weight
Model |DN1|/P1 |K1|D1|S1| Z |DN2/P2 K2 D2|S2| H H1|H2|H3 | R| A | B |B1|E N1 N2/N3|T Vi V2 [kg]
0 0. 0.0 21 0 O 90 O *
32-125/0.25 | 50 | 95 |125/165| 16 - 132175 (100|140| 14 |302|112{140|114| 80 |213|689|246|550|300|340|250|710 | M20x1.5 [M16x1.5| 37.0
32-160/0.37R | 50 | 95 |125[165] 16 32 | 75 [100[140] 14 [342|132|160|114| 80 | 254 |689|246|510|350|390| 300|670 | M20x1.5 |[M16x1.5| 41.0
32-160/0.37 | 50 | 95 |125(165| 16 32 | 75 1100/ 140| 14 |342|132|160|114| 80 | 254 689|246 /510350390 300|670 | M20x1.5 | M16x1.5| 41.0
32-200/0.55R | 50 | 95 |125(165| 16 32| 751100/ 140 14 |390]160|180|139| 80 |296|715|272|510/350|390| 300|670 | M25x1.5 | M20x1.5| 53.5
32-200/0.55 | 50 | 95 |125(165| 16 32| 751100/ 140| 14 [390]160|180|139| 80 |296|715|272|510|350/390| 300|670| M25x1.5| M20x1.5| 53.5 | -
32-200/0.75 | 50 | 95 |125|165| 16 32| 751100/ 140] 14 13901160|180]139| 80 | 296|715|272|510| 350, 390| 300, 670 M25x1.5| M20x1.5| 54.5 | 54.5
40-125/0.37R | 65 | 115145/ 185| 16 40 | 80 | 110/ 150{ 14 |302|112[140| 114 80 [213|689|246|550|300|340|250| 710| M20x1.5 | M16x1.5| 46.5 | -
40-125/0.37 | 65 |115]145185| 16 40 | 80 | 110/ 150| 14 |302]112]140|114| 80 | 213|689| 246|550| 300, 340| 250 710| M20x1.5| M16x1.5| 46.5
40-160/0.55R | 65 |115]145]185| 16 40| 80 | 110| 150| 14 |342|132|160|139| 80 | 254|715|272|510|350| 390| 300| 670| M25x1.5| M20x1.5| 44.5
40-160/0.55 | 65 |115(145/185| 16 40 | 80 | 110] 150| 14 342|132/ 160|139| 80 |254|715|272|510]350| 390| 300| 670| M25x1.5| M20x1.5| 445 | -
40-200/1.1R | 65 | 115]145|185| 16 40| 80 | 110| 150| 14 1390/ 160|180|148| 100|296 780| 317|590 350| 390| 300| 750| M25x1.5| M20x1.5| 61.5 | 59.3
40-200/1.1 65| 115| 145| 185| 16 40| 80 | 110| 150| 14 1390|160 180| 148| 100|296 780| 317| 590| 350| 390| 300| 750 M25x1.5| M20x1.5| 61.5 | 59.3
40-200/1.5 65 [115]145/185] 16 40 | 80 [110/150] 14 [390(160|180|148]100]296/780|317/590350/390300 750 | M25x1.5 |M20x1.5| 64.0 | 61.4
50-125/0.55R | 65 [115]145(185| 16 50 | 95 [125[165| 16 |342(132|160|139|100|254 |735|272 1510|350 (390300670 | M25x1.5 |M20x1.5| 45.0 | -
50-125/0.55 | 65 [115]145(185| 16 50 | 95 |125|165| 16 |342{132|160|139|100|254|735|272|510|350|390| 300|670 | M25x1.5 |M20x1.5| 45.0 | -
50-160/1.1R | 65 [115]145(185| 16 50 | 95 |125/165| 16 |390|160|180|148|100|296|780|317|590|350/390| 300|750 | M25x1.5 | M20x1.5| 52.5 | 50.3
50-160/1.1 65 |115]145/185| 16 50 | 95 |125/165| 16 |390|160|180|148]100|296|780|317]590|350 390|300 750 | M25x1.5 | M20x1.5| 52.5 | 50.3
50-200/1.5R | 65 [115]145(185| 16 50 | 95 1125/165| 16 |410]160]200|148]100|296|780|317|590|350390| 300|750 | M25x1.5 | M20x1.5| 64.0 | 61.4
50-200/1.5 65 115|145/ 185| 16 50| 95 1125/165| 16 |410]160|200|148|100|296|780| 317|590| 350 390| 300| 750| M25x1.5 | M20x1.5| 64.0 | 61.4
50-200/2.2 65 115/145/185| 16 50| 95 125/ 165) 16 |410]160]200] 155]100|296|829|366|590| 350/ 390] 300 750| M25x1.5| M20x1.5| 70.0 | 70.4
65-125/0.55 | 80 |134]160|200| 18 65 | 115]145|185| 16 1390/ 160| 180| 139| 100|254 |735|272|510| 350|390 300| 670| M25x1.5| M20x1.5| 48.5 | -
65-125/0.75 | 80 |134]160|200| 18 65 | 115| 145|185 16 |390|160| 180| 139] 100|254 | 735|272|510| 350| 390| 300| 670| M25x1.5| M20x1.5| 48.5 | 48.5
65-125/1.1 80 | 134] 160|200| 18 65 | 115| 145|185 16 |390|160| 180| 148| 100|254 | 780| 317|590 350| 390| 300| 750| M25x1.5| M20x1.5| 56.0 | 53.8
65-160/1.1 80 | 134] 160| 200| 18 65 | 115| 145| 185| 16 | 410|160/ 200| 148| 100|296 780| 317|590 350| 390| 300| 750| M25x1.5| M20x1.5| 62.5 | 60.3
65-160/1.5 80 | 134] 160| 200| 18 65 | 115]145|185| 16 |410| 160| 200| 148 100|296/ 780| 317|590| 350| 390| 300| 750| M25x1.5| M20x1.5| 63.5 | 60.9
65-160/2.2 80 | 134]160|200| 18 65 |115]145]185| 16 |410|160/200| 155100296 |829|366 | 590 | 350 390|300 | 750 | M25x1.5 [ M20x1.5| 71.5 | 71.9
65-200/2.2R | 80 |134|160|200| 18 65 [115]145/185| 16 |455|180|225|155|100|296 /829|366 590 | 380|420 330|750 | M25x1.5 |[M20x1.5| 74.0 | 74.4
65-200/2.2 80 [134/160(200| 18 65 [115/145]185| 16 [455/180|225|155|100|296 | 829|366 |590|380 420|330 750 M25x1.5 | M20x1.5| 74.0 | 74.4
65-200/3 80 [134]160/200| 18 65 1115/145/185| 16 [455]180]225]155]100|296|829|366|590|380420| 330|750 | M25x1.5 | M20x1.5| 77.5 | 77.5

[1] Standard [2] On request
* Models with IE3 motor only

[
—
—

‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

[ee)[ee)[e'e]lo's)[e c)[e e (e c]l[cc)[c ] FNNENE NN NN NE-NEN NN NI NI NI NN IR NS E

ENENENIN NN TN EN

Japanese Technology since 1912 112 Commercial



3 - 3L SERIES

. CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

3LP4 65-250, 80 4 Poles

D1
P1
T
|
\
J_l_L

h= =
u\‘ 3
EL? a P I-a
R C 4-9D4
D E
T N2

DIMENSIONAL TABLE

Model Dimensions [mm] Weight [kg]

DN1/P1 | D1[{S1| DN2 |P2/D2{S2| H |H1 /H2 H3|H4 H5 R N1[N2/ N3/ B |B1/C/ D|/G | E|T| D4 Vi V2 *
65-250/4 | 80 [135/200] 22 |65 Fig. 1]120{185| 20 |510|200|250|171)| 60 | 88 [100|510|570|440|961|388|470/100|225(760|960| 19 M25x1.5| M20x1.5|113.5[119.1
65-250/5.5 | 80 [135/200] 22 |65 Fig. 1/120/185| 20 15102001250/198| 60 | 68 [100/510/570/440/1015/442|470/100|248(760/960| 19 M32x1.5| M32x1.5130.0/140.0
80-160/1.5 |100[155|225| 24 |80 Fig. 2/135/200| 22 |455|180|225|148| 50 | 90 [125|380|420|330|805|317|360| 80 | 180({590|750| 15 M25x1.5| M20x1.5 | 80.0 | 77.4
80-160/2.2R[100[155|225| 24 |80 Fig. 2/135/200| 22 [455]180|225(155| 50 | 80 [125]380|420|330|854 |366|360| 80 | 196(590|750| 15 M25x1.5 M20x1.5 | 86.0 | 86.4
80-160/2.2 |100[155|225| 24 |80 Fig. 2/135/200| 22 |455|180|225|155| 50 | 80 [125|380|420|330| 854 |366|360| 80 | 196(590|750| 15 M25x1.5] M20x1.5 1100.5/100.9
80-200/3  |100[155|225| 24 |80 Fig. 2/135/200| 22 |490|180|250(155| 60 | 80 [125]460|520|390| 964 |366|470/100|196(700{900| 19 M25x1.5| M20x1.5 1109.5|109.5
80-200/4R |100[155|225| 24 |80 Fig. 2/135/200| 22 |490|180|250(171| 60 | 68 [125]460|520|390| 986 |388|470/100|225(700]900| 19 M25x1.5| M20x1.5 |116.5|122.1
80-200/4  |100[155|225| 24 |80 Fig. 2/135/200| 22 |490|180|250|171| 60 | 68 [125]460|520|390|986|388|470/100|225(700]900| 19 M25x1.5| M20x1.5117.0(122.6
80-250/5.5R[100[155|225| 24 |80 Fig. 2/135/200| 22 |540|200|280(198| 60 | 68 [125|510|570|440|1040442|470/100|248|760|960| 19 M32x1.5| M32x1.5|134.0[144.0
80-250/5.5 |100[155|225| 24 |80 Fig. 2/135/200| 22 |540|200|280(198| 60 | 68 [125|510|570|440(1040442|470/100|248(760|960| 19 M32x1.5| M32x1.5 |134.5|144.5
80-250/7.5 |100[155|225] 24 |80 Fig. 2/135/200| 22 |540|200]280(198| 60 | 68 [125]510|570/440|1080482]470/100]248(760]960| 19 M32x1.5/M32x1.6| - [157.5

* Models with IE3 motor only

oo|oo|oo|ao|oo|oo|cn|cn|o|oo|oo B

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.

Japanese Technology since 1912 113 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)PF4 32, 40, 50, 65 4 Poles
B 100 *,
D2
7-918
y N
hu
— I
(o]
T ©
DN1

3 R _
Fig. 2 ol o
£ T F L
B =
;2;
:
§ DIMENSIONAL TABLE
f:;ji’ Model . Dimensions [mm] Wekight
g Fig. DN1| P1 | K1 | D1 | 81 | [1] | [2] [DN2 P2 | K2 | D2 | 82 | H | Hl | H2 M | Nl N2 R | W A B [kal
2132-125 1 50 | 95 | 125|165 | 16 | 4 - |32 | 75 {100 | 140 | 14 | 252 | 112 | 140 | 114 | 140 | 190 | 80 | 70 | 213 | 440 | 17.0
g |32-160 1 50 | 95 | 125|165 | 16 | 4 32 | 75 1100 | 140 | 14 | 292 | 132 | 160 | 118 | 190 | 240 | 80 | 70 | 254 | 440 | 19.0
g 132-200 1 50 | 95 | 1251165 | 16 | 4 32 | 75 1100 | 140 | 14 | 340 | 160 | 180 | 119 | 190 | 240 | 80 | 70 | 296 | 440 | 27.0
%40—125 1 65 | 115 | 145 185 | 16 | 4 40 | 80 | 110 | 150 | 14 | 252 | 112 | 140 | 114 | 160 | 210 | 80 | 70 | 213 | 440 | 17.0
g 1 40-160 1 65 | 115 | 145 | 185 | 16 | 4 40 | 80 | 110 | 150 | 14 | 292 | 132 | 160 | 118 | 190 | 240 | 80 | 70 | 254 | 440 | 19.0
£140-200 2 | 65 | 1151145 1 185 | 16 | 4 40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 27.0
g 150-125 2 | 65 | 115|145 185 | 16 | 4 50 | 95 | 125 | 165 | 16 | 292 | 132 | 160 | 114 | 190 | 240 | 100 | 70 | 254 | 460 | 19.0
§/50-160 2 | 65 | 1151145 1185 | 16 | 4 50 | 95 | 125 | 165 | 16 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 28.0
£ 150-200 2 | 65 | 115 1145 | 185 | 16 | 4 - | 50 | 95 [ 125 | 165 | 16 | 360 | 160 | 200 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 27.0
65-125 2 | 80 | 134 1160 | 200 | 18 | 8 4 | 65 | 115|145 | 185 | 16 | 340 | 160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 460 | 28.0
65-160 2 | 80 | 134 /160 | 200 | 18 | 8 4 | 65 | 115|145 | 185 | 16 | 360 | 160 | 200 | 140 | 212 | 280 | 100 | 95 | 296 | 460 | 29.0
65-200 2 |8 | 1341160 200 | 18 | 8 4 | 65 | 1151145 | 185 | 16 | 405 | 180 | 225 | 140 | 250 | 320 | 100 | 95 | 296 | 460 | 30.0

* Space where it is possible to disassemble the pump with spacer joint without disassembling the motor.
[1] Standard
[2] On request

Japanese Technology since 1912 114 Commercial



3LPF4 65-250, 80

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

4 Poles

S

D1

P1

_DN1_,

120 *

14

110

160

8-¢18

H2

H3

H1

4-¢D3

M1

DIMENSIONAL TABLE

Model

DN1

P1

K1

D1

DN2

P2

D2

S2

H

H1

H2

Dimensions [mm]

H3

R

w

N1

M1

L1

D3

Al

A2

Weight
[ka]

65-250

80

135

160

200

65 Fig. 1

120

185

20

450

200

250

15

100

120

280

360

160

130

32

10

35

175

182

570

340

82.0

80-160

100

165

180

225

80 Fig. 2

135

200

22

405

180

225

13

125

95

250

320

125

65

100

50

24

15

27

147

173

485

260

56.0

80-200

100

165

180

225

80 Fig. 2

135

200

22

430

180

250

13

125

95

280

345

125

65

130

80

32

15

10

35

175

182

595

340

83.0

80-250

100

156

180

225

80 Fig. 2

136

200

22

480

200

280

15

125

120

315

400

160

80

130

80

32

19

10

35

175

192

595

340

84.0

* Space where it is possible to disassemble the pump with spacer joint without disassembling the motor.

Japanese Technology since 1912

Commercial

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
JOINT FOR 3(L)S4 SERIES 4 Poles
L
b Set of screws UNI EN ISO 4029
- S H—h M
! L1 |
< : I e e R T e —
DIMENSIONAL TABLE
. Dimensions [mm]
Model [HP] | [KW] |Motorsize| 4 di d2 d3 M L L1 b h | Screws
32-125/0.25 0.33 0.25 71 19 2 14 28 | Mi6x1.5 | 88 33 5 16.3 M5x6
32-160/0.37R 05 0.37 71 19 2 14 28 | M16x1.5 | 88 33 5 16.3 M5x6
32-160/0.37 05 0.37 7 19 22 14 28 | M16xi.5 | 88 33 5 16.3 M5x6
32-200/0.55R 0.75 0.55 80 19 2 19 33 | M16xi.5 | 98 43 6 218 M6x6
32-200/0.55 0.75 0.55 80 19 2 19 33 | M16x1.5 | 98 43 6 21.8 M6x6
32-200/0.75 1 0.75 80 19 22 19 33 | Mi6xi.5 | 98 43 6 218 M6x6
40-125/0.37R 05 0.37 71 19 22 14 28 | Mi6xi.5 | 88 3 5 16.3 M5x6
40-125/0.37 0.5 0.37 71 19 22 14 28 | M16x1.5 | 88 33 5 16.3 M5x6
40-160/0.55R 0.75 0.55 80 19 22 19 33 | M16x1.5 | 98 43 6 21.8 M6x6
40-160/0.55 0.75 0.55 80 19 22 19 33 | M16x1.5 | 98 43 6 21.8 M6x6
# [40-200/1.1R 15 1.1 90 19 22 24 39 | M16x1.5 | 110 53 8 27.3 M8x8
2 [40-200/1.1 15 11 90 19 22 o4 39 | M16x1.5 | 110 53 8 27.3 M8x8
< [40-200/1.5 2 15 90 19 22 o4 39 | M16d.5 | 110 53 8 27.3 M8x8
£ [50-125/0.55R 0.75 0.55 80 19 22 19 33 | Mi6x15 | 98 43 6 218 M6x6
§ [50-125/0.55 0.75 0.55 80 19 22 19 33 | Mi6x1.5 | 98 43 6 218 M6x6
¢ [50-160/1.1R 15 1.1 90 19 2 24 39 | Mi6x1.5 | 110 53 8 27.3 M8x8
£ [50-160/1.1 15 11 90 19 2 24 39 | Mi16d.5 | 110 53 8 27.3 M8x8
£ [50-200/1.5R 2 15 90 19 2 24 39 | Mi6xd.5 | 110 53 8 273 M8x8
£ [50-200/1.5 2 15 90 19 2 24 39 | Mi6x.5 | 110 53 8 27.3 M8x8
£ 50-200/2.2 3 2.2 100 2 2 28 43 | M18d.5 | 153 63 8 31.3 M8x8
£ [65.125/0.55 0.75 0.55 80 19 2 19 33| Mi6x1.5 | 98 43 6 21.8 M6x6
= 165-125/0.75 1 0.75 80 19 2 19 33 | Mi6x1.5 | 98 43 6 2138 M6x6
2| 65-125/1.1 15 1.1 90 19 2 24 39 | Mi6x1.5 | 110 53 8 7.3 M8x8
2165-160/1.1 15 11 90 19 2 24 39 | Mi6x1.5 | 110 53 8 273 M8x8
£ 65-160/1.5 2 15 90 19 2 24 39 | Mi6x1.5 | 110 53 8 073 M8x8
5 65-160/2.2 3 2.2 100 19 2 28 43 | MI6x1.5 | 122 63 8 313 M8x8
= 65-200/2.2R 3 2.2 100 19 2 28 43 | MI6x1.5 | 122 63 8 313 M8x8
| [65-200/2.2 3 2.2 100 19 2 28 43 | MI6x1.5 | 122 63 8 313 M8x8
% [65-200/3 4 3 100 19 22 28 43 | M16xi.5 | 122 63 8 313 M8x8
£ 65-250/4 55 4 112 24 30 28 43 | M20xi5 | 128 63 8 313 M8x8
£ 65-250/55 75 55 132 o4 30 38 58 | M20xi.5 | 151 84 10 413 M8x8
= [80-160/1.5 2 15 90 19 2 24 39| Mi6x1.5 | 110 53 8 273 M8x8
¢ [80-160/2.2R 3 2.2 100 19 22 28 43 | M16xi.5 | 122 63 8 313 M8x8
- [80-160/2.2 3 2.2 100 19 22 28 43 | M16xi5 | 122 63 8 31.3 M8x8
£'80-200/3 4 3 100 24 30 28 43 | M20xi5 | 128 63 8 313 M8x8
£ [80-200/4R 55 4 112 24 30 28 43 | M20xi5 | 128 63 8 313 M8x8
% [80-200/4 55 4 112 24 30 28 43 | M20x15 | 128 63 8 31.3 M8x8

80-250/5.5R 75 55 139 24 30 38 58 | M20x15 | 151 84 10 413 M8x8

80-250/5.5 75 55 132 24 30 38 58 | M20x1.5 | 151 84 10 413 M8x8

80-250/7.5 10 75 132 24 30 38 58 | M20x1.5 | 151 84 10 413 M8x8

Japanese Technology since 1912 116 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
JOINT FOR 3(L)P4 SERIES 4 Poles
b1 3 # b2

Tl 78 \Al - AN < dh

SNy TRl

PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE

DIMENSIONAL TABLE
Dimensions [mm]

Model [HP] [kW] Motor d1 b1 hi a2 b2 h2
32-125/0.25 0.33 0.25 7 24 8 27.3 14 5 16.3
32-160/0.37R 05 0.37 14l 24 8 27.3 14 5 16.3
32-160/0.37 05 0.37 71 24 8 27.3 14 5 16.3
32-200/0.55R 0.75 0.55 80 24 8 27.3 19 6 21.8
32-200/0.55 0.75 0.55 80 24 8 27.3 19 6 21.8
32-200/0.75 1 0.75 80 24 8 27.3 19 6 21.8
40-125/0.37R 05 0.37 71 24 8 27.3 14 5 16.3
40-125/0.37 05 0.37 71 24 8 27.3 14 5 16.3
40-160/0.55R 0.75 0.55 80 24 8 27.3 19 6 21.8
40-160/0.55 0.75 0.55 80 24 8 27.3 19 6 21.8
40-200/11.1R 1.5 1.1 90 24 8 27.3 24 8 27.3
40-200/1.1 1.5 1.1 90 24 8 27.3 24 8 27.3
40-200/1.5 2 1.5 90 24 8 27.3 24 8 27.3
50-125/0.55R 0.75 0.55 80 24 8 27.3 19 6 21.8
50-125/0.55 0.75 0.55 80 24 8 27.3 19 6 21.8
50-160/1.1R 1.5 1.1 90 24 8 27.3 24 8 27.3
50-160/1.1 1.5 1.1 90 24 8 27.3 24 8 27.3 .
50-200/1.5R 2 1.5 90 24 8 27.3 24 8 27.3 g
50-200/1.5 2 1.5 90 24 8 27.3 24 8 27.3 s
50-200/2.2 3 2.2 100 24 8 27.3 28 8 31.3 £
65-125/0.55 0.75 0.55 80 24 8 27.3 19 6 21.8 g
65-125/0.75 1 0.75 80 24 8 27.3 19 6 21.8 2
65-125/1.1 1.5 1.1 90 24 8 27.3 24 8 27.3 2
65-160/1.1 1.5 1.1 0 24 8 27.3 24 8 27.3 B
65-160/1.5 2 1.5 0 24 8 27.3 24 8 27.3 g
65-160/2.2 3 2.2 100 24 8 27.3 28 8 31.3 3
65-200/2.2R 3 2.2 100 24 8 27.3 28 8 31.3 ¢
65-200/2.2 3 2.2 100 24 8 27.3 28 8 31.3 S
65-200/3 4 3 100 24 8 27.3 28 8 31.3 g
65-250/4 55 4 112 32 10 35.3 28 8 31.3 il
65-250/5.5 75 55 132 32 10 35.3 38 10 41.3 <
80-160/1.5 2 1.5 0 24 8 27.3 24 8 27.3 a8
80-160/2.2R 3 2.2 100 24 8 27.3 28 8 31.3 §
80-160/2.2 3 2.2 100 24 8 27.3 28 8 31.3 g
80-200/3 4 3 100 32 10 35.3 28 8 31.3 §
80-200/4R 55 4 112 32 10 36.3 28 8 31.3 8
80-200/4 55 4 112 32 10 35.3 28 8 31.3 %
80-250/5.5R 75 55 132 32 10 35.3 38 10 41.3 E
80-250/5.5 75 55 132 32 10 35.3 38 10 41.3 £
80-250/7.5 10 75 132 32 10 35.3 38 10 41.3 3

2

Japanese Technology since 1912 117 Commercial



‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3(L)M4 32, 40, 50, 65 SERIES 4 Poles
1 4 26 72 56 16 17 58 6 12 21
A
7 1
T | i 14
. A i ® ! e
X )
! — o —— 93
3 g o [ / B
DT = i N A S FEa
~ H
3 S T I E
=a S =
L \
| ol \\ ;
25 200 11 3 235 18 19 22 42 20 13
MATERIALS TABLE
Ref. Name Materials
3M4 3LM4
001 | Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor bracket 2]
004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 | Shaft (part in contact with the liquid) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 | moster 32, 40, 50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
P 65-125/160/200 EN 1.4401 (AISI 316)
011 | Mechanical seal Carbon/Ceramic/NBR Silicon Carbide/Silicon Carbide/FKM
012 | Motor frame -
013 | Motor cover Aluminium
014 |Fan PA
015 | Fan cover Galvanised steel Fe P04
016 | Terminal Box -
017 | Terminal Box cover Aluminium (three phase version)
018 | Splash washer NBR
019 | Bearing (pump side)
020 | Bearing (motor side) -
021 | Adjustment ring Steel C70
022 | Tie-rod Galvanised steel Fe 42
025 | Plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR FKM
032 | Key EN 1.4401 (AISI 316)
034 | Impeller nut EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
042 | Motor support Aluminium / Galvanised steel
056 | Terminal box cover gasket
058 | Cable gland
072 | Casing ring [1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 | Casing ring EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
092 | Sealring - -
093 | Sealring
200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1
235 | Washer EN 1.4301 (AISI 304)

[1]= For 32-200, 40-200, 50-160 , 50-200 versions
[2]= Cast iron EEN-GJL-200-EN 1561 per 32-200/3 and for models with 15, 18.5 and 22 KW motors
Aluminium AL-EN-1706-AC-46000-D for the other models

Japanese Technology since 1912

Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LM4 80-160 SERIES 4 Poles
17 34 32 11 4 26 3 5 16 17 58 6 12 13 14 15 75 24 77

Z

M

U7
N

i

25 76 78 235 200 92 19 201 42 22 20 21 93

[1]= EPDM for E version

200A
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 025 | Plug EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 026 | O-Ring FKM o
004 | Gasing cover EN 1.4404 (AISI 316L) 032 | Key EN 1.4404 (AISI 316L) g
006 | Shaft PartEm gbﬁ%t (\/z/l%| t3h1e6||i_24uid 034 | Impeller nut EN 1.4404 (AISI 316L) g
007 | Impeller EN 1.4401 (AISI 316) 042 | Motor support Aluminium g
011 | Mechanical seal Silicon Carbide/Silicon Carbide/FKM | 056 | Terminal box cover gasket NBR 2
012 | Motor frame - 058 | Cable gland - 2
013 | Motor cover Aluminium 075 | Washer EN 1.4404 (AISI 316L) E
014 | Fan PA 076 | Washer EN 1.4404 (AISI 316L) g
015 | Fan cover Galvanised steel Fe P04 077 | O-Ring FKM [1] 8
016 | Terminal Box - 078 [O-Ring 4
017 | Terminal Box cover Aluminium 092 | Sealring E
019 | Bearing (pump side) - 093 | Sealring - g
020 | Bearing (motor side) - 200 | Screw (pump body) Stainless steel A2-70/1 class 1SO 3506/1 &
021 | Adjustment ring Steel C70 201 | Foot screw Stainless steel A2-70/1 class 1SO 3506/1) 5
022 | Tie-rod Galvanised steel Fe 42 235 | Washer EN 1.4301 (AISI 304) 8
024 | Plug EN 1.4404 (AISI 316L) §
2

Japanese Technology since 1912 119 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3LM4 65-250, 80 SERIES 4 Poles
1 1 4 26 4A 3 56 16 17 58 6 12 13 14 15 75 24 77
M T
| /

r -

W

34 7 32 25 76 78 244 18 235200 92 19 22 101 201 42 220 20 21 93

E

,«g MATERIALS TABLE

£ [_Ref. Name Materials Ref. Name Materials

£ 001 | Pump casing EN 1.4401 (AISI 316) 032 | Key EN 1.4404 (AISI 316L)
2| 003 [ Motor bracket Cast iron EN-GJL-200-EN 1561 034 | Impeller nut Aluminium

g | 004 | Casing cover EN 1.4401 (AISI 316) 042 | Motor support Aluminium

‘§ 004A | Casing cover screw EN 1.4301 (AISI 304) 056 | Terminal box cover gasket NBR

E EN 1.4404 (AISI 316L)

& 006 | Shaft Part in contact with the liquid 058 | Cable gland

w1007 | Impeller EN 1.4401 (AISI 316) 075 | Washer

= 011 | Mechanical sea Siicon Carbide/Siicon Carbide/FKM | 076 | Washer EN'1.4404 (AISI 316L)
5| 012 | Motor frame - 077 | O-Ring FKM [2]

g1 013 | Motor cover Aluminium 078 | O-Ring

% 014 |Fan .

= 015 | Fan cover Galvanised steel Fe P04 092 | Sealing (3-4 KW, 5.5 ki)

5| 016 | Terminal Box -

2| 017 | Terminal Box cover Aluminium 093 | Seal ring (3 kKW, 4 kW, 5.5 kW)

=| 018 | Splash washer NBR

£]_019 | Bearing (pump side) - 101 | Seeger ring (only for 5.5 kW) Carbon steel TC 80
3| 020 | Bearing (motor side) - 200 | Screw (pump body) Stainless steel A2-70/1 class ISO 3506/1
g 021 | Adjustment ring Steel C70 201 | Foot screw Stainless steel A2-70/1 class ISO 3506/1
=| 022 |Tie-rod Galvanised steel Fe 42 220 | Tie-rod nut Galvanised steel

£] 024 |Plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
2| 025 |Plug EN 1.4404 (AISI 316L) 244 | Plug [1] EN 1.4301(AISI 304)
& 026 |O-Ring FKM

[1]= Not for H, HW, HSW and E versions
[2]= EPDM for E version

Japanese Technology since 1912 120 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3(L)S4 32, 40, 50, 65-125/160/200 SERIES 4 Poles
1 4 26 72 44 3 206 12
\ |
\ r Y 1 re
1 /7 D\
| ] ]
! Y
7 TTH VT U -
73 | |_
Ty [ TN TN
! nnnnann 111 11
32 f o B
34—
! uuuuuuu 11 11
| DT T IXX
f\‘ rT|T1 _rT|T1. I_J g
! f f /
B | \ |
1 \\ 1
25 200 11 6 42
MATERIALS TABLE
Ref. Name Materials
354 3LS4
001 | Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) o
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 g
004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) £
006 | Joint - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 5
07 | imoeller 32, 40, 50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 2
P 65-125/160/200 EN 1.4401 (AISI 316) £
011 | Mechanical seal Carbon/Ceramic/NBR \ Silicon Carbide/Silicon Carbide/FKM 2
012 | Motor - E
025 | Plug EN 1.4401 (AISI 316) / PTFE g
026 | O-Ring NBR [2] \ FKM 8
032 | Key EN 1.4401 (AISI 316) g
034 | Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L) g
042 | Motor support Galvanised steel g
044 | Support protection EN 1.4301 (AISI 304) A
072 | Casing ring [1] not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) <
073 | Casing ring not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) @
200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1 §
206 | Screw Galvanised steel 2
[1]= For 32-200, 40-200, 50-160, 50-200 versions only é
[2] = FPM for H-HS-HW-HSW versions, EPDM for E version §
Japanese Technology since 1912 121 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LS4 80-160 SERIES 4 Poles
1T 34 7 32 4 26 1 3 44 75 24 77

25 76 78 235 200 6 42 12
200A
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 032 | Key EN 1.4401 (AISI 316)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 034 | Impeller nut EN 1.4404 (AISI 316L)
004 | Casing cover EN 1.4404 (AISI 316L) 042 | Motor support Galvanised steel
006 | Joint EN 1.4404 (AISI 316L) 044 | Support protection EN 1.4301 (AISI 304)
007 | Impeller EN 1.4401 (AISI 316) 075 | Washer
011 | Mecharical seal Siicon Carbide/Siicon Carbide/FKM | 076 | Washer EN'1.4404 (NIS1 3161
012 | Motor - 077 | O-Ring FKM [1]
024 | Plug EN 1.4404 (AISI 316L) 078 | O-Ring
025 | Plug EN 1.4404 (AISI 316L) 200 | Screw (pump body) Stainless steel A2-70/1 class ISO 3506/1
026 | O-Ring FKM [1] 235 | Washer EN 1.4301(AISI 304)

[1]= EPDM for E version

‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

Japanese Technology since 1912 122 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LS4 65-250, 80 SERIES 4 Poles

134 7 32 4 26 4A 11 3 3A 75 24 77

25 76 78 235 200 244 6 42 12

MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 032 | Key EN 1.4401 (AISI 316)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 034 | Impeller nut EN 1.4404 (AISI 316L)
003A | Adapter ring [1] Cast iron EN-GJL-200-EN 1561 042 | Motor bracket Galvanised steel
004 | Casing cover EN 1.4401 (AISI 316) 075 | Washer
004A | Casing cover screw disc EN 1.4301(AIS| 304) 076 | Washer EN'1.4404 (AISI 316L)
006 | Joint EN 1.4404 (AISI 316L) 077 | O-Ring FKM 3]
007 | Impeller EN 1.4401 (AISI 316) 078 | O-Ring
011 | Mechanical seal Silicon Carbide/Silicon Carbide/FKM 200 | Screw (pump body) Stainless steel A2-70/1 class ISO 3506/1
012 | Motor - 235 | Washer EN 1.4301(AISI 304)
024 | Plug EN 1.4404 (AISI 316L) 244 | Plug [2] EN 1.4301(AISI 304)
025 | Plug EN 1.4404 (AISI 316L)
026 ] O-Ring FKM [3]

[1] = For 65-250/5.5 kW only
[2]= Not for H-HW-HSW and E versions
[3]= EPDM for E version

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.

Japanese Technology since 1912 123 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3(L)P 32, 40, 50, 65-125/160/200 SERIES 4 Poles
1 4 26 72 92 89 6 20 33 6A 44 58 12
N£r L
7
73 \
32
34
|
/ i
25 200 1 3 66 19 4 67 93 42A 50
MATERIALS TABLE
Ref. Name Materials
Z 3P4 3LP4
£ 001 |Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
2| 003 | Motor bracket Cast iron EN-GJL-200-EN 1561
E| 004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
§ 006 | Shaft - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
£ | 006A | Flexible joint Cast iron EN-GJL-200-EN 1561
g 007 | imoelier 32, 40, 50 EN 1.4301 (AISI 304) \ EN 1.4404 (AIS| 316L)
g P 65-125/160/200 EN 1.4401 (AIS| 316)
g1 011 [ Mechanical seal Garbon/Ceramic/NBR \ Silicon Carbide/Silicon Carbide/FKM
£| 012 [Motor -
s| 019 [Bearing (pump side)
% 020 | Bearing (motor side) -
3| 025 |Plug EN 1.4401 (AIS| 316) / PTFE
%1 026 |O-Ring NBR [2] \ FKM
g 032 [Key EN 1.4401 (AISI 316)
=] 033 [Key C40
£ 034 |Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L)
7| 042 | Motor support Galvanised steel
%| 042A |Base Galvanised steel
g 044 | Protection Galvanised steel
£] 050 | Motor bracket Galvanised steel
g 058 |Nut -
=| 066 | Bearing cover Cast iron EN-GJL-250-EN 1561
£| 067 |Bearing cover Cast iron EN-GJL-250-EN 1561
S| 072 |Casingring [1] not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
& 073 | Casingring not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
089 | Seeger ring Carbon steel TC 80
092 |VRing -
093 | VRing -
200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1

[1]= For versions: 32-200, 40-200, 50-1602, 50-200
[2]= FPM for H-HS-HW-HSW versions and EPDM for E version

Japanese Technology since 1912 124 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LP4 80-160 SERIES 4 Poles

26
66 92 89 19 3 6 20 67 93

34—

32—

-

1—1

78 +

76

[1]= EPDM for E version
[2]= For 1.5 kW only

=

MATERIALS TABLE i%f
Ref. Name Materials Ref. Name Materials S
001 | Pump casing EN 1.4401 (AISI 316) 042 | Pump support Galvanised stee b
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 042A | Base Galvanised stee 3
004 | Casing cover EN 1.4404 (AISI 316L) 044 | Protection Galvanised steel <
006 | shaft EN 1.4404 (AISI316L) 050 | Motor bracket Galvanised stesl 2
Part in contact with the liquid 050C | Joint protection [2] Aluminium 2

006A | Flexible joint Cast iron EN-GJL-200-EN 1561 066 | Bearing cover Cast iron EN-GJL-200-EN 1561 5
007 | Impeller EN 1.4401 (AISI 316) 067 | Bearing cover Castiron EN-GJL-200-EN 1561 |2
011 | Mechanical seal Silicon Carbide/Silicon Carbide/FKM | 075 | Washer =
012 | Motor - 076 | Washer EN'1.4404 (AISI 3161) §
019 | Bearing (pump side) - 077 | O-Ring FKM [1] 3
020 | Bearing (motor side) - 078 | O-Ring g
024 | Plug EN 1.4404 (AISI 316L) 089 | Seeger ring Carbon steel TC 80 K
025 |Plug EN 1.4404 (AISI 316L) 092 |VRing - g
026 | O-Ring FKM [1] 093 |VRing - 2
032 | Key EN 1.4401 (AISI 316) 200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1 | £
033 | Key €40 200A | Screw Stainless steel A2 70 class ISO 3506/1 | =
034 | Impeller nut EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304) =
2

Japanese Technology since 1912 125 Commercial



‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3LP4 65-250, 80 SERIES 4 Poles
% %
“ 92 66 8 19 6 20 67 93 7
) 7
b RN
! ==l f[i]\
u ! |
32— IOY !
— . O !
7 !
4 H
7 !
» 1 244 3
7
235 200 42

B

MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 042 | Motor support Galvanised stegl
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 042A | Base Galvanised stegl
004 | Gasing cover EN 1.4401 (AISI 316) 044 | Protection Galvanised stegl
004A | Casing cover screw disc EN 1.4301(AISI 304) 050 | Motor bracket Galvanised stegl
EN 1.4462 (duplex steel . . -
006 | Shaft Part in oontac& wﬁh the qugjid 050C | Joint protection Aluminium
006A | Flexible joint Cast iron EN-GJL-200-EN 1561 066 | Bracket cover Cast iron EN-GJL-200-EN 1561
007 | Impeller EN 1.4401 (AISI 316) 067 | Bracket cover Cast iron EN-GJL-200-EN 1561
011 | Mechanical seal Silicon Carbide/Silicon Carbide/FKM 075 | Washer EN 1.4404 (AISI 316L)
012 | Motor - 076 | Washer EN 1.4404 (AISI 316L)
019 | Bearing (pump side) 077 | O-Ring FKM [2]
020 | Bearing (motor side) - 078 | O-Ring
024 | Plug EN 1.4404 (AISI 316L) 089 | Seeger ring Carbon steel TC 80
025 | Plug EN 1.4404 (AISI 316L) 092 | Sealring -
026 | O-Ring FKM [2] 093 | Seal ring -
032 | Key EN 1.4401 (AISI 316) 200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1
033 | Key C40 235 | Washer EN 1.4301 (AISI 304)
034 | Impeller nut EN 1.4404 (AISI 316L) 244 | Plug [1] EN 1.4301 (AISI 304)
[1]= Not for H and E versions
[2]= EPDM for E version
Japanese Technology since 1912 126 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3(L)PF4 32, 40, 50, 65 SERIES 4 Poles

92 66 89 19 6

[1]= For versions: 32-200, 40-200, 50-160, 50-200
[2]= FKM for H and HS versions

25 3 200 72 11 42 67 93 33
MATERIALS TABLE

Ref. Name Materials £
3PF4 3LPF4 g
001 | Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) §
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 £
004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L) g
006 | Shaft - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) E
007 | Impeller 32, 40, 50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 3
65-125/160/200 EN 1.4401 (AIS| 316) 5
011 | Mechanical seal Carbon/Ceramic/NBR | Silicon Carbide/Silicon Carbide/FKM 2
019 | Bearing (pump side) - 3
020 | Bearing (motor side) - <
025 |Plug EN 1.4401 (AISI 316) / PTFE 2
026 | O-Ring NBR [2] \ FKM 2
032 | Key EN 1.4401 (AIS| 316) 5
033 [ Key G40 g
034 | Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L) %
042 | Motor support Galvanised steel g
066 | Bracket cover Cast iron EN-GJL-250-EN 1561 3
067 | Bracket cover Cast iron EN-GJL-250-EN 1561 g
072 | Casing ring [1] not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L) 3
073 | Casing ring not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) g
089 | Seeger ring Carbon steel TC 80 2
092 | Sealring - £
093 | Sealring - 2
200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1 £
2

Japanese Technology since 1912 127 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LPF4 80-160 SERIES 4 Poles

26
66 92 89 19 3 6 20 67 93

—
liddRN %0t

[1]= EPDM for E version

o "
i "
H—] —
34 — L@
-/ —
32— |
1—
T—

78 +

25 TR K@_

76 - 1 . N T

T T T
42
200

g 235 200A
§ MATERIALS TABLE
§ Ref. Name Materials Ref. Name Materials
g 001 | Pump casing EN 1.4401 (AISI 316) 033 | Key C40
2| 003 | Motor bracket Cast iron EN-GJL-200-EN 1561 034 | Impeller nut EN 1.4404 (AISI 316L)
§ 004 | Casing cover EN 1.4404 (AISI 316L) 042 | Pump support Galvanised steel
2 006 |shatt EN 1.4404 (AISI316L) 066 | Bracket cover Cast iron EN-GJL-200-EN 1561
z Part in contact with the liquid 067 | Bracket cover Cast iron EN-GJL-200-EN 1561
g 007 | Impeller EN 1.4401 (AISI 316) 075 | Washer
2 076 [Washer EN 1.4404 (AISI 316L)
?% 011 | Mechanical seal Silicon Carbide/Silicon Carbide/FKM 077 | O-Ring
E 078 | O-Ring FKM 1]
5| 019 | Bearing (pump side) - 089 | Seeger ring Carbon steel TC 80
| 020 | Bearing (motor side) - 092 |VRing -
=1 024 |Plug EN 1.4404 (AISI 316L) 093 | VRing -
51 025 |Plug EN 1.4404 (AISI 316L) 200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1
Z| 026 [O-Ring FKM [1] 200A | Screw Stainless steel A2 70 class ISO 3506/1
; 032 | Key EN 1.4401 (AISI 316) 235 | Washer EN 1.4301(AISI 304)
g

Japanese Technology since 1912 128 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3LPF4 65-250, 80 SERIES 4 Poles
f
! T B
26
92 66 83 19 6 20 67 93
| 33
| /
34— — j|:l - 1 - —
—
R—1 ||\ @)
1_-_\.
i )
PR— ]
78
2 ——] 1 244 3
o— ]
235 200 42
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 034 | Impeller nut EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 042 | Motor support Galvanised steel
004 | Gasing cover EN 1.4401 (AISI 316) 066 | Bracket cover Cast iron EN-GJL-200-EN 1561
004A | Casing cover screw disc EN 1.4301(AISI 304) 067 | Bracket cover Cast iron EN-GJL-200-EN 1561
EN 1.4462 (duplex steel
006 | Shaft Part in contac& Wﬁh the quZJid 075 | Washer EN 1.4404 (AISI 316L)
007 | Impeller EN 1.4401 (AISI316) 076 | Washer
077 | O-Ring FKM [2]
011 | Mechanical seal Silicon Carbide/Silicon Carbide/FKM 078 | 0O-Ring
089 | Seeger ring Carbon steel TC 80
019 | Bearing (pump side) - 092 | Seal ring -
020 | Bearing (motor side) - 093 | Sealring -
024 | Plug EN 1.4404 (AISI 316L) 200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1
025 |Plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301 (AISI 304)
026 | O-Ring FKM [2] 244 | Plug [1] EN 1.4301 (AISI 304)
032 | Key EN 1.4401 (AISI 316)
033 | Key C40

[1]= Not for H and E versions
[2]= EPDM for E version

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.

Japanese Technology since 1912 129 Commercial



‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
MECHANICAL SEAL standard version MATERIALS TABLE
L Ref. Name Materials
3 SERIES 3L SERIES
Lt L2 1| Fixed part Carbon Siicon Carbide
2 Rotating part Ceramic Silicon Carbide
~ 3 | Gasket NBR FKM
| 4 | Frame + spring EN 1.4401 (AISI 316) | EN 1.4571 (AISI 316Ti)
!‘\
, Qm@
; - VT
4 3 2 1 3

@d1
#d2

8d4
#d5

’r,J

USRS
/

SPECIAL MECHANICAL SEALS 3 SERIES (On request)

Name Materials
H Version HS Version HW Version HSW Version E Version
Fixed part Carbon Silicon Carbide Tungsten Carbide Tungsten Carbide Carbon
Rotating Part Ceramic Silicon Carbide Tungsten Carbide Silicon Carbide Ceramic
Elastomers FKM FKM FKM FKM EPDM
Spring AlS| 316 AlS| 316Ti AlS| 316 AISI 316 AIS| 316Ti
Structure/Frame AlS| 316 AlS| 316Ti AlS| 316 AlS| 316 AlS| 316Ti
SPECIAL MECHANICAL SEALS 3L SERIES (On request)
Name Materials
H Version HW Version HSW Version E* Version ES** Version
Fixed part Carbon Tungsten Carbide Tungsten Carbide Carbon Carbon
Rotating Part Ceramic Tungsten Carbide Silicon Carbide Ceramic Silicon Carbide
Elastomers FKM FKM FKM EPDM EPDM
Spring AlS| 316 AIS| 316 AIS| 316 AIS| 316Ti AIS| 316Ti
Structure/Frame AISI 316 AlS| 316 AlS| 316 AlS| 316Ti AlS| 316Ti
* Not available for 3 | 80-250 SERIES 2 poles
** Available only for 3 | 80-250 SERIES 2 poles
SPECIAL MECHANICAL SEALS 3-3L SERIES (On request)
Name Materials
U3U3EGG Version U3CEGG Version Q1Q1EGG Version Q1U3EGG Version Q1AEGG Version
Fixed part Tungsten Carbide Tungsten Carbide Silicon Carbide Silicon Carbide Silicon Carbide
Rotating Part Tungsten Carbide Special carbon Silicon Carbide Tungsten Carbide Metallised carbon
Elastomers EPDM EPDM EPDM EPDM EPDM
Spring AlS| 316 AlS| 316 AlS| 316 AIS| 316 AISI 316
Structure/Frame AlSI 316 AlSI 316 AlS| 316 AlS| 316 AIS| 316
Japanese Technology since 1912 130 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
ELECTRIC DATA TABLE 3(L)M4 SERIES 4 Poles
Model Motor P P: Efficiency Efficiency(%) Absorbed Current
Three phase Three phase [A]
230/400/690V [HP] [kW]  [Three phase|Three phase n % Three phase
[kW] 50% 75% 100% 230V 400V 690V

3()M4 32-125/0.25 71 0.33 0.25 0.55 - - - - 1.9 1.1 -
3()M4 32-160/0.37R 80 05 0.37 0.8 2.6 1.5
3()M4 32-160/0.37 05 0.37 0.8 2.6 1.5
3(.)M4 32-200/0.55R 80 0.75 0.55 08 2.6 1.5
3()M4 32-200/0.55 0.75 0.55 08 - - - - 2.6 1.5
3()M4 32-200/0.75 0 1 0.75 1.4 IE2 78.4 81.6 81.9 4.6 2.7
3()M4 40-125/0.37R 71 05 0.37 0.55 - - - - 1.9 1.1
3()M4 40-125/0.37 05 0.37 0.55 1.9 1.1
3(JM4 40-160/0.55R 80 0.75 0.55 08 26 1.5
3()M4 40-160/0.55 0.75 0.55 0.8 - - - - 2.6 1.5
3()M4 40-200/1.1R 1.5 1.1 1.41 IE2 78.4 81.6 81.9 4.6 2.7
3(.)M4 40-200/1.1 0 15 1.1 1.41 IE2 784 81.6 81.9 4.6 2.7
3(JM4 40-200/1.5 2 1.5 1.88 IE2 80.3 83.4 83.8 6.2 3.6
3()M4 50-125/0.55R 80 0.75 0.55 0.8 - - - - 2.6 1.5
3(.)M4 50-125/0.55 0.75 0.55 0.8 - - - - 2.6 1.5
3(.)M4 50-160/1.1R 15 1.1 1.41 IE2 78.4 81.6 81.9 4.6 2.7
3()M4 50-160/1.1 90 1.5 1.1 1.41 IE2 78.4 81.6 81.9 4.6 2.7
3()M4 50-200/1.5R 2 1.5 1.88 IE2 80.3 83.4 83.8 6.2 3.6
3()M4 50-200/1.5 2 1.5 1.88 IE2 80.3 83.4 83.8 6.2 36
3(JM4 50-200/2.2 100 3 2.2 2.70 IE2 84.6 86.0 85.6 8.1 47
3()M4 65-125/0.55 80 0.75 0.55 038 - - - - 2.6 1.5
3()M4 65-125/0.75 1 0.75 1.41 IE2 78.4 81.6 81.9 46 2.7
3()M4 65-125/1.1 %0 1.5 1.1 1.41 IE2 784 81.6 81.9 4.6 2.7
3(JM4 65-160/1.1 1.5 1.1 1.41 IE2 78.4 81.6 81.9 46 2.7
3()M4 65-160/1.5 2 1.5 1.88 IE2 80.3 83.4 83.8 6.2 3.6
3()M4 65-160/2.2 3 2.2 2.70 IE2 84.6 86.0 85.6 8.1 4.7
3(JM4 65-200/2.2R 100 3 2.2 2.70 IE2 84.6 86.0 85.6 8.1 47
3()M4 65-200/2.2 3 2.2 2.70 IE2 84.6 86.0 85.6 8.1 4.7
3()M4 65-200/3 4 3 3.54 IE2 81.6 86.1 89.0 11.8 6.8
3LM4 65-250/4 112 55 4 4.75 IE2 87.6 89.0 88.5 14.9 8.6 -
3LM4 65-250/5.5 132 7.5 55 6.52 IE2 74.7 81.9 88.6 - 11.3 6.6
3LM4 80-160/1.5 90 2 1.5 1.88 IE2 80.3 83.4 83.8 6.2 3.6 -
3LM4 80-160/2.2R 3 2.2 2.70 IE2 84.6 86.0 85.6 8.1 4.7
3LM4 80-160/2.2 100 3 2.2 2.70 IE2 84.6 86.0 85.6 8.1 4.7
3LM4 80-200/3 4 3 3.54 IE2 81.6 86.1 89.0 11.8 6.8
3LM4 80-200/4R 112 55 4 4.75 IE2 87.6 89.0 88.5 14.9 8.6
3LM4 80-200/4 112 55 4 4.75 IE2 87.6 89.0 88.5 14.9 8.6 -
3LM4 80-250/5.5R 130 75 55 6.52 IE2 74.7 81.9 88.6 - 11.3 6.6
3LM4 80-250/5.5 75 55 6.52 IE2 74.7 81.9 88.6 - 11.3 6.6
3LM4 80-250/7.5 132M 10 75 8.27 IE3 89.8 90.9 90.4 - 15.3 8.8

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.

Japanese Technology since 1912 131 Commercial



‘901j0u Joud Jnouym Jusjuoo ay) abueyp 0} 1ybu au) sanesal yd'g adoing sduwind i3 “AIojepuBw PaJepISUOD g Jou PINoYs UoIeIGNd SIU} JO 1UBJUD 8U|

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
ELECTRIC DATA TABLE 3(L)S4 - 3(L)P4 SERIES 4 Poles
Model Motor P: Efficiency P: Efficiency (%) Absorbed Current
Three phase Three phase Three phase
230/400/690V 230/400/690V [HP] [kW] | Three phase [kW] n % Three phase
50% 75% 100%. 230V 400V 690V
3(.)54 32-125/0.25 | 3(.)P4 32-125/0.25 0.25 0.33 0.41 55.0 59.0 64.0 1.6 0.9 -
3()S4 32-160/0.37R | 3()P4 32-160/0.37R 7 0.37 05 0.56 60.0 63.0 67.0 2.1 1.2
3(.)54 32-160/0.37 | 3(.)P4 32-160/0.37 0.37 05 0.56 60.0 63.0 67.0 2.1 1.2
3()S4 32-200/0.55R | 3(.)P4 32-200/0.55R 0.55 0.75 0.80 67.0 69.0 70.0 2.8 1.6
3(.)S4 32-200/0.55 | 3(.)P4 32-200/0.55 80 0.55 0.75 - 0.80 67.0 69.0 70.0 2.8 1.6
IE2 0.95 79.2 80.3 80.2 3.1 1.8
3()S4 32-200/0.75 | 3(.)P4 32-200/0.75 0.75 1 I3 0.90 807 815 85 3 8
3(.)54 40-125/0.37R | 3()P4 40-125/0.37R 71 037 05 - 0.56 60.0 63.0 67.0 2.1 1.2
3()54 40-125/0.37 | 3()P4 40-125/0.37 ' ' - 0.56 60.0 63.0 67.0 2.1 1.2
3(.)S4 40-160/0.55R | 3(.)P4 40-160/0.55R 80 0.55 0.75 - 0.80 67.0 69.0 70.0 2.8 1.6
3()S4 40-160/0.55 | 3()P4 40-160/0.55 ' ' - 0.80 67.0 69.0 70.0 2.8 1.6
IE2 1.33 81.4 82.7 82.5 4.3 25
3()S4 40-200/1.1R | 3()P4 40-200/1.1R 005 1.1 1.5 E3 130 833 843 841 43 55
E2 1.33 81.4 82.7 82.5 4.3 25
3(.)S4 40-200/1.1 3(.)P4 40-200/1.1 1.1 1.5 E3 130 833 843 841 43 55
E 1.81 82.0 83.5 83.0 5.9 34
3()S4 40-200/1.5 | 3()P4 40-200/1.5 9oL 15 2 E 180 841 ) 853 6.0 35
3(.)S4 50-125/0.55R | 3(.)P4 50-125/0.55R 80 0.55 0.75 0.80 67.0 69.0 70.0 2.8 1.6
3(.)S4 50-125/0.55 | 3()P4 50-125/0.55 0.55 0.75 - 0.80 67.0 69.0 70.0 2.8 1.6
IE2 1.33 81.4 82.7 82.5 4.3 25
3()S4 50-160/1.1R | 3()P4 50-160/1.1R %05 1.1 1.5 E3 130 833 843 841 43 55
E2 1.33 81.4 82.7 82.5 4.3 25
3(.)S4 50-160/1.1 3(.)P4 50-160/1.1 1.1 15 E3 130 833 843 841 43 55
IE2 1.81 82.0 83.5 83.0 5.9 34
3(.)S4 50-200/1.5R | 3(.)P4 50-200/1.5R - 1.5 2 3 180 841 850 853 6.2 35
E 1.81 82.0 83.5 83.0 5.9 34
3()S4 50-200/1.5 | 3()P4 50-200/1.5 1.5 2 = 180 841 859 853 6.2 35
E 2.61 84.0 85.3 85.1 8.8 5.1
3()54 50-200/2.2 | 3(.)P4 50-200/2.2 100L 2.2 3 E3 553 830 86.0 86.7 10.0 59
3()S4 656-125/0.55 | 3()P4 65-125/0.55 0.55 0.75 8 SO 65 (2) gg(s) ggg %? 1 g
80 E .95 7 . . . 1.
3()S4 65-125/0.75 | 3()P4 65-125/0.75 0.75 1 = 0.92 807 815 805 31 8
E 1.33 81.4 82.7 82.5 4.3 25
3()S4 65-125/1.1 3(.)P4 65-125/1.1 %05 1.1 1.5 = 730 833 843 841 43 55
E2 1.33 81.4 82.7 82.5 4.3 2.5
3()S4 65-160/1.1 3()P4 65-160/1.1 11 15 5 130 833 843 841 43 55
IE2 1.81 82.0 83.5 83.0 5.9 34
3()S4 65-160/1.5 | 3()P4 65-160/1.5 90L 15 2 I3 180 841 85 853 6.2 36
IE2 2.61 84.0 85.3 85.1 8.8 5.1
3()S4 65-160/2.2 | 3()P4 65-160/2.2 2.2 3 I3 553 839 860 867 100 59
IE2 2.61 84.0 85.3 85.1 8.8 5.1 -
3()S4 65-200/2.2R | 3(.)P4 65-200/2.2R oL 2.2 3 E 553 832 860 86.7 100 59 -
E 2.061 84.0 86.3 85.1 8.8 5.1 -
3()S4 65-200/2.2 | 3(.)P4 65-200/2.2 2.2 3 E 558 830 860 867 100 59 -
IE2 3.47 85.3 86.6 86.4 11.3 6.5 -
3(.)S4 65-200/3 3(.)P4 65-200/3 3 4 E3 344 851 871 877 118 6.3 .
E 4.59 86.0 87.3 87.1 14.7 8.5 -
3154 65-250/4 3LP4 65-250/4 112M 4 55 E 454 870 883 886 147 82 .
E 6.29 87.5 88.3 88.1 - 10.8 6.2
3L54 65-250/5.5 3LP4 65-250/5.5 132S 55 75 E3 617 898 90.2 896 - 106 6.1
IE2 1.81 82.0 83.5 83.0 5.9 3.4 -
3154 80-160/1.5 3LP4 80-160/1.5 90L 1.5 2 IE3 180 841 85.2 853 62 36
IE2 2.61 84.0 85.3 85.1 8.8 5.1
3154 80-160/2.2R | 3LP4 80-160/2.2R 2.2 3 3 558 8390 86.0 867 100 59 -
E 2.61 84.0 85.3 85.1 8.8 5.1 -
3154 80-160/2.2 3LP4 80-160/2.2 100 L 2.2 3 E 558 839 86.0 867 102 59 -
E 3.47 85.3 86.6 86.4 11.3 6.5 -
3154 80-200/3 3LP4 80-200/3 3 4 3 344 851 871 877 118 68 -
IE2 4.59 86.0 87.3 87.1 14.7 85 -
3LS4 80-200/4R 3LP4 80-200/4R . 4 55 ES 454 870 883 886 147 82 -
2 4.59 86.0 87.3 87.1 14.7 85 -
3LS4 80-200/4 3LP4 80-200/4 4 55 E3 454 870 883 886 147 82 -
IE2 6.29 87.5 88.3 88.1 - 10.8 6.2
3154 80-250/5.5R | 3LP4 80-250/5.5R - 55 75 E3 617 898 902 896 106 6.1
IE2 6.29 87.5 88.3 88.1 10.8 6.2
3LS4 80-250/5.5 3LP4 80-250/5.5 55 75 3 617 898 902 896 106 6.1
3154 80-250/7.5 3LP4 80-250/7.5 132M 75 10 IE3 8.27 89.8 90.9 90.4 15.3 8.8
Japanese Technology since 1912 132 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
NOISE DATA TABLE 4 Poles
Model L,. - dB(A)* Model L,. - dB(A)*
Single phase Single phase Three phase
230V [HP] [kW] 230V 230/400/690V [HP] [kW]

3(LM4 32-125/0.25 0.33 0.25 3(L)S4 32-125/0.25 | 3(L)P4 32-125/0.25 0.33 0.25

3(M4 32-160/0.37R 0.5 0.37 3(L)S4 32-160/0.37R | 3(L)P4 32-160/0.37R 0.5 0.37

3(LM4 32-160/0.37 0.5 0.37 <70 3(L)S4 32-160/0.37 | 3(L)P4 32-160/0.37 0.5 0.37 <70

3(LM4 32-200/0.55R 0.75 0.55 3(L)S4 32-200/0.55R | 3(L)P4 32-200/0.55R 0.75 0.55

3(LM4 32-200/0.55 0.75 0.55 3(L)S4 32-200/0.55 | 3(L)P4 32-200/0.55 0.75 0.55

3(LM4 32-200/0.75 1 0.75 3(L)S4 32-200/0.75 | 3(L)P4 32-200/0.75 1 0.75

3(LM4 40-125/0.37R 0.5 0.37 3(L)S4 40-125/0.37R | 3(L)P4 40-125/0.37R 0.5 0.37

3(L)M4 40-125/0.37 05 0.37 3(L)S4 40-125/0.37 | 3(L)P4 40-125/0.37 05 0.37

3(LM4 40-160/0.55R 0.75 0.55 3(L)S4 40-160/0.55R | 3(L)P4 40-160/0.55R 0.75 0.55

3(LM4 40-160/0.55 0.75 0.55 <70 3(L)S4 40-160/0.55 | 3(L)P4 40-160/0.55 0.75 0.55 <70

3(LM4 40-200/1.1R 1.5 1.1 3(L)S4 40-200/1.1R | 3(L)P4 40-200/1.1R 1.5 1.1

3(LM4 40-200/1.1 1.5 1.1 3(L)S4 40-200/1.1 3(L)P4 40-200/1.1 1.5 1.1

3(UM4 40-200/1.5 2 1.5 3(L)S4 40-200/1.5 3(L)P4 40-200/1.5 2 1.5

3(LM4 50-125/0.55R 0.75 0.55 3(L)S4 50-125/0.55R | 3(L)P4 50-125/0.55R 0.75 0.55

3(L)M4 50-125/0.55 0.75 0.55 3(L)S4 50-125/0.55 | 3(L)P4 50-125/0.55 0.75 0.55

3(LM4 50-160/1.1R 1.5 1.1 3(L)S4 50-160/1.1R | 3(L)P4 50-160/1.1R 1.5 1.1

3(LM4 50-160/1.1 1.5 1.1 <70 3(L)S4 50-160/1.1 3(L)P4 50-160/1.1 1.5 1.1 <70

3(L)M4 50-200/1.5R 2 1.5 3(L)S4 50-200/1.5R | 3(L)P4 50-200/1.5R 2 1.5

3(LM4 50-200/1.5 2 1.5 3(L)S4 50-200/1.5 3(L)P4 50-200/1.5 2 1.5

3(LM4 50-200/2.2 3 2.2 3(L)S4 50-200/2.2 3(L)P4 50-200/2.2 3 2.2

3(LM4 65-125/0.55 0.75 0.55 3(L)S4 65-125/0.55 | 3(L)P4 65-125/0.55 0.75 0.55

3(LM4 65-125/0.75 1 0.75 3(L)S4 65-125/0.75 | 3(L)P4 65-125/0.75 1 0.75

3(LM4 65-125/1.1 1.5 1.1 3(L)S4 65-125/1.1 3(L)P4 65-125/1.1 1.5 1.1

3(LM4 65-160/1.1 1.5 1.1 3(L)S4 65-160/1.1 3(L)P4 65-160/1.1 1.5 1.1

3(LM4 65-160/1.5 2 1.5 <70 3(L)S4 65-160/1.5 3(L)P4 65-160/1.5 2 1.5

3(LM4 65-160/2.2 3 2.2 3(L)S4 65-160/2.2 3(L)P4 65-160/2.2 3 2.2 <70

3(LM4 65-200/2.2R 3 2.2 3(L)S4 65-200/2.2R | 3(L)P4 65-200/2.2R 3 2.2

3(LM4 65-200/2.2 3 2.2 3(L)S4 65-200/2.2 3(L)P4 65-200/2.2 3 2.2

3(LM4 65-200/3 4 3 3(L)S4 65-200/3 3(L)P4 65-200/3 4 3

3LM4 65-250/4 55 4 3154 65-250/4 3LP4 65-250/4 55 4

3LM4 65-250/5.5 7.5 5.5 7 3LS4 65-250/5.5 3LP4 65-250/5.5 7.5 5.5

3LM4 80-160/1.5 2 1.5 3154 80-160/1.5 3LP4 80-160/1.5 2 1.5

3LM4 80-160/2.2R 3 2.2 3154 80-160/2.2R 3LP4 80-160/2.2R 3 2.2

3LM4 80-160/2.2 3 2.2 <70 3LS4 80-160/2.2 3LP4 80-160/2.2 3 2.2

3LM4 80-200/3 4 3 3154 80-200/3 3LP4 80-200/3 4 3

3LM4 80-200/4R 55 4 3LS4 80-200/4R 3LP4 80-200/4R 55 4 <70

3LM4 80-200/4 55 4 3LS4 80-200/4 3LP4 80-200/4 55 4 8

3LM4 80-250/5.5R 7.5 55 71 3154 80-250/5.5R 3LP4 80-250/5.5R 7.5 55 g

3LM4 80-250/5.5 75 55 3LS4 80-250/5.5 3LP4 80-250/5.5 75 55 g

3LM4 80-250/7.5 10 7.5 <70 3LS4 80-250/7.5 3LP4 80-250/7.5 10 7.5 E

* Mean value of several measurements at 1 m distance around the pump. * Mean value of several measurements at 1 m distance around the pump. g

Tolerance + 2.5 dB. Tolerance + 2.5 dB. ‘é
s
8
£

Japanese Technology since 1912 133 Commercial





